2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

AFIIMES O LB FE B

METRIC MALE O-RING

L
A B
L - - - w
S1
1E

® = ¥ 4 THREAD Of4E O-RING R ~F DIMENSIONS
PART NO. E F Eifs Fifs A B L S1

1E-12 M12X1.25 M12X1.25 8X1.9 8X1.9 11 11 28 14

1E-14 M14X1.5 M14X1.5 10X1.9 10X1.9 11 11 28 17

1E-16 M16X1.5 M16X1.5 11X1.9 11X1.9 11 11 28 17

1E-18 M18X1.5 M18X1.5 13X1.9 13X1.9 11 11 28 19

1E-22 M22X1.5 M22X1.5 16X2.4 16X2.4 12 12 32 24

1E-27 M27X1.5 M27X1.5 20X2.4 20X2.4 13 13 36 30

1E-30 M30X1.5 M30X1.5 24X2.4 24X2.4 14 14 39 32

1E-36 M36X2 M36X2 30X3.1 30X3.1 16 16 43 38

1E-39 M39X2 M39X2 32X3.1 32X3.1 18 18 49 41

1E-42 M42X2 M42X2 35X3.1 35X3.1 20 20 53 46

1E-45 M45X2 M45X2 38X3.1 38X3.1 21 21 55 46

1E-52 M52X2 M52X2 40X3.1 40X3.1 22 22 59 55

1E-60 MB0X2 MB0X2 45X3.1 45X3.1 24 24 65 65

1E-64 MB4X2 MB4X2 50X3.1 50X3.1 27 27 71 70

iE: O MBS HAIMESLE, Note: The parameter of O-Ring is ring outside diameter and ring width.



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

90°AHIMREY O B FE =

90° METRIC MALE O-RING

F
|

_ 2
wl N |

A
1E9
K= #2 4 THREAD O #F O-RING R <t DIMENSIONS
PART NO. E. F E. Fi% A B St
1E9-12 M12X1.25 8X1.9 20.5 205 12
1E9-14 M14X1.5 10X1.9 225 225 14
1E9-16 M16X1.5 11X1.9 24 24 17
1E9-18 M18X1.5 13X1.9 26 26 19
1E9-22 M22X1.5 16X2.4 29 29 22
1E9-27 M27X1.5 20X2.4 325 32,5 27
1E9-30 M30X1.5 24X2.4 35.5 355 30
1E9-36 M36X2 30X3.1 42 42 36
1E9-39 M39X2 32X3.1 475 475 41
1E9-42 M42X2 35X3.1 495 495 41
1E9-45 M45X2 38X3.1 525 525 46
1E9-52 M52X2 40X3.1 57 57 50

iE: O MESHAIIMESLE,

Note: The parameter of O-Ring is ring outside diameter and ring width.



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

2FMRE OFZE / HEFMBLO FE

METRIC MALE O-RING/BSP MALE O-RING

- L
1EG
® 2 12 4 THREAD OF.E O-RING R st DIMENSIONS
PART NO. E F E uf F A B L St
1EG-14-06 M14X1.5 G3/8"X19 10X1.9 13.94X2.62 11 11.5 33 22
1EG-16-06 M16X1.5 G3/8"X19 11X1.9 13.94X2.62 11 11.5 33 22
1EG-18-06 M18X1.5 G3/8"X19 13X1.9 13.94X2.62 11 11.5 30.5 22
1EG-22-06 M22X1.5 G3/8"X19 16X2.4 13.94X2.62 12 11.5 31.5 24
1EG-22-08 M22X1.5 G1/2"X14 16X2.4 17.12X2.62 12 14 38 27
1EG-27-06 M27X1.5 G3/8"X19 20X2.4 13.94X2.62 13 11.5 37 30
1EG-30-06 M30X1.5 G3/8"X19 24X2.4 13.94X2.62 14 11.5 39 32
1EG-30-12 M30X1.5 G3/4"X14 24X2.4 28.47X2.62 14 585 43.5 32
1EG-36-06 M36X2 G3/8"X19 30X3.1 13.94X2.62 16 11.5 43 38
1EG-36-16 M36X2 G1"X11 30X3.1 29.7X3.53 16 18 50 41
1EG-39-06 M39X2 G3/8"X19 32X3.1 13.94X2.62 18 11.5 45 41
1EG-45-06 M45X2 G3/8"X19 38X3.1 13.94X2.62 21 11.5 48 46
1EG-45-20 M45X2 G1.1/4"X11 38X3.1 37.69X3.53 21 20 59 50
1EG-52-06 M52X2 G3/8"X19 40X3.1 13.94X2.62 22 11.5 51 55)
1EG-52-24 M52X2 G1.1/2"X11 40X3.1 44.04X3.53 22 215 61.5 55
1EG-60-06 M60X2 G3/8"X19 45X3.1 13.94X2.62 24 11.5 55 65

iE: E ik ORESHAMESLE,

Note: The parameter of E end O-Ring is ring outside diameter and ring width.

‘E
w



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIMEN ORZEEE B /2HIJMBE 1SO 6149-2

METRIC MALE O-RING/ METIRC MALE 1SO 6149-2

1EH
g ¥ 40 THREAD O & O-RING R st DIMENSIONS

PART NO. E F Eifi Fi A B L S1
1EH-12-10 M12X1.25 M10X1 8X1.9 008.1X1.6 11 8.5 265 14
1EH-14-12 M14X1.5 M12X1.5 10X1.9 009.3X2.4 11 11 29.5 17
1EH-16-14 M16X1.5 M14X1.5 11X1.9 011.3X2.4 11 11 29.5 19
1EH-18-16 M18X1.5 M16X1.5 13X1.9 013.3X2.4 11 11.5 31.5 22
1EH-22-18 M22X1.5 M18X1.5 16X2.4 015.3X2.4 12 12.5 34.5 24
1EH-27-22 M27X1.5 M22X1.5 20X2.4 019.3X2.4 13 15 38 30
1EH-30-27 M30X1.5 M27X2 24X2.4 023.5X3.0 14 18.5 435 32
1EH-36-33 M36X2 M33X2 30X3.1 029.2X3.0 16 18.5 475 41
1EH-39-33 M39X2 M33X2 32X3.1 029.2X3.0 18 18.5 495 41

1EH-42 M42X2 M42X2 35X3.1 038.5X3.0 20 19 54 50
1EH-45-42 M45X2 M42X2 38X3.1 038.5X3.0 20 19 54 50
1EH-52-48 M52X2 M48X2 40X3.1 044.5X3.0 22 215 58.5 55

7. 1 Eif OBSHAIMEELR, 2 Fis51S0 99741 sl OMAE, HHHE SISO 6149-1 il OMEE,

Note:1 The parameters of E end O-Ring are ring outside diameter and ring width. 2 F end is connected with ISO 99741 port and connected
with 1ISO 6149-1 port without retaining ring.



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

45°2 MBS O LB EFEE / AHIMREATiF LR 1SO 6149-2

45°METRIC MALE O-RING / METIRC MALE ADJUSTABLE STUD END ISO 6149-2

A
S2
,//
/
1 .
wl_\ Q
[ 7
A |81
1EH4-0G
=] #2 47 THREAD OB O-RING R ~F DIMENSIONS
PART NO. E F Eifs Fi A B S1 S2
1EH4-12-100G M12X1.25 M10X1 8X1.9 008.1X1.6 18 25.5 12 14
1EH4-14-120G M14X1.5 M12X1.5 10X1.9 009.3X2.4 19.5 30 14 17
1EH4-16-140G M16X1.5 M14X1.5 11X1.9 011.3X2.4 20 30.5 17 19
1EH4-18-160G M18X1.5 M16X1.5 13X1.9 013.3X2.4 215 34 19 22
1EH4-22-180G M22X1.5 M18X1.5 16X2.4 015.3X2.4 23 38 22 24
1EH4-27-220G M27X1.5 M22X1.5 20X2.4 019.3X2.4 245 405 27 27
1EH4-30-270G M30X1.5 M27X2 24X2.4 023.5X3.0 26 48 30 32
1EH4-36-330G M36X2 M33X2 30X3.1 029.2X3.0 30.5 495 36 41
1EH4-39-330G M39X2 M33X2 32X3.1 029.2X3.0 36 52 41 41
1EH4-420G M42X2 M42X2 35X3.1 038.5X3.0 38 53 41 50
1EH4-45-420G M45X2 M42X2 38X3.1 038.5X3.0 39 54 46 50
1EH4-52-480G M52X2 M48X2 40X3.1 044.5X3.0 42 58.5 50 55

iE: 1 Eih OBSEAIIMEELRE, 2 FiRn5I1SO 9974-1 i OAHEE, XEHEN 5ISO 6149-1 il O4EAL,

Note:1 The parameters of E end O-Ring are ring outside diameter and ring width.2 F end is connected with ISO 99741 port and connected
with 1ISO 6149-1 port without retaining ring.

‘E
(&)



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

90° 2 FIFMEN O B FEEE /AFIIMEN TR MR SO 6149-2

90°METRIC MALE O-RING/ METIRC MALE ADJUSTABLE STUD END ISO 6149-2

_F

L
1EH9-0G
= ¥ 47  THREAD O P O-RING R < DIMENSIONS

PART NO. E F Eifs Fis A B St S2
1EH9-12-100G M12X1.25 M10X1 8X1.9 008.1X1.6 20.5 28.5 12 14
1EH9-14-120G M14X1.5 M12X1.5 10X1.9 009.3X2.4 22,5 33.2 14 17
1EH9-16-140G M16X1.5 M14X1.5 11X1.9 011.3X2.4 24 36 17 19
1EH9-18-160G M18X1.5 M16X1.5 13X1.9 013.3X2.4 26 39 19 22
1EH9-22-180G M22X1.5 M18X1.5 16X2.4 015.3X2.4 29 44 22 24
1EH9-27-220G M27X1.5 M22X1.5 20X2.4 019.3X2.4 32,5 48 27 27
1EH9-30-270G M30X1.5 M27X2 24X2.4 023.5X3.0 35.5 57 30 32
1EH9-36-330G M36X2 M33X2 30X3.1 029.2X3.0 42 60.5 36 4
1EH9-39-330G M39X2 M33X2 32X3.1 029.2X3.0 47.5 64 41 4
1EH9-42-420G M42x2 M42x2 35X3.1 038.5X3.0 49.5 65 41 50
1EH9-45-420G M45X2 M42x2 38X3.1 038.5X3.0 52.5 67.5 46 50
1EH9-52-480G M52X2 M48x2 40X3.1 044.5X3.0 57 73.5 50 55

7 1 Eif OBSEAMEELRR, 2 Fis51S0 99741 st O4AE, HHHEN S 1SO 6149-1 jH O4EAL,

Note:1 The parameters of E end O-Ring are ring outside diameter and ring width.2 F end is connected with ISO 9974-1 port and connected
with 1ISO 6149-1 port without retaining ring.



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIMENO REFEEL /2AHIMRA S ERE

METRIC MALE O-RING/METRIC MALE WITH BONDED SEAL

S1
1EL
K= #2 4 THREAD ZHE SEAL R =+ DIMENSIONS

PART NO. E F Ei Fi# A B L S1
1EL-14 M14X1.5 M14X1.5 10X1.9 ZHD-14 11 12 30.5 19
1EL-14-16 M14X1.5 M16X1.5 10X1.9 ZHD-16 11 12 31 22
1EL-14-18 M14X1.5 M18X1.5 10X1.9 ZHD-18 11 12 32,5 24
1EL-14-22 M14X1.5 M22X1.5 10X1.9 ZHD-22 11 14 36.5 27
1EL-16-14 M16X1.5 M14X1.5 11X1.9 ZHD-14 11 12 29 19
1EL-16-18 M16X1.5 M18X1.5 11X1.9 ZHD-16 11 12 31 24
1EL-22-18 M22X1.5 M18X1.5 16X2.4 ZHD-18 12 12 33.5 24
1EL-27-22 M27X1.5 M22X1.5 18X2.4 ZHD-22 13 14 38.5 30
1EL-27-33 M27X1.5 M33X2 18X2.4 ZHD-33 13 18 44 4
1EL-30-18 M30X1.5 M18X1.5 24X2.4 ZHD-18 14 12 38.5 32
1EL-30-27 M30X1.5 M27X2 24X2.4 ZHD-27 14 16 4 34
1EL-36-33 M36X2 M33X2 30X3.1 ZHD-33 16 18 49 41
1EL-36-48 M36X2 M48X2 30X3.1 ZHD-48 16 22 53 60
1EL-45-42 M45X2 M42X2 38X3.1 ZHD-42 21 20 56 50
1EL-52-48 M52X2 M48X2 40X3.1 ZHD-48 22 22 61 60

iE: Eih O REISH AIMEELRE, FinAAGREH,

Note: The parameter of E end O-Ring is ring outside diameter and ring width. F end is sealed with bonded seal.

‘E
~



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIMRNO REFEEL /HEIMRN

METRIC MALE O-RING/NPT MALE

L

L
1EN
R E #2 4 THREAD OF.E O-RING R ~F DIMENSIONS
PART NO. E F E uf A B L St
1EN-14-04 M14X1.5 Z1/4 *X18 10X1.9 11 15 31 17
1EN-14-06 M14X1.5 Z3/8 “X18 10X1.9 11 16 33 19
1EN-16-04 M16X1.5 Z1/4” X18 11X1.9 11 15 32 17
1EN-16-06 M16X1.5 Z3/8 “X18 11X1.9 11 16 33 19
1EN-16-08 M16X1.5 Z1/2 “X14 11X1.9 11 19.5 38.5 22
1EN-18-06 M18X1.5 Z3/8 “X18 13X1.9 11 16 33 19
1EN-18-08 M18X1.5 Z1/2 *X14 13X1.9 11 19.5 38.5 22
1EN-22-08 M22X1.5 Z1/2 *X14 16X2.4 12 19.5 39.5 24
1EN-22-12 M22X1.5 Z3/4"X14 16X2.4 12 19.5 41.5 27
1EN-27-08 M27X1.5 Z1/2 *X14 20X2.4 13 19.5 42.5 30
1EN-27-12 M27X1.5 Z3/4"X14 20X2.4 13 19.5 425 30
1EN-30-12 M30X1.5 Z3/4"X14 24X2.4 14 19.5 44.5 32
1EN-36-12 M36X2 Z3/4"X14 30X3.1 16 19.5 46.5 38
1EN-36-16 M36X2 Z1"X11.5 30X3.1 16 25.5 52.5 38
1EN-39-16 M39X2 Z1"X11.5 32X3.1 18 255 56.5 41
1EN-39-20 M39X2 Z1.1/4"X11.5 32X3.1 18 26.5 57.5 46
1EN-42-16 M42X2 Z1"X11.5 35X3.1 20 255 58.5 46
1EN-42-20 M42X2 Z1.1/4"X11.5 35X3.1 20 26.5 59.5 46
1EN-45-20 M45X2 Z1.1/4"X11.5 38X3.1 21 26.5 60.5 46
1EN-52-20 M52X2 Z1.1/4"X11.5 40X3.1 22 26.5 63.5 55
1EN-60-24 M60X2 Z1.1/2"X11.5 45X3.1 24 27.5 68.5 65

iE: E RO HESHAMEELRE,

Note: The parameter of E end O-Ring is ring outside diameter and ring width.



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

2FIMRN0 FEFEEZE /EHIIMEE1S0 11926-2, SAEJ)1926/2

METRIC MALE O-RING/MALE I1SO 11926-2, SAE J1926/2

L
A ] I B
L L
S1
1EO
® = 12 4 THREAD O#2F8 O-RING R s DIMENSIONS
PART NO. E F Euf Fif A B L S
1EO-16-05 M16X1.5 1/2"X20 11X1.9 10.52X1.83 11 11 28 17
1EO-18-04 M18X1.5 7/16"X20 13X1.9 8.92X1.83 11 11 28 19
1EO-18-08 M18X1.5 3/4"X16 13X1.9 16.36X2.21 11 14 33 22
1EO0-22-20 M22X1.5 1.5/8"X12 16X2.4 37.46X3.00 12 18.5 45.5 50
1EO-24-10 M24X1.5 7/8"X14 18X2.4 19.18X2.46 12 16 39 27
1EO-36-12 M36X2 1.1/16"X12 30X3.1 23.47X2.95 16 18.5 47.5 38
1EO-39-20 M39X2 1.5/8"X12 32X3.1 37.46X3.00 18 18.5 51.5 50
1EO-52-20 M52X2 1.5/8"X12 40X3.1 37.46X3.00 22 18.5 55.5 55
1EO-52-24 M52X2 1.7/8"X12 40X3.1 43.69X3.00 22 18.5 55.5 55

iE: Eih O REISHAIMEELE,
Note: The parameter of E end O-Ring is ring outside diameter and ring width.



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIMRNO FEFEEL /R EIMRN

METRIC MALE O-RING/BSPT MALE

L

L
1ET-SP
K= #2 47 THREAD Of B O-RING R ~f DIMENSIONS

PART NO. E F Eif A B L S1
1ET-14-04SP M14X1.5 R1/4"X19 10X1.9 11 14.5 31.5 14
1ET-14-06SP M14X1.5 R3/8"X19 10X1.9 11 15 32 17
1ET-16-04SP M16X1.5 R1/4"X19 11X1.9 11 14.5 31.5 17
1ET-16-06SP M16X1.5 R3/8"X19 11X1.9 11 15 32 17
1ET-18-06SP M18X1.5 R3/8"X19 13X1.9 11 15 32 19
1ET-18-08SP M18X1.5 R1/2"X14 13X1.9 11 20 37 22
1ET-22-08SP M22X1.5 R1/2"X14 16X2.4 12 20 40 24
1ET-22-12SP M22X1.5 R3/4"X14 16X2.4 12 20 40 27
1ET-27-08SP M27X1.5 R1/2"X14 20X2.4 13 20 43 30
1ET-27-12SP M27X1.5 R3/4"X14 20X2.4 13 20 43 30
1ET-30-12SP M30X1.5 R3/4"X14 24X2.4 14 20 45 32
1ET-36-12SP M36X2 R3/4"X14 30X3.1 16 20 47 38
1ET-36-16SP M36X2 R1"X11 30X3.1 16 255 52.5 38
1ET-39-16SP M39X2 R1"X11 32X3.1 18 25.5 56.5 41
1ET-39-20SP M39X2 R1.1/4"X11 32X3.1 18 26.5 57.5 46
1ET-42-20SP M42X2 R1.1/4"X11 35X3.1 20 26.5 59.5 46
1ET-45-20SP M45X2 R1.1/4"X11 38X3.1 21 26.5 60.5 46
1ET-52-24SP M52X2 R1.1/2"X11 40X3.1 22 26.5 63.5 55

iE: E RO MESHAMEELE

Note: The parameter of E end O-Ring is ring outside diameter and ring width.



2 E Sk

Metric Adaptor

90° ERHIEN O KEFEmZHH

90° ELBOW METRIC O-RING

. 82

£ &b i Jx

XINDU HYDRAULIC

2E9
= # 4 THREAD O #E O-RING R <+ DIMENSIONS
PART NO. ENIG Eif A S1 S2
2E9-12 M12X1.25 8X1.9 20.5 8 12 17
2E9-14 M14X1.5 10X1.9 22,5 8.5 14 19
2E9-16 M16X1.5 11X1.9 24 8.5 17 22
2E9-18 M18X1.5 13X1.9 26 8.5 19 24
2E9-22 M22X1.5 16X2.4 29 10 22 27
2E9-27 M27X1.5 20X2.4 32,5 10 27 32
2E9-30 M30X1.5 24X2.4 35.5 11 30 36
2E9-36 M36X2 30X3.1 42 13 36 4
2E9-39 M39X2 32X3.1 47.5 13 4 46
2E9-42 M42X2 35X3.1 49.5 15 41 50
2E9-45 M45X2 38X3.1 52.5 15 46 55
2E9-52 M52X2 40X3.1 57 17 50 60

iE: O MESHAIMESLE,

Note: The parameter of O-ring is ring outside diameter and ring width.

RIS/ 2FIRBY OB FEmEH,

BUTT-WELD TUBE/METRIC FEMALE O-RING

A

=] 1247 THREAD EFHER R =t DIMENSIONS
PART NO. E TUBE O.D. D s2
2WE-06-12 M12X1.25 6 8 6 14
2WE-08-14 M14X1.5 8 8.5 8 17
2WE-10-16 M16X1.5 10 8.5 10 19
2WE-12-18 M18X1.5 12 8.5 12 22
2WE-14-22 M22X1.5 14 10 14 27
2WE-18-27 M27X1.5 18 10 18 32
2WE-22-30 M30X1.5 22 11 22 36
2WE-28-36 M36X2 28 13 28 41
2WE-30-39 M39X2 30 13 30 46
2WE-34-42 M42X2 34 15 34 50
2WE-38-45 M45X2 38 15 38 55
2WE-42-52 M52X2 42 17 42 60
2WE-50-60 M60X2 50 20 50 70
2WE-52-64 M64X2 52 23 52 75




2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIMRN O R B FHEHE sk

METRIC MALE O-RING PLUG

L
A
”4
L
\ S1
4E

® = i 40 THREAD O O-RING R~ DIMENSIONS

PART NO. E Eis A . o
4E-14 M14X1.5 10X1.9 11 17 17
4E-16 M16X1.5 11X1.9 11 17 17
4E-18 M18X1.5 13X1.9 11 17 19
4E-22 M22X1.5 16X2.4 12 20 24
4E-27 M27X1.5 20X2.4 13 23 30
4E-30 M30X1.5 24X2.4 14 25 32
4E-36 M36X2 30X3.1 16 29 38
4E-39 M39X2 32X3.1 18 31 41
4E-42 M42X2 35X3.1 20 33 46
4E-45 M45X2 38X3.1 21 34 46
4E-52 M52X2 40X3.1 22 37 55
4E-60 M60X2 45X3.1 24 4 65

it: O BESHAIIMESLE,
Note: The parameter of O-Ring is ring outside diameter and ring width.

D12



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIMEN O KB FEEH IRIEL

METRIC MALE O-RING BULKHEAD

A L B it LOCK NUT
L - - - - LL - - - [

S1 —{s2

6E
® = 2 47 THREAD O B O-RING R <t DIMENSIONS

PART NO. E F Eif Fim A B L S1 S2

6E-12 M12X1.25 M12X1.25 8X1.9 8X1.9 11 31.5 47.5 17 17
6E-14 M14X1.5 M14X1.5 10X1.9 10X1.9 11 32.5 49.5 19 19
6E-16 M16X1.5 M16X1.5 11X1.9 11X1.9 11 32.5 51.5 22 22
6E-18 M18X1.5 M18X1.5 13X1.9 13X1.9 11 658] 52 24 24
6E-22 M22X1.5 M22X1.5 16X2.4 16X2.4 12 35.5 58 27 30
6E-27 M27X1.5 M27X1.5 20X2.4 20X2.4 13 37 61 32 36
6E-30 M30X1.5 M30X1.5 24X2.4 24X2.4 14 38 63 36 41
6E-36 M36X2 M36X2 30X3.1 30X3.1 16 42 71 41 46
6E-39 M39X2 M39X2 32X3.1 32X3.1 18 44 75 46 50
6E-42 M42X2 M42X2 35X3.1 35X3.1 20 46 81 50 50
6E-45 M45X2 M45X2 38X3.1 38X3.1 21 46 81 55 55
6E-52 M52X2 M52X2 40X3.1 40X3.1 22 49 86 60 65

i 1 OBSHEAIIMESLRE, 2 MEFHERITER, WEAEKSHEM “LN” , 0 6E-30LN, #iEKSH 8C,

Note: 1 The parameter of O-Ring is ring outside diameter and ring width.2 In case if you are interested to order the adapter with lock
nut,please insert suffix "LN" after our part no.for example 6E-30LN, The lock nut no. is8C.




2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

90°2HIFMELN O FEE FHZH iF gk

90°METRIC MALE O-RING BULKHEAD

F 5

o— g

S

y o .S2
£
w O
/ (R —,
S1
A ]
6E9 6E9-LN
® e 12 % THREAD OF [ O-RING R ~F DIMENSIONS

PART NO. E F Ei% ) A B St S2
6E9-12 M12X1.25 M12X1.25 8X1.9 8X1.9 20.5 445 12 17
6E9-14 M14X1.5 M14X1.5 10X1.9 10X1.9 225 46.5 14 19
6E9-16 M16X1.5 M16X1.5 11X1.9 11X1.9 24 48 17 22
6E9-18 M18X1.5 M18X1.5 13X1.9 13X1.9 26 50 19 24
6E9-22 M22X1.5 M22X1.5 16X2.4 16X2.4 29 54 22 30
6E9-27 M27X1.5 M27X1.5 20X2.4 20X2.4 325 58.5 27 36
6E9-30 M30X1.5 M30X1.5 24X2.4 24X2.4 35.5 61.5 30 41
6E9-36 M36X2 M36X2 30X3.1 30X3.1 42 71 36 46
6E9-39 M39X2 M39X2 32X3.1 32X3.1 475 76 41 50
6E9-42 M42X2 M42X2 35X3.1 35X3.1 495 78 41 50
6E9-45 M45X2 M45X2 38X3.1 38X3.1 52.5 81 46 55
6E9-52 M52X2 M52X2 40X3.1 40X3.1 57 86 50 65

iE: 1 OBESEHAMEELE, 2 WEFBEITE, WIEEKSEM “LN” , 1 6E9-30LN, HiEHKSH 8C,

Note: 1 The parameter of O-ring is ring outside diameter and ring width.2 In case if you are interested to order the adapter with lock
nut,please insert suffix "LN" after our part no.for example 6E9-30LN, The lock nut no. is 8C.

D14



2 E Sk

Metric Adaptor

KF RN 3k

METRIC FEMALE FACE PLUG

L C

/

£ &b i Jx

XINDU HYDRAULIC

S2
9E
® 2 #2 4 THREAD R st DIMENSIONS
PART NO. E © L S2
9E-12 M12X1.25 8 10 14
9E-14 M14X1.5 8.5 10.5 17
9E-16 M16X1.5 8.5 11.5 19
9E-18 M18X1.5 8.5 13 22
9E-22 M22X1.5 10 13 27
9E-27 M27X1.5 10 15 32
9E-30 M30X1.5 11 15 36
9E-36 M36X2 13 15.5 41
9E-39 M39X2 13 17.5 46
9E-42 M42X2 15 18.5 50
9E-45 M45X2 15 18.5 55
9E-52 M52X2 17 18.5 60
N Aczkrd g = S
AHIMEN O ZEFHEET =@k
METRIC MALE O-RING TEE
TL
L
1
I c&
: |
\S1
A C
AE
®E #2 40 THREAD O #E O-RING R st DIMENSIONS
PART NO. E. F. G E. F. Gi# A B © S1
AE-14 M14X1.5 10X1.9 225 225 225 14
AE-16 M16X1.5 11X1.9 24 24 24 17
AE-18 M18X1.5 13X1.9 26 26 26 19
AE-22 M22X1.5 16X2.4 29 29 29 22
AE-27 M27X1.5 20X2.4 325 325 325 27
AE-30 M30X1.5 24X2.4 355 355 35.5 30
AE-36 M36X2 30X3.1 42 42 42 36
AE-39 M39X2 32X3.1 475 475 47.5 41
AE-42 M42X2 35X3.1 49.5 49.5 49.5 41
AE-45 M45X2 38X3.1 525 525 52.5 46
AE-52 M52X2 40X3.1 57 57 57 50

iE: O MESHAIIMESLE,

Note: The parameter of O-Ring is ring outside diameter and ring width.

D15



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIMEN O KB FEEL / AFIIMRYTIE R 1SO 6149-2 =il

METRIC MALE O-RING / METIRC MALE ADJUSTABLE STUD END ISO 6149-2 BRANCH TEE

F
s2 [ |
1
& | m
LU 1 . [ O
S1
A C
AEHE-OG
R = 12 4 THREAD O #FE O-RING R <t DIMENSIONS
PART NO. E. G F E. Gi# Fi A B ¢ S1 S2
AEHE-12-10-120G M12X1.25 M10X1 10X1.9 008.1X1.6 20.5 28.5 20.5 12 14
AEHE-14-12-140G M14X1.5 M12X1.5 11X1.9 009.3X2.4 225 33.2 225 14 17
AEHE-16-14-160G M16X1.5 M14X1.5 13X1.9 011.3X2.4 24 36 24 17 19
AEHE-18-16-180G M18X1.5 M16X1.5 16X2.4 013.3X2.4 26 39 26 19 22
AEHE-22-18-220G M22X1.5 M18X1.5 18X2.4 015.3X2.4 29 44 29 22 24
AEHE-27-22-270G M27X1.5 M22X1.5 20X2.4 019.3X2.4 325 48 325 27 27
AEHE-30-27-300G M30X1.5 M27X2 24X2.4 023.5X3.0 35.5 57 35.5 30 32
AEHE-36-33-360G M36X2 M33X2 30X3.1 029.2X3.0 42 60.5 42 36 41
AEHE-39-33-390G M39X2 M33X2 35X3.1 029.2X3.0 475 64 475 41 41
AEHE-42-42-420G M42X2 M42X2 38X3.1 038.5X3.0 495 65 495 41 50
AEHE-45-42-450G M45X2 M42X2 40X3.1 038.5X3.0 525 67.5 52.5 46 50

iE: 1E. Fi O KESHAMEELRE, 2 Gik5ISO 6149-1 il OHE,
Note:1 The parameters of E. F end O-Ring are ring outside diameter and ring width.2 G end is connected with ISO 6149-1 port.



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIMENO EFEEL /AHRBNFEERSZ ZEEL

METRIC MALE O-RING / METRIC FEMALE BRANCH TEE

F
L
ml E \
i S2
% I
S1 ‘
| ?I
?;/ W Yrr;
(TH] 0 ——— I N O]
A C
BE
g2 # 5 THREAD OB O-RING R <t DIMENSIONS
PART NO. E.F. G E. Gi# A B © St s2
BE-14 M14X1.5 10X1.9 225 8.5 225 14 19
BE-16 M16X1.5 11X1.9 24 8.5 24 17 22
BE-18 M18X1.5 13X1.9 26 8.5 26 19 24
BE-22 M22X1.5 16X2.4 29 10 29 22, 27
BE-27 M27X1.5 20X2.4 325 10 325 27 32
BE-30 M30X1.5 24X2.4 355 11 355 30 36
BE-36 M36X2 30X3.1 42 13 42 36 41
BE-39 M39X2 32X3.1 47.5 13 47.5 41 46
BE-42 M42X2 35X3.1 49.5 15 49.5 41 50
BE-45 M45X2 38X3.1 52,5 15 52,5 46 55
BE-52 M52X2 40X3.1 57 17 57 50 60
iE: O KBSHAMNMEELRZ, Note: The parameter of O—Ring is ring outside diameter and ring width.

2FIMEN O KEFEEH / AFNBALEES =@k

METRIC MALE O-RING / METRIC FEMALE RUN TEE

F
‘
T 1 N
| C
m
. 7 ‘ j lﬁ
(1) [ I A o
\ EL
A \S1 S2

CE

k= # 4 THREAD O #E O-RING R < DIMENSIONS
PART NO. E.F. G E. Fi# A B c St s2
CE-14 M14X1.5 10X1.9 225 225 85 14 19
CE-16 M16X1.5 11X1.9 24 24 85 17 22
CE-18 M18X1.5 13X1.9 26 26 8.5 19 24
CE-22 M22X1.5 16X2.4 29 29 10 22 27
CE-27 M27X1.5 20X2.4 325 325 10 27 32
CE-30 M30X1.5 24X2.4 355 355 11 30 36
CE-36 M36X2 30X3.1 42 42 13 36 41
CE-39 M39X2 32X3.1 475 475 13 41 46
CE-42 M42X2 35X3.1 495 495 15 41 50
CE-45 MA45X2 38X3.1 52.5 525 15 46 55
CE-52 M52X2 40X3.1 57 57 17 50 60
iE: O HESHAIMEELR, Note: The parameter of O-Ring is ring outside diameter and ring width.

D17



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

AFIMEN O KB FEEH Midikk

METRIC MALE O-RING CROSS

TF—
! m
. 7 ‘ %ﬂ -
I O
LR
5 A a
S1
H
A C
XE
g2 #2 4 THREAD OF.FE O-RING R st DIMENSIONS
PART NO. E. F. G. H E. F. G, Hi# A B C D S1
XE-14 M14X1.5 10X1.9 225 225 225 225 14
XE-16 M16X1.5 11X1.9 24 24 24 24 17
XE-18 M18X1.5 13X1.9 26 26 26 26 19
XE-22 M22X1.5 16X2.4 29 29 29 29 22
XE-27 M27X1.5 20X2.4 325 325 325 325 27
XE-30 M30X1.5 24X2.4 35.5 35.5 35.5 35.5 30
XE-36 M36X2 30X3.1 42 42 42 42 36
XE-39 M39X2 32X3.1 475 475 475 475 41
XE-42 M42X2 35X3.1 495 495 495 495 41
XE-45 M45X2 38X3.1 52.5 52.5 52.5 52.5 46
XE-52 M52X2 40X3.1 57 57 57 57 50

E: O BESEAIMEELE,

Note: The parameter of O-Ring is ring outside diameter and ring width.



2 E Sk

Metric Adaptor

PHEIIMBS 74°5b 4

METRIC MALE 74°CONE

£ &b i Jx

XINDU HYDRAULIC

1Q 1Q-RN
= 12 47 THREAD &EF5ME TUBE O.D. R < DIMENSIONS
PART NO. E F D1,D2 B L S1 S2, S3
1Q-10 M10X1 M10X1 5 12 12 30 12 14
1Q-12 M12X1.5 M12X1.5 6 15.7 15.7 37.5 14 14
1Q-14 M14X1.5 M14X1.5 8 17 17 40 17 17
1Q-16 M16X1.5 M16X1.5 10 18 18 42 17 19
1Q-18 M18X1.5 M18X1.5 12 18 18 42 19 22
1Q-22 M22X1.5 M22X1.5 14 19.5 19.5 47 24 27
1Q-24 M24X1.5 M24X1.5 16 20 20 50 27 30
1Q-27 M27X1.5 M27X1.5 18 20 20 50 30 32
1Q-30 M30X1.5 M30X1.5 20 23 23 57 32 36
1Q-30E M30X2 M30X2 20 26 26 63 32 36
1Q-33 M33X2 M33X2 22 26 26 63 36 38
1Q-36 M36X2 M36X2 25 26 26 63 38 41
1Q-39 M39X2 M39X2 28 26 26 65 41 46
1Q-42 M42X2 M42X2 32 28.5 28.5 70 46 50
1Q-45 M45X2 M45X2 34 28.5 28.5 70 46 55

i MEHHAERBSEEITSR, WEEKSEM “RN” , 0 1Q-18RN, #ENKS NB500-Q, K-S NB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut ,it is necessary to insert suffix "RN" after our part

no.,for example 1Q-18RN,The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,



D20

2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

ATIIMRLY 74°5biE / HEIMEN60° AR AiREMAESERBRS

METRIC MALE 74° CONE / BSP MALE DOUBLE USE FOR 60°CONE SEAT OR BONDED SEAL

L LoE]
kS NUT

] % SLEEVE &W\ﬁr&% |/

L 74{ | | |60° a

52 |
S1
1QB 1QB-RN
g = #2 4 THREAD &F5ME TUBE O.D. R ~F DIMENSIONS
PART NO. E F D A B L S1 s2
1QB-12-02 M12X1.5 G1/8'X28 6 15.7 10 32 14 14
1QB-14-04 M14X1.5 G1/4"X19 8 17 12 35 19 17
1QB-16-06 M16X1.5 G3/8'X19 10 18 13.5 39.5 22 19
1QB-18-06 M18X1.5 G3/8"X19 12 18 135 39.5 22 22
1QB-22-08 M22X1.5 G1/2'X14 14 19.5 16 455 27 27
1QB-24-10 M24X1.5 G5/8"'X14 16 20 17.5 475 30 30
1QB-27-12 M27X1.5 G3/4"X14 18 20 18.5 495 32 32
1QB-30-12 M30X1.5 G3/4"X14 20 23 18.5 52.5 32 36
1QB-30E-12 M30X2 G3/4"X14 20 26 18.5 55.5 32 36
1QB-33-16 M33X2 G1"X11 22 26 205 59.5 41 38
1QB-39-16 M39X2 G1"X11 28 26 205 59.5 41 46
1QB-45-20 M45X2 G1.1/4"X11 34 28.5 205 64 50 55

i MEFHERBSEERITSE, WEEKRSEM “RN” , 1 1QB-18-06RN, #EKS NB500-Q, #E&EHKSNB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut ,it is necessary to insert suffix "RN" after our part
no.,for example 1QB-18-06RN, The sleeve NO.is NB500-Q and the nut NO. is NB200-Q,



2 E Sk

Metric Adaptor

L HIGMRNT 45t / EEIMRLIORE

METRIC MALE 74°CONE / BSP MALE O-RING

£ &b i Jx

XINDU HYDRAULIC

L
A | B
ey 2 Lo
Z )
74° f:lﬂf - w o |
S1
1QG 1QG-RN
® 5 2 4 THREAD EFIMED OfE O-RING R ~f DIMENSIONS

PART NO. E F TUBE O.D. F i A B L S S2
1QG-14-04 M14X1.5 G1/4"X19 8 0111 17 11 36 19 17
1QG-16-06 M16X1.5 G3/8"X19 10 0113 18 11.5 40 22 19
1QG-18-06 M18X1.5 G3/8"X19 12 0113 18 115 40 22 22
1QG-18-08 M18X1.5 G1/2"X14 12 0115 18 14 43 27 22
1QG-22-08 M22X1.5 G1/2"X14 14 0115 19.5 14 445 27 27
1QG-27-12 M27X1.5 G3/4"X14 18 0119 20 15.5 49.5 32 32
1QG-30-12 M30X1.5 G3/4"X14 20 0119 23 15.5 52,5 32 36
1QG-39-16 M39X2 G1"X11 28 0217 26 18 60 41 46
1QG-45-20 M45X2 G1.1/4"X11 34 0222 28.5 20 66.5 50 55

i 1 MEHHERIESEEITE, MBEERSEM “RN” , 1 1QG-18-06RN, #E{S NB500-Q, &S NB200-Q, 2 F i#5 DIN

3852 il AHAL

Note: In case if you are interested to order the adapter in complete set with sleeve and nut , it is necessary to insertsuffix "RN" after our part

no.,for example 1QG-18-06RN, The sleeve NO. is NB500-Q and the nut NO. is NB200—-Q, 2 F end is connected with DIN 3852 port.




D22

2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

90°S 2 74°9MitE / AHIIMREIATFEEIRIE RS 1SO 6149-3

90°ELBOW METRIC 74°CONE / METIRC MALE ADJUSTABLE STUD END L-SERIES ISO 6149-3

F
=
S2
-
74 ]
O I |-
“Xs1
A
1QH9-0G 1QH9-OG/RN
® = ¥ 4. THREAD EFIMED OFEO-RING R ~F DIMENSIONS
PART NO. E F TUBE O.D. Fifs A B St S2 S3

1QH9-14-120G M14X1.5 M12X1.5 8 009.3X2.4 30.2 32 14 17 17
1QH9-16-140G M16X1.5 M14X1.5 10 011.3X2.4 32 35.5 16 19 19
1QH9-18-160G M18x1.5 M16x1.5 12 013.3X2.4 34 36 19 22 22
1QH9-22-180G M22x1.5 M18x1.5 14 015.3X2.4 37.5 39.5 22 24 27
1QH9-27-220G M27x1.5 M22x1.5 18 019.3X2.4 415 435 27 27 32
1QH9-30-270G M30x1.5 M27x2 20 023.5X3.0 45.8 50 30 32 36
1QH9-33-270G M33x2 M27x2 22 023.5X3.0 49.5 52 33 32 41
1QH9-36-330G M36x2 M33x2 25 029.2X3.0 51.5 54 36 41 41
1QH9-39-330G M39x2 M33x2 28 029.2X3.0 55.5 57.2 41 41 46
1QH9-45-420G M45x2 M42x2 34 038.5X3.0 62.5 61 48 50 50

i 1 METHEREEEEITR, WEEKRSEM “BRN” , 1 1QH9-22-18/RN, #EKS NB500-Q, ZEHKENB200-Q, 2 F in5
ISO 9974-1 it A4HEL, HiFHEIN SISO 6149-1 im O18AL,

Note: 1 In case if you are interested to order the adapter in complete set with sleeve and nut , it is necessary to insert suffix "RN" after our
part no.,for example 1QH9-22-18/RN, The sleeve NO. is NB500-Q and the nut NO.is NB200—-Q, 2 Fend is connected with ISO 99741
port and connected with ISO 6149-1 port without retaining ring.



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIIMRB T4 / AHIIMENAS EE

METRIC MALE 74°CONE / METRIC MALE WITH BONDED SEAL

IR B
PR NUT
RSN e

747> w

1QL 1QL-RN
® = #2 4 THREAD R HNMED A R - DIMENSIONS
PART NO. E F TUBE O.D. BONDED SEAL A B L S1 32
1QL-10 M10X1 M10X1 5 ZHD-10 12 8 27 17 14
1QL-12 M12X1.5 M12X1.5 6 ZHD-12 15.7 12 35.2 17 14
1QL-12-10 M12X1.5 M10X1 6 ZHD-10 15.7 8 30.5 17 14
1QL-14 M14X1.5 M14X1.5 8 ZHD-14 17 12 36.5 19 17
1QL-14-10 M14X1.5 M10X1 8 ZHD-10 17 8 32 17 17
1QL-14-12 M14X1.5 M12X1.5 8 ZHD-12 17 12 36.5 17 17
1QL-14-16 M14X1.5 M16X1.5 8 ZHD-16 17 12 37 22 17
1QL-16 M16X1.5 M16X1.5 10 ZHD-16 18 12 38 22 19
1QL-16-14 M16X1.5 M14X1.5 10 ZHD-14 18 12 37 19 19
1QL-18 M18X1.5 M18X1.5 12 ZHD-18 18 12 39.5 24 22
1QL-18-16 M18X1.5 M16X1.5 12 ZHD-16 18 12 38 22 22
1QL-22 M22X1.5 M22X1.5 14 ZHD-22 19.5 14 43.5 27 27
1QL-22-18 M22X1.5 M18X1.5 14 ZHD-18 19.5 12 41 24 27
1QL-27 M27X1.5 M27X2 18 ZHD-27 20 16 49 34 32
1QL-27-22 M27X1.5 M22X1.5 18 ZHD-22 20 14 44 30 32
1QL-30-27 M30X1.5 M27X2 20 ZHD-27 23 16 50 34 36
1QL-33 M33X2 M33X2 22 ZHD-33 26 18 57 41 38
1QL-33-27 M33X2 M27X2 22 ZHD-27 26 16 55 34 38
1QL-36-33 M36X2 M33X2 25 ZHD-33 26 18 58 41 41
1QL-39-33 M39X2 M33X2 28 ZHD-33 26 18 59 41 46
1QL-42 M42X2 M42X2 32 ZHD-42 285 20 65.5 50 50
1QL-45-42 M45X2 M42X2 34 ZHD-42 28.5 20 65.5 50 55

i WETHERBESEEITER, WiEEKSEM “BN” , 1 1QL-18RN, #HEHKS NB500-Q, #E{S NB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut , it is necessary to insert suffix "RN" after our
part no.,for example 1QL-18RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q

D23



2 E Sk

Metric Adaptor

£ &b i Jx

XINDU HYDRAULIC

RFIIMBBLT 4° b /10 HEE JMEW

METRIC MALE 74°CONE/NPT MALE

D24

74°(>w

L ) [
A B (RS NUT
SLEEVE %

R

L

AN

1QN 1QN-RN
® = i 40 THREAD &F5M2 TUBE O.D. R <t DIMENSIONS
PART NO. E F D A B L St S2
1QN-12-02 M12X1.5 Z1/8"'X27 6 15.7 10.5 32 14 14
1QN-12-04 M12X1.5 Z1/4"X18 6 15.7 15 365 14 14
1QN-14-02 M14X1.5 Z1/8"X27 8 17 10.5 33 17 17
1QN-14-04 M14X1.5 Z1/4"X18 8 17 15 38 17 17
1QN-16-04 M16X1.5 Z1/4"X18 10 18 15 39 17 19
1QN-16-06 M16X1.5 73/8"X18 10 18 16 40 19 19
1QN-18-04 M18X1.5 Z1/4"X18 12 18 15 39 19 22
1QN-18-06 M18X1.5 73/8"'X18 12 18 16 40 19 22
1QN-18-08 M18X1.5 Z1/2'X14 12 18 19.5 455 22 22
1QN-22-06 M22X1.5 73/8"'X18 14 19.5 16 435 24 27
1QN-22-08 M22X1.5 Z1/2'X14 14 19.5 195 47 24 27
1QN-27-06 M27X1.5 73/8"X18 18 20 16.5 46 30 32
1QN-27-08 M27X1.5 Z1/2"X14 18 20 19.5 495 30 32
1QN-27-12 M27X1.5 73/4"X14 18 20 19.5 495 30 32
1QN-27-16 M27X1.5 Z1"X11.5 18 20 255 56.5 36 32
1QN-30-12 M30X1.5 Z3/4"X14 20 23 19.5 53.5 32 36
1QN-33-12 M33X2 Z3/4"X14 22 26 19.5 56.5 36 38
1QN-36-16 M36X2 Z1"X11.5 25 26 255 63 41 41
1QN-39-16 M39X2 Z1"X11.5 28 26 255 64.5 41 46
1QN-45-16 M45X2 Z1'X11.5 34 285 255 67 46 55
1QN-45-20 M45X2 Z1.1/4"X11.5 34 285 265 68 46 55
1QN-45-24 M45X2 Z1.1/2"X11.5 34 285 275 71 50 55

i MEHHERBSEEITSE, WEERSEM “RN” , 1011QN-22-08RN, #ERSNB500-Q, &K SNB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut , it is necessary to insert suffix "RN" after our

part no.,for example 1QN-22-08RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,




2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

RF BB 74 / FEHEE JMBR

METRIC MALE 74°CONE / BSPT MALE

i
A B S NUT

/JV SLEEVE &W/L /‘(
74° O wl+-m—p— AN o - L . ,H,,
Ay e

51 \F

1QT-SP 1QT-SP/RN
® = i 5 THREAD & F5M& TUBE O.D. R <t DIMENSIONS

PART NO. E F D A B L s1 s2
1QT-10-02SP M10X1 R1/8'X28 5 12 10 28 12 14
1QT-14-04SP M14X1.5 R1/4'X19 8 17 145 | 875 17 17
1QT-14-06SP M14X1.5 R3/8'X19 8 17 15 38 17 17
1QT-16-04SP M16X1.5 R1/4'X19 10 18 145 | 385 17 19
1QT-16-06SP M16X1.5 R3/8'X19 10 18 15 39 17 19
1QT-18-04SP M18X1.5 R1/4"X19 12 18 145 | 385 19 22
1QT-18-06SP M18X1.5 R3/8'X19 12 18 15 39 19 22
1QT-22-08SP M22X1.5 R1/2'X14 14 19.5 20 475 24 27
1QT-27-08SP M27X1.5 R1/2'X14 18 20 20 50 30 32
1QT-27-12SP M27X1.5 R3/4"X14 18 20 20 50 30 32
1QT-30-12SP M30X1.5 R3/4"X14 20 23 20 54 32 36
1QT-33-12SP M33X2 R3/4"X14 22 26 20 57 36 38
1QT-36-16SP M36X2 R1"X11 25 26 255 | 615 38 41
1QT-39-16SP M39X2 R1"X11 28 26 255 | 645 41 46
1QT-45-20SP M45X2 R1.1/4"X11 34 285 | 265 68 46 55

i MEFHEREBESEEITS, WEEKRSEM “RN” , i1 1QT-22-08SP/RN, #ERKE NB500-Q, &R ENB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut , it is necessary to insert suffix "RN" after our
part no.,for example 1QT-22-08SP/RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,

D25



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

90°T LA FI MBS 74°5p i / TIEE JMBELY

90°ELBOW METRIC MALE 74°CONE / BSPT MALE

. =
w e
74°<> T I )L DE

;::"':(5'('57’77]]////

A
1QT9-SP 1QT9-SP/RN
g = #2 40 THREAD &F4ME TUBE O.D. R <t DIMENSIONS

PART NO. E F D A B St S2
1QT9-14-04SP M14X1.5 R1/4"X19 8 30.2 255 14 17
1QT9-16-04SP M16X1.5 R1/4"X19 10 32 26.5 16 19
1QT9-18-06SP M18X1.5 R3/8"X19 12 34 29 19 22
1QT9-18-08SP M18X1.5 R1/2"X14 12 36 36 22 22
1QT9-22-08SP M22X1.5 R1/2"X14 14 37.5 36 22 27
1QT9-27-08SP M27X1.5 R1/2"X14 18 415 39.5 27 32
1QT9-27-12SP M27X1.5 R3/4"X14 18 415 44 27 32
1QT9-30-12SP M30X1.5 R3/4"X14 20 45.8 455 30 36
1QT9-33-12SP M33X2 R3/4"X14 22 49.5 475 33 38
1QT9-36-16SP M36X2 R1"X11 25 51.5 52 36 41
1QT9-39-16SP M39X2 R1"X11 28 55.5 55.2 41 46
1QT9-45-20SP M45X2 R1.1/4"X11 34 62.5 61 48 55

i METHERESEESITER, WSEKREFM “BN” , 1 1QT9-22-08SP/RN, #ERE NB500-Q, M2 ENB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut , it is necessary to insert suffix "RN" after our
part no.,for example 1QT9-22-08SP/RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,

D26



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

L HIGMRNT 4G / 2HIRIRNT 4° A

METRIC MALE 74°CONE / METRIC FEMALE 74°SEAT

74°
=
O[ = S2
IR
] HE NUT
SLEEV
w|74° {i
N = [ |y
A [X ] S—
2Q9 2Q9-RN
R =2 ¥ 4 THREAD &FHMZE TUBE O.D. R <t DIMENSIONS
PART NO. E F D A @ 81 s2 S3
2Q9-14 M14X1.5 M14X1.5 8 30.2 8.5 14 19 17
2Q9-16 M16X1.5 M16X1.5 10 32.5 8 16 22 19
2Q9-18 M18X1.5 M18X1.5 12 34 8 19 24 22
2Q9-22 M22X1.5 M22X1.5 14 37.5 10 22 27 27
2Q9-27 M27X1.5 M27X1.5 18 415 10 27 32 32
2Q9-30 M30X1.5 M30X1.5 20 45.8 11 30 36 36
2Q9-33 M33X2 M33X2 22 49.5 13 33 41 38
2Q9-36 M36X2 M36X2 25 51.5 13 36 41 41
2Q9-39 M39X2 M39X2 28 55.5 13 41 46 46
2Q9-45 M45X2 M45X2 34 62.5 15 48 55 55

it MEFHEREGEEITSE, WEEKRSHEM “RN” , 1 2Q9-18RN, #EKS NB500-Q, #EKS NB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut , it is necessary to insert suffix "RN" after our
part no.,for example 2Q9-18RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q, is NB200-Q,

D27



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

AFIIMBR 749 iR L

METRIC MALE 74°CONE PLUG

- SRR
a SN
740> w| 4t a
N
82
4Q 4Q-RN
® = ¥ 4 THREAD &FSME TUBE O.D. R <F DIMENSIONS
PART NO. E D A L S1 S2
4Q-10 M10X1 5 12 18 12 14
4Q-12 M12X1.5 6 15.7 215 14 14
4Q-14 M14X1.5 8 17 23 17 17
4Q-16 M16X1.5 10 18 24 17 19
4Q-18 M18X1.5 12 18 24 19 22
4Q-22 M22X1.5 14 19.5 27.5 24 27
4Q-24 M24X1.5 16 20 30 27 30
4Q-27 M27X1.5 18 20 30 30 32
4Q-30 M30X1.5 20 23 34 32 36
4Q-30E M30X2 20 26 37 32 36
4Q-33 M33X2 22 26 37 36 38
4Q-36 M36X2 25 26 38 38 41
4Q-39 M39X2 28 26 39 41 46
4Q-42 M42X2 32 28.5 415 46 50
4Q-45 M45X2 34 28.5 415 46 55

I MEHFHERBSEEITSR, WEEKSEM “BN” , 10 4Q-18RN, #ENKS NB500-Q, #EEHKS NB200-Q.

Note: In case if you are interested to order the adapter in complete set with sleeve and nut , it is necessary to insert suffix "RN" after our
part no.,for example 4Q-18RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,

D28



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

AFIIMBR 74°9MiET HRIEL

METRIC MALE 74°CONE BULKHEAD

HiEFLOCK NUT

74°<>§ o Jra°
] | 1B

s1 Vs
6Q 6Q-LN

FESLEEVE RBINUT

k
| N
47 [m)]
S3 S4
6Q-RN 6Q-LN/RN
® = # 5 THREAD & F4Mz TUBE O.D. R ~t DIMENSIONS
PART NO. E 7 D1, D2 A B L S1 S2 S3, S4

6Q-10 M10X1 M10X1 5 12.5 34 52.5 14 14 14
6Q-12 M12X1.5 M12X1.5 6 15.7 38 59.7 17 17 14
6Q-14 M14X1.5 M14X1.5 8 17 40 64 17 19 17
6Q-16 M16X1.5 M16X1.5 10 18 41 65 19 22 19
6Q-18 M18X1.5 M18X1.5 12 18 43 69 24 24 22
6Q-22 M22X1.5 M22X1.5 14 19.5 44 73.5 27 27 27
6Q-24 M24X1.5 M24X1.5 16 20 45 75 27 30 30
6Q-27 M27X1.5 M27X1.5 18 20 48 78 30 32 32
6Q-30 M30X1.5 M30X1.5 20 23 53 87 34 36 36
6Q-33 M33X2 M33X2 22 26 55 92 36 41 38
6Q-36 M36X2 M36X2 25 25 56 94 41 41 41
6Q-39 M39X2 M39X2 28 26 58 97 41 46 46
6Q-42 M42X2 M42X2 32 28.5 59 102.5 50 50 50
6Q-45 M45X2 M45X2 34 28.5 60 103.5 50 50 55

i MEHSEITSR, MEEKRSEM “LN” , MeQ-18LN; MEFHERBESEEITS, WEEKSEM “RN” , 1 6Q-18RN; MEH
i, AERIBETE, ARSEM “LN/RN” , 1 6Q-18LN/RN; #ERKS NB500-Q, #BHEHKS NB200-Q, #ifFXS 8C,

Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our part no.,for example 6Q-18LN; order
the adapter with sleeve and nut, please insert suffix "RN" after our part no.,for example 6Q-18RN; order the adapter with lock nut and

sleeve and nut, insert suffix "LN/RN" after part no.,for example 6Q-18LN/RN; The sleeve NO. is NB500-Q and the nut NO. is NB200-Q
and the lock nut no. is 8C,

D29



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

90° B ATIIMRL 74°5biEid HRig Sk

90°ELBOW METRIC MALE 74°CONE BULKHEAD

<7 o

##ESLEEVE

2

ANAANNANNNRNNS

V2

! LOCK NUT
AT y
74 <> w J_"_”— 7 4
AI_ S1
6Q9 6Q9-LN 6Q9-RN 6Q9-LN/RN
= 12 47 THREAD &HF45MZE TUBE O.D. R =t DIMENSIONS
PART NO. E F D1, D2 A B S1 S2 S3, 4
6Q9-12 M12X1.5 M12X1.5 6 255 52 11 17 14
6Q9-14 M14X1.5 M14X1.5 8 30.2 56 14 19 17
6Q9-16 M16X1.5 M16X1.5 10 32 58 16 22 19
6Q9-18 M18X1.5 M18X1.5 12 34 62 19 24 22
6Q9-22 M22X1.5 M22X1.5 14 37.5 64 22 27 27
6Q9-27 M27X1.5 M27X1.5 18 41.5 72 27 32 32
6Q9-30 M30X1.5 M30X1.5 20 45.8 78 30 36 36
6Q9-33 M33X2 M33X2 22 5148 82 33 41 38
6Q9-36 M36X2 M36X2 25 51.5 86 36 41 41
6Q9-39 M39X2 M39X2 28 55.5 88 41 46 46
6Q9-42 M42X2 M42X2 32 57 95 41 50 50
6Q9-45 M45X2 M45X2 34 62.5 96 48 55 55

E: MFHEGEHTSE, MEERSEM “LN” , M6Q-18LN; WMFFHERBEHEEITSE, MEENKXS/EM “RN” , 10 6Q-18RN; WMFEFH
$iE. HERESITER, £KXSEM “LN/BRN” , 1 6Q-18LN/RN; #EHKS NB500-Q, BEKSNB200-Q, $#ERS 8C,

Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our part no., for example 6Q-18LN;
order the adapter with sleeve and nut, please insert suffix "RN" after our part no.,for example 6Q-18RN; order the adapter with lock nut and
sleeve and nut, insert suffix "LN/RN" after part no.,for example 6Q-18LN/RN; The sleeve NO. is NB500-Q and the nut NO. is NB200-Q
and the lock nut no. is 8C,

D30



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

AHIRIRL 74° 5L L

METRIC FEMALE 74°SEAT PLUG

A L
74° w| 44— n
S2

9Q

g2 ¥ 4 THREAD R ~F DIMENSIONS
PART NO. E A L S2

9Q-14 M14X1.5 8.5 11 19
9Q-16 M16X1.5 8 12 22
9Q-18 M18X1.5 8 13 24
9Q-22 M22X1.5 10 14 27
9Q-27 M24X1.5 10 17 32
9Q-30 M30X1.5 11 17 36
9Q-36 M36X2 13 20 41
9Q-39 M39X2 13 21 46
9Q-45 M45X2 15 23 50
9Q-52 M52X2 17 27 60
9Q-60 M60X2 20 30 70




2 E Sk

Metric Adaptor

AHISMBL 74°9biE =8

METRIC MALE 74°CONE TEE

£ &b i Jx

XINDU HYDRAULIC

74°
X7
P
S1
% m
74° C |4 A _l 374"
I
A C
AQ AQ-RN
f & #2 4 THREAD &F4M2 TUBE O.D. R ~f DIMENSIONS
PART NO. E F G D1,D2,D3 A B © St $2,83,54
AQ-14 M14X1.5 M14X1.5 M14X1.5 8 27 27 27 14 17
AQ-16 M16X1.5 M16X1.5 M16X1.5 10 29.5 29.5 29.5 16 19
AQ-18 M18X1.5 M18X1.5 M18X1.5 12 34 34 34 19 22
AQ-22 M22X1.5 M22X1.5 M22X1.5 14 37.5 37.5 37.5 22 27
AQ-27 M27X1.5 M27X1.5 M27X1.5 18 415 415 415 27 32
AQ-30 M30X1.5 M30X1.5 M30X1.5 20 42.8 42.8 42.8 30 36
AQ-33 M33X2 M33X2 M33X2 22 495 495 49.5 33 38

i METAERBEERITR, WEEKSEM “BN” , 1 AQ-18RN, #EHKS NB500-Q, #BEHKS NB200-Q,

Note: In case if you are interested to order the adapter in complete set with sleeve and nut , it is necessary to insert suffix "RN" after our
part no.,for example AQ-18RN, The sleeve NO. is NB500-Q and the nut NO. is NB200-Q,

D32



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

AHIMESIZ RS 1SO 6149-3

METRIC MALE L-SERIES ISO 6149-3

1H

R = #2 & THREAD O F@ O-RING R <+ DIMENSIONS

PART NO. E F Eif Fith A B L St
1H-10 M10X1 M10X1 008.1X1.6 008.1X1.6 8.5 8.5 28 14
1H-12 M12X1.5 M12X1.5 009.3X2.4 009.3X2.4 11.0 11.0 33 17
1H-14 M14X1.5 M14X1.5 011.3X2.4 011.3X2.4 11.0 11.0 33 19
1H-16 M16X1.5 M16X1.5 013.3X2.4 013.3X2.4 115 115 34 22
1H-18 M18X1.5 M18X1.5 015.3X2.4 015.3X2.4 125 125 36 24
1H-22 M22X1.5 M22X1.5 019.3X2.4 019.3X2.4 13.0 13.0 39 27
1H-27 M27X2 M27X2 023.5X3.0 023.5X3.0 16.0 16.0 45 32
1H-33 M33X2 M33X2 029.5X3.0 029.5X3.0 16.0 16.0 48 41
1H-42 M42x2 M42X2 038.5X3.0 038.5X3.0 16.0 16.0 50 50
1H-48 M4gX2 M48X2 044.5X3.0 044.5X3.0 175 175 53 55

iE: AI5 IS0 99741 i O4AAL, £#EHEI5ISO 6149-1 jh OAEL,
Note: fit for ISO 9974—1 port or ISO 6149-1 port when useless of retaining ring.

D33



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

2FIIMEN 60° Ak ARHAESREY

METRIC MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL

60°| W

1™

/i L=l 12 4 THREAD R = DIMENSIONS
PART NO. E F A B L S
1M-10 M10X1 M10X1 8 8 24 14
1M-10-12 M10X1 M12X1.5 8 10 26 17
1M-12 M12X1.5 M12X1.5 10 10 28 17
1M-12-14 M12X1.5 M14X1.5 10 11 29 19
1M-14 M14X1.5 M14X1.5 11 11 30 19
1M-14-16 M14X1.5 M16X1.5 11 12 31 22
1M-16 M16X1.5 M16X1.5 12 12 32 22
1M-16-18 M16X1.5 M18X1.5 12 12 34 24
1M-18 M18X1.5 M18X1.5 12 12 34 24
1M-18-22 M18X1.5 M22X1.5 12 14 38 27
1M-20-22 M20X1.5 M22X1.5 14 14 38 27
1M-22 M22X1.5 M22X1.5 14 14 38 27
1M-22-26 M22X1.5 M26X1.5 14 16 43 32
1M-22-27 M22X1.5 M27X2 14 16 43 32
1M-22-27D M22X1.5 M27X1.5 14 16 43 32
1M-26 M26X1.5 M26X1.5 16 16 45 32
1M-26-30 M26X1.5 M30X2 16 18 47 36
1M-26-30D M26X1.5 M30X1.5 16 18 47 36
1M-27 M27X2 M27X2 16 16 45 32
1M-27D M27X1.5 M27X1.5 16 16 45 32
1M-30 M30X2 M30X2 18 18 49 36
1M-30D M30X1.5 M30X1.5 18 18 49 36

D34



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

K2FIJMRE60°AHE / 22 HI IIREI60° M

METRIC MALE 60°SEAT/METRIC FEMALE 60°CONE

N
60° [ Tl -L-LL<)60°

S1 S2
2M

R = #2 4 THREAD R <t DIMENSIONS
PART NO. E F A B L St S2
2M-12 M12X1.5 M12X1.5 10 5 28 17 17
2M-14 M14X1.5 M14X1.5 11 5.5 29.5 19 19
2M-16 M16X1.5 M16X1.5 12 5.5 32 22 22
2M-16-18 M16X1.5 M18X1.5 12 5.5 33 22 24
2M-18 M18X1.5 M18X1.5 12 5.5 33 24 24
2M-18-16 M18X1.5 M16X1.5 12 5.5 32 24 22
2M-18-20 M18X1.5 M20X1.5 12 6.5 345 24 27
2M-18-22 M18X1.5 M22X1.5 12 6 35 24 27
2M-20 M20X1.5 M20X1.5 14 6.5 38.5 27 27
2M-20-18 M20X1.5 M18X1.5 14 5.5 37 27 24
2M-20-22 M20X1.5 M22X1.5 14 6 39 27 27
2M-22 M22X1.5 M22X1.5 14 6 39 27 27
2M-22-18 M22X1.5 M18X1.5 14 5.5 37 27 24
2M-22-20 M22X1.5 M20X1.5 14 6.5 38.5 27 27
2M-27 M27X2 M27X2 16 6 425 32 32
2M-27D M27X1.5 M27X1.5 16 6 425 32 32
2M-30 M30X2 M30X2 18 6 46.5 36 36
2M-30D M30X1.5 M30X1.5 18 6 46.5 36 36

D35



D36

2 E Sk

Metric Adaptor

AFIMENER RFIELISO 6149-3

METRIC MALE L-SERIES PLUG ISO 6149-3

£ &b i Jx

XINDU HYDRAULIC

L
A
\S1
4H

It #2 4 THREAD OFE O-RING R < DIMENSIONS

PART NO. E Eif A L S1
4H-12 M12X1.5 009.3X2.4 11 19.5 17
4H-14 M14X1.5 011.3X2.4 11 19.5 19
4H-16 M16X1.5 013.3X2.4 125 23 22
4H-18 M18X1.5 015.3X2.4 14 24.5 24
4H-22 M22X1.5 019.3X2.4 15 27.5 27
4H-27 M27X2 023.5X3.0 18.5 32 32
4H-33 M33X2 029.5X3.0 18.5 345 4
4H-42 M42x2 038.5X3.0 19 37 50

iE: AI51S0 99741 i O4HEL, £#E#EISISO 6149-1 jmO4EEL,
Note: fit for ISO 9974-1 port or ISO 6149-1 port when useless of retaining ring.
N
AHIMESIZRFIELISO 6149-3
METRIC MALE L-SERIES HOLLOW HEX PLUG ISO 6149-3
L
A
S1
4HN

®r =2 #2 4 THREAD OF%E O-RING R <t DIMENSIONS

PART NO. E Ef A L S1
4HN-10 M10X1 008.1X1.6 8.5 11.5 5
4HN-12 M12X1.5 009.3X2.4 11 14 6
4HN-14 M14X1.5 011.3X2.4 11 14 6
4HN-16 M16X1.5 013.3X2.4 11.5 14 8
4HN-18 M18X1.5 015.3X2.4 12.5 15.5 8
4HN-22 M22X1.5 019.3X2.4 13 16 10
4HN-27 M27X2 023.5X3.0 16 19 12
4HN-33 M33X2 029.5X3.0 16 20 17
4HN-42 M42X2 038.5X3.0 16 22 22
4HN-48 M48X2 044.5X3.0 17.5 21.5 24

iE: FI51S0 9974-1 i A4AEE, FHEE#E5ISO 6149-1 M O4BEL,
Note: fit for ISO 9974-1 port or ISO 6149-1 port when useless of retaining ring.



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIMREUE S BB BIEL

METRIC MALE BONDED SEAL PLUG

L

A

S1
4L
® B #2 4 THREAD R =t DIMENSIONS
PART NO. E A L S1
4L-10 M10X1 8 15 14
4L-12 M12X1.5 12 19.5 17
4L-18 M18X1.5 12 21.5 24
4L-22 M22X1.5 14 25.5 27
4L-33 M33X2 18 33 41
4L-42 M42X2 20 37 50
41-48 M48X2 20 37 60

2FIIMEN 60° AR AREAE SR RIIEL

METRIC MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL PLUG

S1

4aM
g =2 12 4 THREAD R < DIMENSIONS
PART NO. F B L S1
4M-10 M10X1 8 15 14
4M-12 M12X1.5 10 17 17
4M-14 M14X1.5 11 19 19
4M-16 M16X1.5 12 20 22
4M-18 M18X1.5 12 20 24
4M-20 M20X1.5 14 23 27
4M-22 M22X1.5 14 23 27
4M-24 M24X1.5 14 25 30
4M-26 M26X1.5 16 28 32
4M-27D M27X1.5 16 28 32
4M-30 M30X2 18 30 36
4M-30D M30X1.5 18 30 36

D37
|



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

KFIMRN A7 IE L

METRIC MALE HOLLOW HEX PLUG

S1

4MN
= i 4 THREAD R st DIMENSIONS
PART NO. E A L S1
4MN-12 M12X1.5 10 14 6
4MN-14 M14X1.5 11 15 6
4MN-16 M16X1.5 12 16 8
4MN-18 M18X1.5 12 16 8
4MN-20 M20X1.5 14 18 10
4MN-22 M22X1.5 14 18 10
4MN-24 M24X1.5 14 18 12
4MN-26 M26X1.5 16 21 12
4MN-30 M30X2 18 23 17
4MN-30D M30X1.5 18 23 17

2HIMEN R BT A AL

METRIC MALE CAPTIVE SEAL HOLLOW HEX PLUG

L
A

S1

4MN-WD
= 12 4 THREAD B # CAPTIVE R <t DIMENSIONS
PART NO. E Eif A L S1
4MN-10WD M10X1 WD-B02 8 12 5
4MN-12WD M12X1.5 WD-M12 12 17 6
4MN-14WD M14X1.5 WD-B04 12 17 6
4AMN-16WD M16X1.5 WD-M16 12 17 8
4MN-18WD M18X1.5 WD-M18 12 17 8
4MN-20WD M20X1.5 WD-M20 14 19 10
4MN-22WD M22X1.5 WD-M22 14 19 10
4MN-26WD M26X1.5 WD-B12 16 21 12
4MN-27WD M27X2 WD-B12 16 21 12
4MN-33WD M33X2 WD-B16 18 24.5 17
4MN-42WD M42X2 WD-B20 20 26.5 22
4AMN-48WD M48X2 WD-B24 22 28.5 24

D38



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

BHE2H MRS 60°5htE

JIS METRIC MALE 60°CONE

=
Rl S )z

1K
g2 # 4 THREAD R ~F DIMENSIONS
PART NO. E F A B L S1
1K-14 M14X1.5 M14X1.5 17 17 40 17
1K-16 M16X1.5 M16X1.5 18 18 42 17
1K-18 M18X1.5 M18X1.5 18 18 42 19
1K-20 M20X1.5 M20X1.5 20 20 48 22
1K-22 M22X1.5 M22X1.5 20 20 48 24
1K-24 M24X1.5 M24X1.5 21.5 21.5 53 27
1K-30 M30X1.5 M30X1.5 26 26 63 32
1K-33 M33X1.5 M33X1.5 30 30 71 36
1K-36 M36X1.5 M36X1.5 33 33 79 41
1K-42 M42X1.5 M42X1.5 36 36 85 46
o /\ o
90°HA L FIFMEN 60°Ih i
90°JIS METRIC MALE 60°CONE
60°
F
|
T
1 m
- 7
ol Y
A )@
1K9
® =2 %2 4 THREAD R < DIMENSIONS
PART NO. E F A B S1
1K9-14 M14X1.5 M14X1.5 29 29 14
1K9-16 M16X1.5 M16X1.5 30.5 30.5 16
1K9-18 M18X1.5 M18X1.5 33.8 33.8 19
1K9-22 M22X1.5 M22X1.5 38 38 22
1K9-24 M24X1.5 M24X1.5 41.2 41.2 24
1K9-30 M30X1.5 M30X1.5 45.7 45.7 30
1K9-33 M33X1.5 M33X1.5 52 52 33

D39
|



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

BA 2 5ISMBL60°5ME / BEIMELORE

JIS METRIC MALE 60° CONE / BSP MALE O-RING

2

60° L L
S1
1KG
® = ¥ 47 THREAD O #E O-RING R < DIMENSIONS
PART NO. E F Fi A B L S1
1KG-14-04 M14X1.5 G1/4"X19 0111 17 11 36 19
1KG-14-06 M14X1.5 G3/8"X19 0113 17 115 36.5 22
1KG-16-06 M16X1.5 G3/8"X19 0113 18 115 38 22
1KG-18-06 M18X1.5 G3/8"X19 0113 18 11.5 38 22
1KG-22-08 M22X1.5 G1/2"X14 0115 20 14 47 27
1KG-30-12 M30X1.5 G3/4"X14 0119 26 15.5 52.5 32
1KG-33-12 M33X1.5 G3/4"X14 0119 30 15.5 59.5 36
1KG-33-16 M33X1.5 G1"X11 0217 30 18 62 41

D40



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

BHE2H MBS 60°5MiE / 2AFIIMBNATRREFIRERIIISO 6149-2

JIS METRIC MALE 60°CONE / METIRC MALE ADJUSTABLE STUD END S-SERIES 1SO6149-2

L
A B
L 60° \J - - Lo
S1
1KH

® = 12 4 THREAD O # & O-RING R <t DIMENSIONS
PART NO. E F F i A B L S
1KH-14-12 M14X1.5 M12X1.5 009.3X2.4 17 11.0 39 17

1KH-14 M14X1.5 M14X1.5 011.3X2.4 17 11.0 39 19
1KH-16-14 M16X1.5 M14X1.5 011.3X2.4 18 11.0 40 19
1KH-18-14 M18X1.5 M14X1.5 011.3X2.4 18 11.0 40 19
1KH-18-16 M18X1.5 M16X1.5 013.3X2.4 18 125 42 22
1KH-18-20 M18X1.5 M20X1.5 017.3X2.4 18 14.0 45 27
1KH-20-18 M20X1.5 M18X1.5 015.3X2.4 20 14.0 47 24
1KH-22-20 M22X1.5 M20X1.5 017.3X2.4 20 14.0 47 27
1KH-24-20 M24X1.5 M20X1.5 017.3X2.4 215 14.0 485 27
1KH-24-22 M24X1.5 M22X1.5 019.3X2.4 215 15.0 50 27
1KH-30-27 M30X1.5 M27X2 023.5X3.0 26 18.5 60.5 32

1KH-33 M33X1.5 M33X2 029.5X3.0 30 18.5 65 41
1KH-36-33 M36X1.5 M33X2 029.5X3.0 33 18.5 68 41

iE: Fi%5 1SO 6149-1 il O4HEL, Note: F end is fit for ISO 6149-1 port.



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

B 25 JMRL60°/ME /MRS JMEN

JIS METRIC MALE 60°CONE/NPT MALE

60° L \I

51 F/

1KN
® = 2 40 THREAD R <t DIMENSIONS
PART NO. E F A B L S1
1KN-14-04 M14X1.5 Z1/4"X18 17 15 38 17
1KN-14-06 M14X1.5 73/8"X18 17 16 39 19
1KN-16-06 M16X1.5 73/8"X18 18 16 40 19
1KN-16-08 M16X1.5 Z1/2"X14 18 19.5 455 22
1KN-18-06 M18X1.5 73/8"X18 18 16 40 19
1KN-20-06 M20X1.5 73/8"X18 20 16 44 22
1KN-20-08 M20X1.5 Z1/2"'X14 20 19.5 47.5 22
1KN-22-08 M22X1.5 Z1/2"X14 20 19.5 47.5 24
1KN-24-08 M24X1.5 Z1/2"X14 215 19.5 51 27
1KN-24-12 M24X1.5 Z3/4"X14 21.5 19.5 51 30
1KN-30-12 M30X1.5 Z3/4"X14 26 19.5 56.5 32
1KN-33-16 M33X1.5 Z1"X11.5 30 25.5 66.5 36
1KN-36-20 M36X1.5 Z1.1/4"X11.5 33 26.5 72,5 46
1KN-42-24 M42X1.5 Z1.1/2"X11.5 36 27.5 78.5 50

D42



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

90° B A LTHISMBEL 60°5biE /3 1hHEE JMEL

90°JIS METRIC MALE 60°CONE/NPT MALE

F

60°(>@‘ - - yg

A
1KN9
K S 2 & THREAD R st DIMENSIONS
PART NO. E F A B S
1KN9-14-04 M14X1.5 Z1/4"X18 29 25.5 14
1KN9-16-06 M16X1.5 Z73/8"X18 31.5 29.5 16
1KN9-16-08 M16X1.5 Z1/2"X14 35.5 36.7 22
1KN9-18-06 M18X1.5 73/8"X18 33.5 31 19
1KN9-20-06 M20X1.5 Z3/8"X18 36 31 19
1KN9-20-08 M20X1.5 Z1/2"X14 38 36.7 22
1KN9-22-08 M22X1.5 Z1/2"X14 38 36.7 22
1KN9-24-08 M24X1.5 Z1/2"X14 435 40 27
1KN9-24-12 M24X1.5 Z3/4"X14 43 44 27
1KN9-30-12 M30X1.5 Z3/4"X14 48 45 30
1KN9-33-16 M33X1.5 Z1"X11.5 55 50 33

RFIIMBS 60°JhiE / FEHEE JMEL

METRIC MALE 60°CONE / BSPT MALE

L

A B

60°) W \I - |
1
S1 F/
1KT-SP
® = 42 4 THREAD R st DIMENSIONS

PART NO. E F A B L St
1KT-14-04SP M14X1.5 R1/4"X19 17 14.5 37.5 17
1KT-14-06SP M14X1.5 R3/8"X19 17 15 38 19
1KT-16-06SP M16X1.5 R3/8"X19 18 15 39 19
1KT-18-06SP M18X1.5 R3/8"X19 18 15 39 19
1KT-20-06SP M20X1.5 R3/8"X19 20 15 43 22
1KT-22-06SP M22X1.5 R3/8"X19 20 15 43 24
1KT-22-08SP M22X1.5 R1/2"X14 20 20 48 24
1KT-24-08SP M24X1.5 R1/2"X14 21.5 20 51.5 27
1KT-24-12SP M24X1.5 R3/4"X14 21.5 20 51.5 30
1KT-30-12SP M30X1.5 R3/4"X14 26 20 57 32
1KT-33-16SP M33X1.5 R1"X11 30 25.5 66.5 36
1KT-36-20SP M36X1.5 R1.1/4"X11 33 26.5 72.5 46
1KT-42-24SP M42X1.5 R1.1/2"X11 36 26.5 775 50

D43



D44

2 E Sk

Metric Adaptor

A5’ AEAHISMRL 60°M i /FEHEE JMRA

45°JIS METRIC MALE 60°CONE/BSPT MALE

£ &b i Jx

XINDU HYDRAULIC

F
/N
. ‘ /
A S1
1KT4-SP
g = # 4  THREAD R <+ DIMENSIONS
PART NO. E F A B Si
1KT4-14-04SP M14X1.5 R1/4"X19 25 21 14
1KT4-14-06SP M14X1.5 R3/8"X19 25.5 23 16
1KT4-16-06SP M16X1.5 R3/8"X19 26 23 16
1KT4-18-06SP M18X1.5 R3/8"X19 28 24 19
1KT4-20-06SP M20X1.5 R3/8"X19 30 24 19
1KT4-22-06SP M22X1.5 R3/8"X19 31 25 22
1KT4-22-08SP M22X1.5 R1/2"X14 31 30 22
1KT4-24-08SP M24X1.5 R1/2"X14 58 29.5 22
1KT4-24-12SP M24X1.5 R3/4"X14 34 30.5 27
1KT4-30-12SP M30X1.5 R3/4"X14 39 315 30
1KT4-33-16SP M33X1.5 R1"X11 43.5 38 33
[ PAN o - faf
90°B AL HIIMBSL 60°5p i /ZEEE JMBL
90°JIS METRIC MALE 60°CONE/BSPT MALE
F
N
m
1
60°}>@ - -
){g
A
1KT9-SP
[ = 42 4  THREAD R <+ DIMENSIONS
PART NO. E F A B S1
1KT9-14-02SP M14X1.5 R1/8"X28 28.5 22 14
1KT9-14-04SP M14X1.5 R1/4"X19 29 25.5 14
1KT9-14-06SP M14X1.5 R3/8"X19 31 28.5 16
1KT9-16-06SP M16X1.5 R3/8"X19 31.5 28.5 16
1KT9-18-06SP M18X1.5 R3/8"X19 33.8 29.5 19
1KT9-20-06SP M20X1.5 R3/8"X19 36 30.5 19
1KT9-22-06SP M22X1.5 R3/8"X19 38 32.5 22
1KT9-22-08SP M22X1.5 R1/2"X14 38 36 22
1KT9-24-08SP M24X1.5 R1/2"X14 43.5 39.5 27
1KT9-24-12SP M24X1.5 R3/4"X14 43 43.5 27
1KT9-30-12SP M30X1.5 R3/4"X14 48 45.3 30
1KT9-33-16SP M33X1.5 R1"X11 55 50 33




2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

60° 2 MRS /60° 2 HI AR

60°METRIC MALE/60°METRIC FEMALE

g =2 12 4 THREAD R <t DIMENSIONS
PART NO. E F A| B | L | st] s
A L B 2K-14 M14X1.5 M14X1.5 | 17 | 105 | 315 | 17 | 19
NN 2K-16 M16X1.5 M16X1.5 | 18 | 10 | 3845 | 17 | 22
7 60° 2K-18 M18X1.5 M18X15 | 18 | 115 | 345 | 19 | 24
60°[> Ul mi mT [T 2K-22 M22X1.5 M22X15 | 20 | 14 | 39 | 24 | 27
2K-24 M24X1.5 M24X1.5 | 215 | 15 | 43 | 27 | 30
S1 S2 2K-30 M30X1.5 M30X1.5 | 26 | 183 | 495 | 32 | 36
2K-33 M33X1.5 M33X1.5 | 30 | 21.3 | 535 | 36 | 41
2K 2K-36 M36X1.5 M36X1.5 | 33 | 20 | 585 | 41 | 46
2K-42 M42X1.5 M42X15 | 36 | 188 | 68 | 46 | 55
90°ZSHFLRTIIEL 60°Jhif
90°ELBOW JIS METRIC 60°CONE
60° Ty # 41 THREAD R < DIMENSIONS
PART NO. E F A B S1 s2
2K9-14 M14X1.5 M14X1.5 29 | 105 | 14 | 19
2K9-16 M16X1.5 M16X1.5 315 | 10 | 16 | 22
2K9-18 M18X1.5 M18X1.5 338 | 115 | 19 | 24
2K9-22 M22X1.5 M22X1.5 38 | 14 | 22 | 27
2K9-24 M24X1.5 M24X1.5 412 | 15 | 24 | 30
A 2K9-30-24 M30X1.5 M24X1.5 48 | 15 | 30 | 30
2K9-30 M30X1.5 M30X1.5 48 | 183 | 30 | 36
2K9 2K9-33 M33X1.5 M33X1.5 55 | 21.3 | 33 | 41
BAEL2HISMES 60°9hiEiE L
JIS METRIC MALE 60°CONE PLUG
= # 41 THREAD R < DIMENSIONS
L PART NO. E A L s1
A 4K-14 M14X1.5 17 23 17
— 4l g 4K-16 M16X1.5 18 24 17
9 4K-18 M18X1.5 18 25 19
60°) W - 4K-20 M20X1.5 20 28 22
q \ 4K-22 M22X1.5 20 28 24
() 4K-24 M24X1.5 215 315 27
4K-30 M30X1.5 26 37 32
4K
4K-33 M33X1.5 30 41 36

D45



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

BF2H RIRN 60°AH#EEL

JIS METRIC FEMALE 60°CONE PLUG

A . K= # & THREAD R <+ DIMENSIONS
PART NO. E A L S1 s2
N
9K-14 M14X1.5 105 15 19 19
9K-16 M16X1.5 10 175 22 22
60° | | - A
9K-18 M18X1.5 115 | 185 24 24
H 9K—22 M22X1.5 14 21 27 27
9K-24 M24X1.5 15 225 32 32
TXs2 st
9K-30 M30X1.5 18.3 25 36 36
9K 9K-33 M33X1.5 213 | 255 41 41
/N ° —
BAEAFIIMBLS 60°)p it =@
JIS METRIC MALE 60°CONE TEE
60° - # 47 THREAD R <+ DIMENSIONS
27 PART NO. E F G A B c S
—— AK—14 | M14X15 | M14X15 | M14X15 | 265 | 265 | 265 | 14
s1 AK-16 | M16X15 | M16X1.5 | M16X1.5 | 295 | 295 | 295 | 16
[a1]

AK-18 | M18X1.5 | Mi8X1.5 | M18X1.5 | 30.8 | 30.8 | 30.8 | 19
60°(> w o Q 60° AK—22 | M22X1.5 | M22X1.5 | M22X15 | 355 | 355 | 355 | 22

jUZLL AK—24 | M24X15 | M24X1.5 | M24x15 | 37 | 37 | 37 | 22
AK-30 | M30X1.5 | M30X1.5 | M30X1.5 | 45 | 45 | 45 | 30
AK AK-33 | M33X15 | M33X1.5 | M33Xi5 | 50 | 50 | 50 | 33

AHIAIES 60°FIEME

METRIC FEMALE 60°CONE SEAT

® = #2 40 THREAD R st DIMENSIONS
60° PART NO. E F G A, B, C| S1 |S2, S3, $4
F
53(\7 @) DK-14 M14X1.5 | M14X1.5 | M14X1.5 10.5 11 19
A c DK-16 M16X1.5 | M16X1.5 | M16X1.5 9.3 14 22
DK-18 M18X1.5 | M18X1.5 | M18X1.5 11.5 16 24
i DK-22 M22X1.5 | M22X1.5 | M22X1.5 14 19 27
60 (wl LI =N 1 e |60
| DK-24 M24X1.5 | M24X15 | M24X1.5 15.1 22 32
| = M30X1.5 | M30X1.5 | M30X1.5 18.3 27 36
S2 \st S4 DK=30
DK-33 M33X1.5 | M33X1.5 | M33X1.5 21.3 30 41
DK DK-36 M36X1.5 | M36X1.5 | M36X1.5 20 33 46
DK-42 M42X1.5 | M42X1.5 | M42X1.5 18.8 36 50

D46



2 E Sk 2oPiRE

Metric Adaptor XINDU HYDRAULIC

BHE2HIMRE 60°5ME / BE2FIFIRK 60° M =il

JIS METRIC MALE 60°CONE / JIS METRICF EMALE 60°SEAT BRANCH TEE

60°
F

S1

60°<> w = o <)60°

A C
BK

= #2 5 THREAD R ~F DIMENSIONS

PART NO. E F G A B © S1 S2
BK-14 M14X1.5 M14X1.5 M14X1.5 26.5 10.5 26.5 14 19
BK-16 M16X1.5 M16X1.5 M16X1.5 29.5 10 29.5 16 22
BK-18 M18X1.5 M18X1.5 M18X1.5 30.8 1.5 30.8 19 24
BK-22 M22X1.5 M22X1.5 M22X1.5 35.5 14 35.5 22 27
BK-24 M24X1.5 M24X1.5 M24X1.5 37 15 37 22 32
BK-30 M30X1.5 M30X1.5 M30X1.5 45 18.3 43 30 36
BK-33 M33X1.5 M33X1.5 M33X1.5 50 21.3 50 33 41

BEFE2HIIMEN 60°5hE / BELQHIREN 60°AHE =&

JIS METRIC MALE 60°CONE / JIS METRIC FEMALE 60°SEAT RUN TEE

F
C
o L
/V =
‘A
GOQD w :L‘I—”-EL H O| | 60°
A
S1 S2
CK
K= 2 40 THREAD R <t DIMENSIONS
PART NO. E F G A B © S1 S2
CK-14 M14X1.5 M14X1.5 M14X1.5 26.5 26.5 10.5 14 19
CK-16 M16X1.5 M16X1.5 M16X1.5 29.5 29.5 10 16 22
CK-18 M18X1.5 M18X1.5 M18X1.5 30.8 30.8 11.5 19 24
CK-22 M22X1.5 M22X1.5 M22X1.5 35.5 35.5 14 22 27
CK-24 M24X1.5 M24X1.5 M24X1.5 37 37 15 22 32
CK-30 M30X1.5 M30X1.5 M30X1.5 45 43 18.3 30 36
CK-33 M33X1.5 M33X1.5 M33X1.5 50 50 21.3 33 41

D47



E=Ek

Flange Coupling

£ &b i Jx

XINDU HYDRAULIC

REIMBES60°AIHE /SAEEZ=3000PSI
BSP MALE 60°CONE SEAT/ SAE FLANGE 3000PSI

A b
<|/ %rf
-
600 LIJ O
1BFL
! #2 41 THREAD EZRE O B R ~F DIMENSIONS
PART NO. E FLANGE SIZE O RING b D1 L
1BFL-08 G1/2"X14 1/2" 0210 6.73 30.2 43
1BFL-12 G3/4"X14 3/4" 0214 6.73 38.1 475
1BFL-16 G1"X11 1" 0219 8 44.4 51
1BFL-20 G1.1/4"X11 1.1/4" 0222 8 50.8 51
1BFL-24 G1.1/2"X11 1.1/2" 0225 8 60.3 55
=== N e
90° K E/MBEL 60°AIHE /SAEEZ=3000PSI
90°BSP MALE 60°CONE SEAT/SAE FLANGE 3000PSI
D1
a 1
D2 o
N —
@
A
1BFL9
g = ¥ 4 THREAD HZES O 7 & R~ DIMENSIONS
PART NO. E FLANGE SIZE O RING A B b D1 D2 St
1BFL9-08 G1/2"X14 1/2" 0210 345 46 6.73 30.2 24 22
1BFL9-12 G3/4"X14 3/4" 0214 40 54.1 6.73 38.1 31.7 27
1BFL9-16 G1"X11 1 0219 46 60.2 8 44.4 38 33
1BFL9-20 G1.1/4"X11 1.1/4" 0222 50.5 66.5 8 50.8 43 41
1BFL9-24 G1.1/2"X11 1.1/2" 0225 57.5 79.3 8 60.3 50 48




E=Ek

Flange Coupling

£ &b i Jx

XINDU HYDRAULIC

REIMBEN60°AHE /SAEIZ=6000PSI
BSP MALE 60°CONE SEAT/SAE FLANGE 6000PSI

L
A b
| | <
60° | W A
1BFS
g = 12 4 THREAD Heme O E R <t DIMENSIONS
PART NO. E FLANGE SIZE ORING b D1 L
1BFS-08 G1/2"X14 1/2" 0210 7.75 317 43
1BFS-12 G3/4"X14 3/4" 0214 8.76 413 53.5
1BFS-16 G1"X11 1" 0219 9.53 47.6 60.5
1BFS-20 G1.1/4"X11 1.1/4* 0222 10.29 54 65.5
1BFS-24 G1.1/2"X11 1.1/2" 0225 12.57 63.5 72,5
e - N V'3
90° EEJMEL 60°AiE /SAEXZ=6000PSI
90°BSP MALE 60°CONE SEAT/SAE FLANGE 6000PSI
D1
o !
2]l
w 4L XT»
)&
A
1BFS9
g2 ¥ 4 THREAD HEES O 7 & R~ DIMENSIONS
PART NO. E FLANGE SIZE O RING A B b D1 D2 St
1BFS9-08 G1/2'X14 1/2" 0210 345 39 7.75 317 24 22
1BFS9-12 G3/4"X14 3/4" 0214 40 54.1 8.76 41.3 32 27
1BFS9-16 G1"X11 1" 0219 46 60.2 9.53 476 38 33
1BFS9-20 G1.1/4"X11 1.1/4" 0222 50.5 665 | 10.29 54 44 41
1BFS9-24 G1.1/2"X11 1.1/2" 0225 57.5 793 | 1257 | 635 51 48




E=iEk

Flange Coupling

2FNIRNREN / BRFiE=1S06162-1

METRIC MALE BITE TYPE / L-SERIES FLANGE ISO 6162-1

L1

£ &b i Jx

XINDU HYDRAULIC

IR —— - - 4
© FE ] L l7
’ |
S1
S2
1CFL 1CFL-RN
1DFL 1DFL-RN
g S 24 E EERE EFHMEDT O.E R~ DIMENSIONS ENER
PART NO. | THREAD | FLANGE SIZE TUBEO.D. | O-RING d1 [ 11 L1 St | s2 MPa

1CFL-22-08 | M22X1.5 1/2" 15 0210 302 | 67 M 56 24 | 27 31.5
1CFL-26-12 | M26X1.5 3/4" 18 0214 381 | 673 | 455 | 62 30 | 32 BERH L
1CFL-30-12 | M30X2 3/4" 22 0214 381 | 67 | 455 | 62 32 | 36
1CFL-36-16 | M36X2 1" 28 0219 44.4 8 465 | 63 38 | 41 16
1CFL-45-20 | M45X2 1.1/4" 35 0222 50.8 8 475 | 69 41 | 50 2R L
1CFL-52-24 | M52X2 1.1/2" 42 0225 60.3 8 53 76 46 | 60
1DFL-24-08 | M24X1.5 1/2" 16 0210 302 | 67 | 415 | 60 24 | 30
1DFL-30-12 | M30X2 3/4" 20 0214 381 | 67 | 465 | 68 30 | 36 ;;5 ’
1DFL-36-12 | M36X2 3/4" 25 0214 381 | 673 | 45 69 30 | 46 -
1DFL-42-16 | M42x2 1" 30 0219 44.4 8 495 | 76 3 | 50 s
1DFL-36-20 | M36X2 1.1/4" 25 0222 50.8 8 48 72 41 | 46 28
1DFL-42-20 | M42X2 1.1/4" 30 0222 50.8 8 485 | 75 41 | 50 EEFI
1DFL-52-20 | M52X2 1.1/4" 38 0222 50.8 8 50 81 46 | 60 S
1DFL-52-24 | M52X2 1.1/2" 38 0225 60.3 8 54 85 46 | 60 | 21 RS S

it MEFFERFERSEEITS, WEEKSEM “RN” , 0 1DFL-52-24RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut , it is necessary to insert suffix "RN" after

our part NO., for example 1DFL-52-24RN.




L B 2 8 E

Flange Coupling XINDU HYDRAULIC

AENRG-EER / ER5IEZ IS0 6162-2

METRIC MALE BITE TYPE / H-SERIES FLANGE ISO 6162-2

w
=
|
— L5

S1

S2
1DFS 1DFS-RN
R = 124 E EERS EFHMZE D1| OmE R <t DIMENSIONS FEHER

PART NO. | THREAD | FLANGE SIZE | TUBE O.D. | O-RING d1 I I L1 S1 | s2 MPa
1DFS-24-08 | M24X1.5 1/2" 16 0210 317 | 7.8 | 445 | 63 24 | 30
1DFS-24-12 | M24X1.5 3/4" 16 0214 413 | 88 | 505 | 69 30 | 30
1DFS-30-12 | M30X2 3/4" 20 0214 413 | 88 | 505 | 72 30 | 36 40
1DFS-36-12 | M36X2 3/4" 25 0214 413 | 88 51 75 30 | 46 BRI
1DFS-36-16 | M36X2 1 25 0219 476 | 95 60 81 36 | 46 S
1DFS-42-16 | M42X2 1 30 0219 476 | 95 | 605 | 87 36 | 50
1DFS-42-20 | M42X2 1.1/4" 30 0222 54 | 10.3 | 655 | 92 41 | 50
1DFS-52-20 | M52X2 1.1/4" 38 0222 54 | 10.3 | 67 98 46 | 60 315
1DFS-52-24 | M52X2 1.1/2" 38 0225 635 | 126 | 73 104 | 46 | 60 ERJIS

i MEFFERFERSEEITSE, WEEKSEM “RN” , 0 1DFL-52-24RN,

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut , it is necessary to insert suffix "RN" after
our part NO., for example 1DFL-52-24RN.

‘ﬂ
5



E=Ek

Flange Coupling

90°E 2 HIENFER /ERFiEZ=1506162-1

90°ELBOW METRIC MALE BITE TYPE / L-SERIES FLANGE ISO 6162-1

£ &b i Jx

XINDU HYDRAULIC

d1
q
| N
-
N
- i
| & (M i)
w - = S1
| ) S2 1 11
, L1
1CFL9 1CFL9-RN
1DFL9 1DFL9-RN
rRE HBL4E HEmME EFHMEDI ORI R < DIMENSIONS R ED]
PART NO. THREAD FLANGE SIZE TUBE O.D. O-RING di | 1 L1 L2 S1 S2 MPa

1CFL9-22-08 M22X1.5 172" 15 0210 30.2 6.7 29 44 36 24 27 31.5
1CFL9-26-12 M26X1.5 3/4" 18 0214 38.1 6.7 | 31.5 48 42 30 32 BERIIL
1CFL9-30-12 M30X2 3/4" 22 0214 38.1 6.7 | 33.5 50 42 30 36
1CFL9-36-16 M36X2 1" 28 0219 44.4 8 36.5 53 45 36 41 16
1CFL9-45-20 M45X2 1.1/4" 35 0222 50.8 8 46.5 68 50 41 50 BRIIL
1CFL9-52-24 M52X2 1.1/2" 42 0225 60.3 8 47 70 55) 50 60
1DFL9-24-08 M24X1.5 172" 16 0210 30.2 6.7 | 29.5 48 36 24 30 a5
1DFL9-30-12 M30X2 3/4" 20 0214 38.1 6.7 | 32.5 54 42 30 36 =55
1DFL9-36-12 M36X2 3/4" 25 0214 38.1 6.7 33 57 42 30 46 S
1DFL9-42-16 M42X2 1" 30 0219 44.4 8 36.5 63 45 36 50
1DFL9-36-20 M36X2 1.1/4" 25 0222 50.8 8 43 67 50 41 46 28
1DFL9-42-20 M42X2 1.1/4" 30 0222 50.8 8 43.5 70 50 41 50 EXl
1DFL9-52-20 M52X2 1.1/4" 38 0222 50.8 8 43 74 50 41 60 S
1DFL9-52-24 M52X2 1.1/2" 38 0225 60.3 8 48 79 55 50 60 21ER%S

iE: MEFFERFERSEERITS,

our part NO., for example 1DFL9-52-24RN.

NEERSEFM “RN” , 20 1DFL9-52-24RN,

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut , it is necessary to insert suffix "RN" after




L B 2 8 E

Flange Coupling XINDU HYDRAULIC

90°EHIENRER /ERFiE=1506162-2

90°ELBOW METRIC MALE BITE TYPE / H-SERIES FLANGE ISO 6162-2

d1
M
N
-
7 N
S Ll
m)]
- iV s
| L/ 52 1
] L1
1DFS9 1DFS9-RN
RE EAE RERS EFIMEDT OBl R ~F DIMENSIONS EHER
PART NO. THREAD | FLANGE SIZE TUBEO.D. | O-RING | df I 1 L1 L2 S1 | s2 MPa
1DFS9-24-08 | M24X1.5 1/2" 16 0210 317 | 7.8 | 295 | 48 39 | 24 | 30
1DFS9-24-12 | M24X1.5 3/4" 16 0214 413 | 88 | 365 | 55 48 | 32 | 30
1DFS9-30-12 | MB30X2 3/4" 20 0214 413 | 88 | 355 | 57 48 | 32 | 36 40
1DFS9-36-12 | M36X2 3/4" 25 0214 413 | 88 | 36 60 48 | 32 | 46 EE 3]
1DFS9-36-16 | M36X2 IE 25 0219 476 | 95 | 41 65 60 41 | 46 S
1DFS9-42-16 | M42X2 1" 30 0219 476 | 95 | 415 | 68 60 41 | 50
1DFS9-42-20 | M42X2 1.1/4" 30 0222 54 | 103|445 | 71 68 | 46 | 50
1DFS9-52-20 | M52X2 1.1/4" 38 0222 54 | 10.3 | 45 76 68 | 46 | 60 315
1DFS9-52-24 | M52X2 1.1/2" 38 0225 635 | 12.6 | 56 87 76 | 50 | 60 EZRJS

I MBEBFFERFERSEERITS, WEEKSEM “RN” , 10 1DFS9-52-24RN,

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut , it is necessary to insert suffix "RN" after
our part NO., for example 1DFS9-52-24RN.



E=iEk

Flange Coupling

£ &b i Jx

XINDU HYDRAULIC

EHIORFSIMELN OB FEEZE / BRFiE=IS0 6162-1

ORFS MALE O-RING / L-SERIES FLANGE ISO 6162-1

W T - a l o
A B
)
1FFL
® e 12 47 THREAD EZRS O2E O-RING R~ DIMENSIONS
PART NO. E FLANGE SIZE Eii EZiRFLANGE A B © D L
1FFL-12 1.3/16X12 3/4" 0018 0214 17 6.73 38.1 31.7 45.7
1FFL-16 1.7/16"X12 1" 0021 0219 175 8 44 .4 38 47.8
1FFL-20 1.11/16"X12 1.1/4" 0025 0222 175 8 50.8 43 47
1FFL-24 2"X12 1.1/2" 0029 0225 175 8 60.3 50 49.5
o 4 + o 2l
90°%E EHIORFSHMEL OB E ] / 12 R 51iA=IS0 6162-1
90°ELBOW ORFS MALE O-RING / L-SERIES FLANGE ISO 6162-1
c
—— —
) '
o
|J_
Y
L
J
S1
A
1FFL9
K= 12 47 THREAD EEZRE O B O-RING R ~F DIMENSIONS
PART NO. E FLANGE SIZE Eif E=iRFLANGE A B C D S1
1FFL9-12 1.3/16X12 3/4" 0018 0214 41 541 38.1 31.7 6.73 30
1FFL9-16 1.7/16"X12 1" 0021 0219 44.5 60.2 44 .4 38 36
1FFL9-20 1.11/16"X12 1.1/4" 0025 0222 47.5 66.5 50.8 43 41
1FFL9-24 2"X12 1.1/2" 0029 0225 52 79.5 60.3 50 48




E=iEk

Flange Coupling

£ &b i Jx

XINDU HYDRAULIC

EHORFSHMEN OB EEZE / ERFIIEZ=IS0 6162-2
ORFS MALE O-RING / S-SERIES FLANGE IS0 6162-2

wf +—- - l, O
A B
1FFS
®r e 12 57 THREAD E=ES OF,F O-RING R~ DIMENSIONS

PART NO. E FLANGE SIZE Eif &= imFLANGE A B (¢} D L
1FFS-12 1.3/16X12 3/4" 0018 0214 17 8.76 41.3 32 51.8
1FFS-16 1.7/16"X12 1" 0021 0219 17.5 9.53 47.6 38 57.2
1FFS-20 1.11/16"X12 1.1/4" 0025 0222 17.5 | 10.29 54 44 62
1FFS-24 2"X12 1.1/2" 0029 0225 175 | 1257 | 635 51 66.8

90°Z XHIORFSHMEN OFEFEEEZH / EFRFIiZ=IS0 6162-2
90°ELBOW ORFS MALE O-RING/ S-SERIES FLANGE ISO 6162-2

C
—— —
2D '
o
|J_
%
L
Y,
S1
A
1FFS9
K= 2 47 THREAD EERE O B O-RING R st DIMENSIONS
PART NO. E FLANGE SIZE Eif EZiRFLANGE A B © D L S1
1FFS9-12 1.3/16X12 3/4" 0018 0214 40.3 541 41.3 32 8.76 30
1FFS9-16 1.7/16"X12 1" 0021 0219 445 60.2 47.6 38 9.53 36
1FFS9-20 1.11/16"X12 1.1/4" 0025 0222 47.5 66.5 54 44 10.29 41
1FFS9-24 2"X12 1.1/2" 0029 0225 52 79.3 63.5 51 12.57 48




L B 2 8 E

Flange Coupling XINDU HYDRAULIC

SAE &=/ BigE
SAE FLANGE/WELD TUBE

5 - -] 0
I
L
1FLW
1FSW
K s EEES DXt R~t DIMENSION FEHER
PART NO. FLANGE SIZE di \ D \ I L MPa
3000PS|
1FLW-08-16X2 1/2 16X2 302 16 68 »
1FLW-08-20X2.5 1/2” 20X2.5 20
1FLW-12-25X3 3/4” 25X3 38.1 25 6.8 50
1FLW-16-25X3 1” 25X3 25 34.5
1FLW-16-28X3 1 28X3 444 28 8 50
1FLW-16-30X4 1” 30X4 30
1FLW-16-38X5 1”7 38X5 38
1FLW-20-25X3 1.1/4” 25X3 25
1FLW-20-30X4 1.1/4 30X4 508 30 8 55 27.6
1FLW-20-38X5 1.1/4” 38X5 38
1FLW-20-42X6 1.1/4” 42X6 42
1FLW-24-38X4 1.1/2” 38X4 38
1FLW-24-42X5 1.1/2 42X5 0.3 42 8 57
1FLW-24-45X5 1.1/2” 45X5 45 207
1FLW-24-50X6 1.1/2” 50X6 50 '
1FLW-32-55X5 2 55X5 714 55 06 57
1FLW-32-60X8 2" 60X8 60
1FLW-40-65X6 2.1/2 65X6 84 1 65 96 58 172
1FLW-40-70X7.5 2.1/2” 70X7.5 70
1FLW-48-80X6 3 80X6 1016 80 96 58 138
1FLW-48-90X8 3” 90X8 90
6000PSI
1FSW-08-16X2 1/2 16X2 317 16 78 a4
1FSW-08-20X2.5 1/2” 20X2.5 20
1FSW-12-16X2 3/4” 16X2 16
1FSW-12-20X2.5 3/4” 20X2.5 41.3 20 8.8 38
1FSW-12-25X4 3/4” 25X4 25
1FSW-16-25X3 1” 25X3 25
1FSW-16-30X4 1”7 30X4 47.6 30 9.5 40
1FSW-16-38X5 1” 38X5 38
1FSW-20-25X3 1.1/4” 25X3 25 0
1FSW-20-30X4 1.1/4 30X4 54 30 103 45
1FSW-20-38X5 1.1/4” 38X5 38
1FSW-20-42X6 1.1/4” 42X6 42
1FSW-24-38X5 1.1/2” 38X5 38
1FSW-24-45X6.5 1.1/2 45X6.5 635 45 126 50
1FSW-24-48X8 1.1/2” 48X8 48
1FSW-24-50X8 1.1/2” 50X8 50
1FSW-32-60X8 2 60X8 79.4 60 12.6 58
1FSW-32-60X10 27 60X10 60




E=iEk

Flange Coupling

SAE &=/ BigE
SAE FLANGE/WELD TUBE

£ &b i Jx

XINDU HYDRAULIC

5 - )
I
1FLW-PM
1FSW-PM
® = HEEEE Oxt R~t DIMENSION EHER
PART NO. FLANGE SIZE d1 D | | L MPa
3000PS|
1FLW-08-16X2PM 1/2 16X2 0.2 16 68 »
1FLW-08-20X2.5PM 1/2" 20X2.5 20
1FLW-12-25X3PM 3/4" 25X3 38.1 25 6.8 50
1FLW-16-25X3PM 1" 25X3 25 345
1FLW-16-28X3PM 1 28X3 s 28 o 50
1FLW-16-30X4PM 1” 30X4 30
1FLW-16-38X5PM 17 38X5 38
1FLW-20-25X3PM 1.1/4" 25X3 25
1FLW-20-30X4PM 1.1/4 30X4 0.8 30 o 55 276
1FLW-20-38X5PM 1.1/4" 38X5 38
1FLW-20-42X6PM 1.1/4" 42X6 42
1FLW—24-38X4PM 1.1/2" 38X4 38
1FLW-24-42X5PM 1.1/2 42X5 60.3 42 o 57
1FLW-24-45X5PM 1.1/2" 45X5 45 20,7
1FLW-24-50X6PM 1.1/2" 50X6 50 '
1FLW-32-55X5PM 2" 55X5 55
71.4 9.6 57
1FLW-32-60X8PM 2" 60X8 60
1FLW-40-65X6PM 2.1/2 65X6 641 65 06 55 70
1FLW-40-70X7.5PM 2.1/2" 70X7.5 70
1FLW-48-80X6PM 3 80X6 1016 80 06 58 158
1FLW-48-90X8PM 3" 90X8 90
6000PS|
1FSW-08-16X2PM 1/2 16X2 517 16 8 2
1FSW-08-20X2.5PM 1/2" 20X2.5 20
1FSW-12-16X2PM 3/4” 16X2 16
1FSW-12-20X2.5PM 3/4” 20X2.5 413 20 8.8 38
1FSW—12-25X4PM 3/4" 25X4 25
1FSW-16-25X3PM 1" 25X3 25
1FSW-16-30X4PM 1" 30X4 47.6 30 9.5 40
1FSW-16-38X5PM 1” 38X5 38
1FSW-20-25X3PM 1.1/4" 25X3 25 20
1FSW—20-30X4PM 1.1/4 30X4 5 30 103 45
1FSW—20-38X5PM 1.1/4" 38X5 38
1FSW-20-42X6PM 1.1/4" 42X6 42
1FSW-24-38X5PM 1.1/2" 38X5 38
1FSW-24-45X6.5PM 1.1/2 45X6.5 635 45 126 50
1FSW—24-48X8PM 1.1/2" 48X8 48
1FSW-24-50X8PM 1.1/2" 50X8 50
1FSW-32-60X8PM 2 60X8 0.4 60 126 55
1FSW-32-60X10PM 2" 60X10 60




E11

E=iEk

Flange Coupling

SAE ;= 3000PSI /& §IIRiEE
SAE FLANGE 3000PSI/INCH WELD TUBE

£ &b i Jx

XINDU HYDRAULIC

L
A
A
2
N
o) Q al
1FLW-IN
r= ELBE 12 SME D OR R~ DIMENSIONS
PART NO. FLANGE SIZE WELD TUBE O.D D O RING A D1 D2 L
1FLW-08IN 1/2" 1/2" 0210 7 302 24 26
1FLW-12-08IN 3/4" 1/2" 0214 7 38.1 32 28
1FLW-12IN a/4" 3/4r 0214 7 38.1 32 30
1FLW=16-12IN 1" 3/ar 0219 8.2 44.4 38 30
1FLW-16IN 1" 1 0219 8.2 44.4 38 32
1FLW-20-16IN 1.1/4" i 0222 8.2 50.8 43 32
1FLW-20IN 1.1/4" 1.1/4" 0222 8.2 50.8 43 35
1FLW-24-16IN 1.1/2" i 0225 8.2 60.3 50 37
1FLW-24-20IN 1.1/2" 1.1/4" 0225 8.2 60.3 50 37
1FLW—24IN 1.1/2" 1.1/2" 0225 8.2 60.3 50 40
1FLW-32-20IN 2" 1.1/4" 0228 9.8 71.4 62 37
1FLW-32-24IN z 1.1/2" 0228 9.8 71.4 62 40
1FLW-32IN 2" 2" 0228 9.8 71.4 62 40
SAE i%= 6000 PSI/ZETHIIBIES
SAE FLANGE 6000 PSI/INCH WELD TUBE
L
A
A
|
N
o Q al
1FSW-IN
® = LA 1HEESME D o R < DIMENSIONS
PART NO. FLANGE SIZE WELD TUBE O.D D O RING A D1 D2 L
1FSW-12IN 3/4" 3/4" 0214 8.9 41.3 32 33
1FSW-16IN im 1" 0219 9.6 47.6 38 37
1FSW-20IN 1.1/4" 1.1/4" 0222 10.4 54 44 42
1FSW-20-16IN 1.1/4" i 0222 10.4 54 44 43
1FSW-24IN 1.1/2" 1.1/2" 0225 12.7 63.5 51 45
1FSW-32IN 24 24 0228 12.7 79.4 67 45




E=iEk

Flange Coupling

SEHIJICHMBL 74°5MtE / BRFIIE=ISO 6162-1

JIC MALE 74°CONE / L-SERIES FLANGE ISO 6162-1

£ &b i Jx

XINDU HYDRAULIC

L IERENUT
b ¥ ESLEEVE Q
e IIND; S
e buly e o )
|
1JFL
g2 2 41 THREAD HERE (oF:4::] R <t DIMENSIONS

PART NO. E FLANGE SIZE O RING b D1 L

1JFL-08 3/4"X16 1/2" 0210 6.73 30.2 435
1JFL-08-12 3/4"X16 3/4" 0214 6.73 38.1 45.4
1JFL-10-08 7/8"X14 1/2" 0210 6.73 30.2 48
1JFL-10-12 7/8"X14 3/4" 0214 6.73 38.1 48
1JFL-12-08 1.1/16X12 1/2" 0210 6.73 30.2 49

1JFL-12 1.1/16X12 3/4" 0214 6.73 38.1 50.5
1JFL-12-16 1.1/16X12 1" 0219 8 44.4 52.2
1JFL-16-12 1.5/16"X12 3/4" 0214 6.73 38.1 52

1JFL-16 1.5/16"X12 1" 0219 8 44.4 53.4
1JFL-16-20 1.5/16"X12 1.1/4" 0222 8 50.8 52.2
1JFL-20-16 1.5/8"X12 1" 0219 8 44.4 54.5

1JFL-20 1.5/8"X12 1.1/4" 0222 8 50.8 53.1
1JFL-20-24 1.5/8"X12 1.1/2" 0225 8 60.3 56
1JFL-24-20 1.7/8"X12 1.1/4" 0222 8 50.8 56.5

1JFL-24 1.7/8"X12 1.1/2" 0225 8 60.3 59.2
1JFL-24-32 1.7/8"X12 2" 0228 9.53 71.4 60

1JFL-32 2.1/2"X12 2o 0228 9.53 71.4 66.3

i BERFAEERTIIR, EFERE D AR, RABRSRAESAEANB20. NB500, EFEEAXFN, EABBRHMESHIE
FINB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve

NB300 is suitable for inch tube.

E12



L B 2 8 E

Flange Coupling XINDU HYDRAULIC

A5°Z ] JICHMBEL 74°5hiE / BRFIE=1S0 6162-1

45°ELBOW JIC MALE 74°CONE / L-SERIES FLANGE I1SO 6162-1

0
07
6 IZRENUT
- < HEESLEEVE e
J SRS~
e (=g S m—
A ]\si
1JFL4
= #2 47 THREAD HEERE O HHE R st DIMENSIONS
PART NO. E FLANGE SIZE O RING A B b D1 D2 St
1JFL4-08 3/4"X16 1/2" 0210 27 37 6.73 30.2 24 19
1JFL4-10-08 7/8"X14 1/2" 0210 31 37 6.73 30.2 24 22
1JFL4-10-12 7/8"X14 3/4" 0214 32 40.1 6.73 38.1 31.7 27
1JFL4-12 1.1/16"X12 3/4" 0214 35.5 40.1 6.73 38.1 31.7 27
1JFL4-12-16 1.1/16"X12 1" 0219 37.5 47 8 44.4 38 33
1JFL4-16 1.5/16"X12 1" 0219 38.5 47 8 44.4 38 33
1JFL4-16-12 1.5/16"X12 3/4" 0214 38.5 42 6.73 38.1 31.7 33
1JFL4-16-20 1.5/16"X12 1.1/4" 0222 42 51.8 8 50.8 43 41
1JFL4-20 1.5/8"X12 1.1/4" 0222 435 51.8 8 50.8 43 41
1JFL4-20-16 1.5/8"X12 1" 0219 43 51 8 44.4 38 41
1JFL4-20-24 1.5/8"X12 1.1/2" 0225 46 60.5 8 60.3 50 48
1JFL-24-20 1.7/8"X12 1.1/4" 0222 49 54 8 50.8 43 48
1JFL4-24 1.7/8"X12 1.1/2" 0225 49 60.5 8 60.3 50 48
1JFL4-32 2.1/2"X12 2" 0228 58 76.2 9.53 71.4 62 63

it BERWEERTITH, EFHEED AN, RABSRIESAIEANB200. NB500, EFHEARHN, RABSRFAES %
FAINB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



L B 2 8 E

Flange Coupling XINDU HYDRAULIC

90°Z5EHl JICHMRL 74°5hfE / BRFIIE=ISO 6162-1

90°ELBOW JIC MALE 74°CONE / L-SERIES FLANGE ISO 6162-1

IERINUT

‘ ¥ 4#5SLEEVE N

74°N f;m— —J o —}— 1

-

A
1JFL9
r= #2 47 THREAD EERS O FE R <t DIMENSIONS
PART NO. E SIZE O RING A B b D1 D2 S1
1JFL9-08 3/4"X16 1/2" 0210 325 44 6.73 30.2 24 19
1JFL9-08-12 3/4"X16 3/4" 0214 38 54.1 6.73 38.1 31.7 27
1JFL9-10-08 7/8"X14 1/2" 0210 37.5 44 6.73 30.2 24 22
1JFL9-10-12 7/8"X14 3/4" 0214 41 54.1 6.73 38.1 31.7 27
1JFL9-12 1.1/16"X12 3/4" 0214 44.5 54.1 6.73 38.1 31.7 27
1JFL9-12-16 1.1/16"X12 1" 0219 48 60.2 8 44.4 38 33
1JFL9-16 1.5/16"X12 1 0219 49 60.2 8 44.4 38 33
1JFL9-16-12 1.5/16"X12 3/4" 0214 49 58 6.73 38.1 31.7 33
1JFL9-16-20 1.5/16"X12 1.1/4" 0222 54 66.5 8 50.8 43 41
1JFL9-20 1.5/8"X12 1.1/4" 0222 55.5 66.5 8 50.8 43 41
1JFL9-20-16 1.5/8"X12 1" 0219 55.5 65 8 44.4 38 41
1JFL9-20-24 1.5/8"X12 1.1/2" 0225 60 79.3 8 60.3 50 48
1JFL9-24 1.7/8"X12 1.1/2" 0225 62.5 79.3 8 60.3 50 48
1JFL9-24-20 1.7/8"X12 1.1/4" 0222 62.5 75.5 8 50.8 43 48
1JFL9-24-32 1.7/8"X12 2" 0228 74.5 108 9.53 71.4 62 63
1JFL9-32 2.1/2"X12 2" 0228 80 108 9.53 71.4 62 63

it BERWEERTITHE, EFHEED AAHIN, EABSRFAESFIEANB200. NB500, EFHEARHN, KABTRFAES %
FAINB200, NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.

E14



E15

E=iEk

Flange Coupling

EHIICHMBELL 74°4b 4 / ERFIXZ=IS0 6162-2

JIC MALE 74°CONE / S-SERIES FLANGE 1SO 6162-2

£ &b i Jx

XINDU HYDRAULIC

L $BEENUT
b #ESLEEVE
&
wssdIIHY; Rt
ra- pul 3 SN o
1JFS
RE= 12 47 THREAD EERE O Bl R ~F DIMENSIONS

PART NO. E FLANGE SIZE O RING b D1 L

1JFS-08 3/4"X16 1/2" 0210 7.75 31.7 47.5
1JFS-10-08 7/8"X14 1/2" 0210 7.75 31.7 50
1JFS-10-12 7/8"X14 3/4" 0214 8.76 41.3 55

1JFS-12 1.1/16"X12 3/4" 0214 8.76 41.3 56.7
1JFS-12-16 1.1/16"X12 1 0219 9.53 47.6 61.5
1JFS-16-12 1.5/16"X12 3/4" 0214 8.76 41.3 57.8

1JFS-16 1.5/16"X12 1" 0219 9.53 47.6 62.8
1JFS-16-20 1.5/16"X12 1.1/4" 0222 10.29 54 67.7
1JFS-20-16 1.5/8"X12 1" 0219 9.53 47.6 64

1JFS-20 1.5/8"X12 1.1/4" 0222 10.29 54 68.9
1JFS-20-24 1.5/8"X12 1.1/2" 0225 12.57 63.5 73.5
1JFS-24-20 1.7/8"X12 1.1/4" 0222 10.29 54 72

1JFS-24 1.7/8"X12 1.1/2" 0225 12.57 63.5 76.7

i BERAEFESTIT
FA NB200. NB300,

-L’.
J\O

EFHE D ARHE, GRABEBRAESE

FANB200. NB500, &FHEZEAEGHE, RABRBRHESS K

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



L B 2 8 E

Flange Coupling XINDU HYDRAULIC

A5°ZEH] JICHMBEL 74°5hiE / ERFE=1S0 6162-2

45°ELBOW JIC MALE 74°CONE / S-SERIES FLANGE ISO 6162-2

JERENUT

wwil] £ ]
74 > Q ]

1JFS4
= 12 &7 THREAD sExme O & R st DIMENSIONS
PART NO. E FLANGE SIZE O RING A B b D1 D2 S1
1JFS4-08 3/4"X16 1/2" 0210 27 38 775 | 317 24 19
1JFS4-10-08 7/8"X14 1/2" 0210 31 39 775 | 317 24 22
1JFS4-10-12 7/8"X14 3/4" 0214 325 401 | 876 | 413 | 317 27
1JFS4-12 1.1/16"X12 3/4" 0214 35.5 401 | 876 | 41.3 32 27
1JFS4-12-16 1.1/16"X12 1" 0219 37.5 47 9.53 | 476 38 33
1JFS4-16 1.5/16"X12 1" 0219 38.5 47 9.53 | 47.6 38 33
1JFS4-16-12 1.5/16"X12 3/4" 0214 38.5 45 876 | 413 | 317 33
1JFS4-16-20 1.5/16"X12 1.1/4" 0222 42 52 1029 | 54 44 4
1JFS4-20 1.5/8"X12 1.1/4" 0222 43 52 10.29 54 44 41
1JFS4-20-16 1.5/8"X12 1" 0219 43 52 9.53 | 47.6 38 4
1JFS4-20-24 1.5/8"X12 1.1/2" 0225 46 60.5 | 1257 | 635 51 48
1JFS4-24 1.7/8"X12 1.1/2" 0225 49 60.5 | 1257 | 63.5 51 48

i BEERAEESHITITHR, EFHRE D AXKN, BEABESRAESHIERANB200. NB500, EFEHEAXFN, BEABRSRAESE
A NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB50O0 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



L B 2 8 E

Flange Coupling XINDU HYDRAULIC

90°Z5EHl JICHMRL 74°5MfE / ERFE=ISO 6162-2

90°ELBOW JIC MALE 74°CONE / S-SERIES FLANGE ISO 6162-2

%[ T
D2
@ IZRENUT
‘ #2SLEEVE
74“(>@ ’;["7"[7’ )L o +—f{— - -
s1 —'P:::(
A
1JFS9
® = #2 47 THREAD EERS (oFA:| R <t DIMENSIONS

PART NO. E FLANGE SIZE O RING A B b D1 D2 S1

1JFS9-08 3/4"X16 1/2" 0210 325 44 775 | 317 24 19
1JFS9-10-08 7/8"X14 1/2" 0210 37.5 46 775 | 31.7 24 22
1JFS9-10-12 7/8"X14 3/4" 0214 41 54.1 8.76 | 41.3 32 27

1JFS9-12 1.1/16"X12 3/4" 0214 442 | 541 | 876 | 41.3 32 27
1JFS9-12-16 1.1/16"X12 1 0219 48 60.2 9.6 47.6 38 33

1JFS9-16 1.5/16"X12 1 0219 49 60.2 | 9.53 | 47.6 38 33
1JFS9-16-12 1.5/16"X12 3/4" 0214 49 57 876 | 41.3 32 33
1JFS9-16-20 1.5/16"X12 1.1/4" 0222 54 66.5 | 10.29 | 54 44 41

1JFS9-20 1.5/8"X12 1.1/4" 0222 555 | 66.5 | 1029 | 54 44 41
1JFS9-20-16 1.5/8"X12 1" 0219 55.5 65 953 | 47.6 38 4
1JFS9-20-24 1.5/8"X12 1.1/2" 0225 595 | 79.3 | 1257 | 63.5 51 48

1JFS9-24 1.7/8"X12 1.1/2" 0225 625 | 79.3 | 1257 | 635 51 48
1JFS9-24-20 1.7/8"X12 1.1/4" 0222 62.5 70 1029 | 54 44 48

E: BEEAESESHITITHR, EFEHRE D AXHN, EAZSRERAESHIERANB200. NB500, EFEEARTN, GRABRSRAESHE
A NB200. NB300,

Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve
NB300 is suitable for inch tube.



L B 2 8 E

Flange Coupling XINDU HYDRAULIC

SAE iZ=1fk
SAE FLANGE PLUG

7

<
—
4FL
4FS
® 5 RERS R <t DIMENSIONS FEHER
PART NO. FLANGE SIZE d1 d2 L I MPa
3000PSI
4FL-08 1/2" 30.2 24 16 6.8
4FL-12 3/4" 38.1 315 17 6.8 34.5
4FL-16 1 444 38 17
4FL-20 1.1/4" 50.8 43 17 8 27.6
4FL-24 1.1/2" 60.3 50 19 00.7
4FL-32 2" 71.4 62 19 9.6
4FL-40 2.1/2" 84.1 74 40 9.6 17.2
4FL-48 3" 101.6 90 45 9.6 13.8
4FL-56 3.1/2" 114.3 102 30 11.3
4FL-64 4" 127 114 36 11.3 3.4
4FL-80 5" 152.4 140 45 11.3
6000PSI
4FS-08 1/2" 31.8 24 18 7.8
4FS-12 3/4" 413 32 18 8.8
4FS-16 1 47.6 38 18 9.5
4FS-20 1.1/4" 54 44 18 10.3 42
4FS-24 1.1/2" 63.5 51 20 12.6
4FS-32 2" 79.4 67 30 12.6




E=iEk

Flange Coupling

£ &b i Jx

XINDU HYDRAULIC

SAE &=
SAE FLANGE
L
|
% &_ _‘5
1 T
4FL-M
4FS-M
® 5 RERS R <t DIMENSIONS EHER
PART NO. FLANGE SIZE d1 d2 L I MPa
3000PSI

4FL-08M 1/2" 30.2 24 16 6.8

4FL-12M 3/4" 38.1 315 17 6.8 34.5
4FL-16M 1 444 38 17

4FL-20M 1.1/4" 50.8 43 17 27.6
4FL-24M 1.1/2" 60.3 50 19 00.7
4FL-32M 2" 71.4 62 19 9.6

4FL-40M 2.1/2" 84.1 74 40 9.6 17.2
4FL-48M 3" 101.6 90 45 9.6 13.8
4FL-56M 3.1/2" 114.3 102 30 11.3

4FL-64M 4" 127 114 36 11.3 3.4
4FL-80M 5" 152.4 140 45 11.3

6000PSI

4FS-08M 1/2" 31.8 24 18 7.8

4FS-12M 3/4" 413 32 18 8.8

4FS-16M 1 47.6 38 18 9.5

4FS-20M 1.1/4" 54 44 18 10.3 42
4FS-24M 1.1/2" 63.5 51 20 12.6

4FS-32M 2" 79.4 67 30 12.6




L B 2 8 E

Flange Coupling XINDU HYDRAULIC

SAE MFHiE=%

SAE SPLIT FLANGE CLAMP

_h
FL
FS

K = RERE R~ DIMENSIONS it A EHER

PART NO. FLANGE SIZE A B d h M N 248 MPa
3000PS|

FL-08 1/2" 54 45.6 9 6.2 38.1 17.5 M8X25

FL-12 3/4" 65 51.8 11 6.2 476 222 M10X30 34.5

FL-16 1 70 58.4 11 75 52.4 26.2 M10X30

FL-20 1.1/4" 79 72.6 11 75 58.7 30.2 M10X30 27.6

FL-24 1.1/2" 94 82.2 13.5 7.5 69.9 35.7 M12X35 0.7

FL-32 2" 102 96.4 135 9 77.8 429 M12X35

FL-40 2.1/2" 114 108.2 13.5 9 88.9 50.8 M12X40 17.2

FL-48 3" 135 130.6 175 9 106.4 61.9 M16X50 13.8

6000PSI

FS-08 1/2" 56 47.2 9 7.2 40.5 18.2 M8X30

FS-12 3/4" 71 60 11 8.2 50.8 23.8 M10X35

FS-16 1 81 69.6 13.5 9 57.2 27.8 M12X45 "

FS-20 1.1/4" 95 772 135 9.8 66.6 31.8 M12X45

FS-24 1.1/2" 113 95 17.5 12 79.3 36.5 M16X55

FS-32 2o 133 113.8 22 12 96.8 445 M20X70

A 35, 45 i

E20



L B 2 8 E

Flange Coupling XINDU HYDRAULIC

SAE iZ=3%¢
SAE FLANGE CLAMP

_h
FL-W
FS-W
K = prith= R =t DIMENSIONS it EOER
PART NO. FLANGE SIZE A B d h M N 12 MPa
3000PSI

FL-08W 1/2" 54 45.6 9 6.2 38.1 17.5 M8X25

FL-12W 3/4" 65 51.8 11 6.2 476 222 M10X30 34.5
FL-16W 1 70 58.4 11 7.5 52.4 26.2 M10X30

FL-20W 1.1/4" 79 72.6 11 75 58.7 30.2 M10X30 27.6
FL-24W 1.1/2" 94 82.2 13,5 7.5 69.9 35.7 M12X35 207
FL-32W 2" 102 96.4 135 9 77.8 429 M12X35

FL-40W 2.1/2" 114 108.2 13.5 9 88.9 50.8 M12X40 17.2
FL-48W 3" 135 130.6 175 9 106.4 61.9 M16X50 13.8

6000PS|

FS-08W 1/2" 56 47.2 9 7.2 405 18.2 M8X30

FS—12W 3/4" 71 60 11 8.2 50.8 23.8 M10X35

FS-16W 1" 81 69.6 13.5 9 57.2 27.8 M12X45 "
FS—20W 1.1/4" 95 772 135 9.8 66.6 31.8 M12X45

FS-24W 1.1/2" 113 95 17.5 12 79.3 36.5 M16X55

FS-32W 2" 133 113.8 22 12 96.8 44.5 M20X70




B hnEE#l

Information

£ &b i Jx

XINDU HYDRAULIC

#H#F Seal
d
¢—»| o d N
P D »
I~ gl
O [&l O-Ring 2 4 ¥ Bonded Seal
DIN 24" ¢ 522 R 5O Bl Z £ HOR Bl SAEX:=RHOKE
For Din 24° Cone O-Ring L.T. For SAE Flange O-Ring
OJ B X = [P ¥4g d b BrAME O [ 1% = hERE d b
PARTNO. | THREAD TUBE O.D. PARTNO. | FLANGE SIZE
004.5X1.5 | M12X1.5 | 45 | 1.5 6 0210 172 18.64 3.53
006.5X1.5 | M14X1.5 | 65 | 1.5 8 0214 3/4” 24.99 3.53
008.0X1.5 | M16X1.5 | 80 | 1.5 10 0219 17 32.92 3.53
010.0X1.5 | M18X1.5 | 10.0 | 1.5 12 0222 1.1/4” 37.69 3.53
012.0X2.0 | M22X1.5 | 12.0 | 2.0 15 0225 1.1/2” 47.22 3.53
015.0X2.0 | M26X1.5 | 150 | 2.0 18 0228 27 56.74 3.53
015.0X2.0 | M27X1.5 | 15.0 | 2.0 18 0232 2.1/4” 69.44 3.53
020.0X2.0 | M30X2 | 20.0 | 2.0 22
026.0X2.0 | M36X2 | 26.0 | 2.0 28
032.0X2.5 | M45x2 | 32.0 | 2.5 35
038.0X2.5 M52X2 38 2.5 42 JISi% = FHOME For JIS Flange O-Ring
opmMinE | wms ; .
PARTNO. | FLANGE SIZE
0212 5/8” 21.82 3.53
DIN 24" #:5 R 5O Bl % £t O
ForDin 24 Cone O-RingH.T. S8 SMB SIOF B % 53 5k FIOTY B
OJ% 8 1% = 1438 d b BT For BSP Male O-Ring
PARTNO. | THREAD TUBE O.D. — —
004.5X1.5 | M14X1.5 | 45 | 1.5 6 (P)X’frﬁ; FLfNE%J;ZE d b
OEE | Wie | 65 | 18 2 0111 G1/4"X19 10.77 2.62
008.0X1.5 | M18X1.5 | 80 | 1.5 10 o113 G3/8X19 1394 > 62
010.0X1.5 | M20X1.5 | 10.0 | 1.5 12 o115 12X 14 712 > 62
011.0X2.0 | M22X1.5 | 11.0 | 2.0 14 5910 GE/EX19 1918 v
013.0X2.0 | M24X1.5 | 13.0 | 2.0 16 o119 G3/ax14 0347 ) 62
016.3X2.4 | M30X2 | 16.3 | 2.4 20 0217 STeF 2074 353
CEYDBs | RS | 20Y | 24 29 0222 G1.1/4"X11 37.69 3.53
025.3X2.4 | M42x2 | 253 | 24 30 0224 G1.1/2"X11 |  44.04 3.53
033.3X2.4 | M52X2 | 333 | 2.4 38 0139 G211 ” s




B hnEE#l 2oPiRE

Information XINDU HYDRAULIC

EFIORFSHME L FHOH Bl % £ HOF B EFISAESMNEL O B % i # 3 AOHE
For ORFS Male O-Ring For SAE Male O-Ring
OJ% [ {5 IR 4 p b OJF [ 1t 5 MR &L d b
PART NO. THREAD PART NO. THREAD
0011 9/16"X18UNF 7.65 1.78 0904 7/16"X20UNF 8.92 1.83
0012 11/16"X16UN 9.25 1.78 0905 1/2"X20UNF 10.52 1.83
0014 13/16"X16UN 12.42 1.78 0906 9/16"X18UNF | 11.89 1.98
0016 1"X14UNSF 15.6 1.78 0908 3/4"X16UN 16.36 2.21
0018 1.3/16"X12UN 18.77 1.78 0910 7/8"X14UNF 19.18 2.46
0021 1.7/16"X12UN | 23.52 1.78 0912 1.1/16"X12UN |  23.47 2.95
0025 1.11/16"X12UN | 29.87 1.78 0914 1.3/16"X12UN |  26.62 2.95
0029 2"X12UN 37.82 1.78 0916 1.5/16"X12UN | 29.74 2.95
0920 1.5/8"X12UN 37.46 3.00
0924 1.7/8"X12UN 43.69 3.00
FENIZELH60 5MEFRORE 0932 2.1/2"X12UN | 5936 3.00
For BSP Female 60" Cone O-Ring
OJ¢ M {1t 5 B d b
PART NO. THREAD
o171 G3/4"X14 171 1.6 ANRmEEIHAEEE Bonded Seal
0221 G1"X11 22.1 1.6 S— -
0291 G1.1/4"X11 29.1 1.6 g}:}Rﬁ; TH%‘?AD d b
0351 G1.1/2"X11 35.1 1.6 ZHD-10 | M10. G1/8” 104 16
ZHD-14 | M14. G1/4” 14.4 20
ZHD-16 M16 16.4 22
K E#e Sk FHOM B For Waterwasho O-Ring ZHD-18 | M18. G3/8” 18.4 25
O ML B B ; . ZHD-22 | M22. G1/2” 22.5 30
PART NO. THREAD ZHD-24 M24 24.5 32
010.0X2.0 M22X1.5 10.0 2.0 ZHD-27 | M27. G3/4” 27.5 35
ZHD-30 M30 30.5 38
ZHD-33 M33. G1” 33.5 42
ZHD-36 M36 36.6 46
SAE# R#sk OB ZHD-42 | M42, G1.1/4” | 42.6 53
For SAE Staplelok O-Ring ZHD-45 M45 456 56
OJE B S B ks d b ZHD-48 | M48. G1.1/2” 48.7 60
PARTNO. | FITTING SIZE ZHD-52 M52 527 66
006.0X2.0 -04 6.0 2.0 ZHD-60 M60. G2” 60.7 75
010.0X2.0 -06 10.0 2.0
013.0X2.5 -08 13.0 2.5
019.0X2.5 -12 19.0 2.5
025.0X2.5 -16 25.0 2.5
033.0X2.5 -20 33.0 2.5
040.0X3.0 -24 40.0 3.0
050.0X3.0 -32 50.0 3.0




B hnEE#l

Information

£ &b i Jx

XINDU HYDRAULIC

T |
T
3l SR 5L RT3 (5] A i FAOF B d
For Metric Male Adjustable Stud End O-Ring D
O R 5 I 2 N .
PARTNO. | THREAD ¢ 2 fii#  Captive
006.1X1.6 M8X1 6.1 1.6
008.1X1.6 M10X1 10.0 2.0 i AR R 2L d D H
PART NO. THREAD
009.3X2.4 M12X1.5 9.3 2.4
WD-B02 G1/8"X28 8.4 11.9 1.0
011.3X2.4 M14X1.5 11.3 2.4
WD-B04 G1/4"X19 1.6 | 16.5 1.5
013.3X2.4 M16X1.5 13.3 2.4
WD-B06 G3/8"X19 14.7 | 18.9 1.5
015.3X2.4 M18X1.5 15.3 2.4
WD-B08 G1/2"X14 18.5 | 23.9 1.5
017.3X2.4 M20X1.5 17.3 2.4
WD-B12 G3/4"X14 23.9 | 292 1.5
019.3X2.4 M22X1.5 19.3 2.4
WD-B16 G1"X11 29.7 | 35.7 2.0
021.3X3.0 M24X1.5 21.3 3.0
WD-B20 G1.1/4"X11 38.8 | 45.8 2.0
023.5X3.0 M26X1.5 23.5 3.0
WD-B24 G1.1/2"X11 | 44.7 | 50.7 2.0
023.5X3.0 M27X2 23.5 3.0
WD-B02 M10X1 8.4 11.9 1.0
026.5X3.0 M30X2 26.5 3.0
WD-M12 M12X105 9.8 14.4 1.5
029.5X3.0 M33X2 29.5 3.0
WD-B04 M14X1.5 1.6 | 16.5 1.5
038.5X3.0 M42X2 38.5 3.0
WD-M16 M16X1.5 13.8 | 18.9 1.5
044.5X3.0 M48X2 44.5 3.0
WD-M18 M18X1.5 15.7 | 20.9 1.5
056.2X3.0 M60X2 56.2 3.0
WD-M20 M20X1.5 17.8 | 22.9 1.5
WD-M22 M22X1.5 19.6 | 24.3 1.5
WD-B12 M26X1.5 239 | 29.2 1.5
‘ WD-B12 M27X2 239 | 29.2 1.5
Il ’ WD-B16 M33X2 29.7 | 35.7 1.5
d WD-B20 M42X2 38.8 | 45.8 2.0
D WD-B24 M48X2 44.7 | 50.7 2.0
EhRERER
Copper Seal For Pressure Gauge
A g b ’ =
PART NO. q
DP-B04G 11 2
DP-B08G 18 2 D
EARMER
DKI Pressure Gauge
BERE
PART NO. d D H
DP-B04DK 1.3 4.5
DP-B08DK 12 18.5 5




Bt hn =4 =86 E

Information XINDU HYDRAULIC

ELZEEFRKX Connection

1EPFRIESLEAIEIEBIT GB Connection
1.1 74" $EEZEIR 74° Cone Seal (GB/T 9065.1)

RE AN E [ ¥4 Rk R 254 Fic FH 3o 3 42 5k & 1) 2% 461 B b5
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
5 M12X1.5
AN SR B Sk JC FH A 08 it 9 2 3k
6 A1 Male:10711%% Female:2Q. 2Q9%%
8 M16X1.5
10 M18X1.5
PR A A Sk T FH A W2 20 ok 0 % sk
12 M22X1.5 Female:20711. 20741. | Male:1Q. 1QH. 1QH9-OG.
16 M27X1.5 20791, 20712, 20742, | 6Q9. AQHQ-0G. 1QG.
20 M33X2 20792%% 1QG9-GO. 1QN&
22 M36X2
25 M39X2
82 M45X2

1.2 OB FEZIEL O-Ring Flat Seal (GB/T 9065.3)

RE AN [ ¥38 TR B Sk R B 254 Fic FH 3 3 2 5k & 1) 2% 461 P b
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE

5 M12X1.25

6 M14X1.5
AN LR B Sk JiC FH PN 08 st 9 42 3k

8 M16X1.5 Male:10311%% Female:2E9. 9E%%

10 M18X1.5

12 M22X1.5 . V) N\
P B BT 148 6 B \ /1

16 M27X1.5 Female:20211. 20241, | Male:1E. 1EH9-OG. 6E.

20 M30X1.5 20291, 20212, 20242, | AEHE-0G. 1EG. 1ET-SP. l‘ :4_}

22 M36X2 20292% 1EN%

25 M39X2

32 M42X2

40 M52X2

50 M64X2




B hnEE#l

Information

27=EDIN{REBLEEIZ DIN Connection

2.1 BRERITEEZIIEI Conpression Fitting (DIN 2353)

£ &b i Jx

XINDU HYDRAULIC

2 1 55 49 3 o U S
Bl gwanme | B T HAED Gliit s BRI Cs 2s Fa
AT 6SE DN THREAD TUBE O.D R B 7 515 6 FIGURE
Mpa 2 | HOSEFITTING MATING ADAPTER
5 M12X1.5 6
A S Sk WL B B T A% I T FE 4
6 M14X1.5 8
Male:10411. 10412 | JHRL. K& ENLEKEIBEREF
L 8 M16X1.5 10 s T
% 10 M18X1.5 12
ﬁL'J 12 M22X1.5 15 AR 5K BRLEE . NLEEB R, 4
16 M26X1.5 18 Standpipe:50011. WRZC g Bk, Bk w1C,
20 M30X2 22 50041, 5009145 () 1CG. 1CB. 1C0O%,
% 75
25 M36X2 28
{\
32 M45X2 35 ! %‘i
-1 al 24
40 M52X2 42 / N
5 M16X1.5 8 —
: T— 0 AR B B e Sk WL R B T 4% 1 T 4
Male:10511. 10512.| JIIRS. K7 EKNSkKEIRFEF
8 M20X1.5 12 10513% JE Bz
g 10 M22X1.5 14
&
/S'J 12 M24X1.5 16 A MRS F#. NSE&#2 . 4
16 M30X2 20 Standpipe:50011. YRG0 Bk, Bk D,
20 M36X2 25 50041. 5009141 | 1DG. 1DB. 1DO%.
25 M42X2 30 ERA.
32 M52X2 38




B hnEE#l

Information

£ &b i Jx

XINDU HYDRAULIC

2.2 Fi24° #EINOFEZEIBIR 24° Cone O-Ring Seal (DIN 3865)

B0\ wwamne | Ba T H#D K&k e I 38 e
AA0 T OSE DN THREAD | TUBEO.D R % B2 B FIGURE
Mpa D HOSEFITTING MATING ADAPTER
5 M12X1.5 6
B VLG s SR 20 2 P P 033
: Male:10411. 10412 Female:2C. 2BC. 2C9. 3C.
L 8 M16X1.5 10 s BC
% 10 M18X1.5 12
ﬁl_” 12 M22X1.5 15 P B B B T 482 65 B
16 M26X1.5 18 Female:20411. Male: 1C. 1CG. 1CB. 1CO.
20 M30X2 29 20441, 2049141 AC. ACCO-0G%:,
% 75
25 M36X2 28 )
@
32 M45X2 35 ! N
T 24° i
40 M52X2 42 J
5 M16X1.5 8
5 M18X1 5 10 SR BB P P 82 500 9 2
Male:10511. 10512.| Female:2D. 2BD. 2D9. 3D.
8 M20X1.5 12 105137 B0
% 10 M22X1.5 14
5i 12 M24X1.5 16
A WERLURTTE S | RSB S
16 M30X2 20 Female:20511. Male: 1D. 1DG. 1DB. 1DO.
20 M36X2 25 20512, 20541. AD. ADDO-OG%;,
25 M42X2 30 20591, 2059244
32 M52X2 38




B hnEE#l

Information

2.3 FEkES24° =R, Multiseal To 24° Cone

£ &b i Jx

XINDU HYDRAULIC

ol wwamnie | Bg BT H D s LA B 25 o £
AT 6SE DN THREAD | TUBEO.D RN 515 FIGURE
Mpa D HOSEFITTING MATING ADAPTER
5 M12X1.5 6
5 M14X15 s P 42 50 B S P P 033
- Female:20411C. Male:1C. 1CG. 1CB. 1CO.
o 8 M16X1.5 10 20441C. 20491C% | AC. ACCO-0G%
% 10 M18X1.5 12
5| 12 M22X1.5 15
L 16 M26X1.5 18
20 M30X2 22
25 M36X2 28
32 M45X2 35
40 M52X2 42
5 M16X1.5 8
5 M18X1.5 10 1 98 S 4 3K P 033 3
Female:20511C. Male:1D. 1DG. 1DB. 1DO.
8 M20X1.5 12 20512C. 20541C. | AD. ADDO-OG%
g 10 M22X1.5 14 20591C. 20592C%%
5l 12 M24X1.5 16
S 16 M30X2 20
20 M36X2 25
25 M42X2 30
32 M52X2 38

2.4 IERBEHFE Banjo Bonded Seal (DIN 7642, DIN 7643)

WO AR B4 7 HAD ’*;;fﬁjﬁﬁ ﬁﬂg%ﬁﬁ* F
N . EY IR EX IR
R B Ual=ny TUBEO.D. | LOSEFITTING | MATING ADAPTER Pl
5 M10X1 10.1
5 V1215 121 W ICTO0N S | R ke
. : Bolt:700M
8 M14X1 .5 14.1
10 M16X1.5 16.1 Ll I
- w
12 M18X1.5 18.1 I
16 M22X1 .5 22.1
20 M26X1.5 26.1
25 M30X1.5 30.1




B hnEE#l

Information

£ &b i Jx

XINDU HYDRAULIC

3EEELEXIEBIT American Thread Type
3.1 F360° {EEHBaZEIEI= 60° Tappered Thread Seal (SAE J514)

WE AN RE [ ¥4 Rk R 254 Fic FH 3o 3 42 5k & 1) 2% 461 b5
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
4 Z1/8"X27
6 Z1/4"X18
10 23/8"X18 ,\ S 3. Eemwdﬂ%é}(ﬁi}i%y\
- ﬁiﬁ;ﬁ%gmzﬁ Female:7N. 7N9-PK.
12 Z1/2"X14 : . A 77/1 |
20 Z3/4"X14 |
25 Z1"X11.5 E<
32 Z1.1/4"X11.5
40 Z1.1/2"X11.5
50 72'X11.5

3.2 74° AT LRI 74° Cone Seal (SAE J514)

WA AR [0 WO B2 3k R B 241 e FH 3ok 9 % 3k 7 471 25 1) P A
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
4 5/16"-24
5 3/8"-24
5 7/116"-20 SMR BB B R I 4 503 S
Male:16711. 16712% Female:2J, 2J9%
8 1/2"-20
10 9/16"-18
12 3/4"-16 PR A Sk ict i3 A R ik 9 4% Sk
Female:26711. 26741, | Male:1J. 1JH. 1J09-0OG.
16 7/8"-14 26791, 26712, 26742, | AJOJ-OG. 1JO. 1J09-OG.
20 1.1/16"-12 267924 1IN%
25 1.5/16"-12
32 1.5/8"-12
40 1.7/8"-12
50 2.1/2"-12

3.3 OB FEZE AR, O-Ring Flat Seal (SAE J1453)

WA NFRN [0 RO Sk R 5 25 451 i 3k 9 3% 3k &R 125 4 P A
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
6 9/16"-18
G 616 | SMBLUKEEk LI P 8 303 S
Male:14211%% Female:2F. 2F9. CF%%

12 13/16"-16 % = %
16 1"-14 \ ﬁ

" PR SR A Sk fict F b g 50t v 2 Sk
20 1.3/16"-12 Female:24211., 24241, Male:1F. 1FO. 1F09-0G. u
25 1.7/16"-12 24291, 24212% AFFO-0G%
32 1.11/16"-12
40 DA%




B hnEE#l

Information

3.4 90" SEEZEEIZ 90° Cone Seal (SAE J513)

£ &b i Jx

XINDU HYDRAULIC

WE AN 218 RO B Sk R B 254 T P ek 9 42 Sk R 4] 28 451 P b
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE

6 7/16"-20
. YR SR Sk fict F P9 g a0 v 2 Sk

2 Uiz =20 Male:17811%¢ Female:2P%%

10 5/8"-18 4 .

12 3/4"-16 P BRI B S R T 51 08 S0 32 3 <g> i
. Feale:27811. 27841. Male:4P%5

16 7/8"-14 27891

20 1.1/16"-12

3.5 NAEIHEOFBZEEIR, O-Ring Boss Seal (SAE J1926)

REAH R WE 2 Ak R 2541 WCFH oo 9 2 Sk & 7 25 4 SRS
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
4 5/16"-24
5 3/8"-24
A 116"20 SRR Sk P P 82 50 90 2 3
Male: 1601145 Female:50%
8 1/2"-20
10 9/16"-18
12 3/4"-16
16 7/8"-14
20 1.1/16"-12
25 1.5/16"-12
32 1.5/8"-12
40 1.7/8"-12
50 2.1/2"-12
3.6 FAO EEIRIN Atk Staple-Lok Coupling
WEAT | kb B e X -
EE FITTING J K Z 5 25451 R 25 451 FIGURE
HOSEDN | DASH HOSE FITTING | MATING ADAPTER
6 04 15.16 9.9
- i T 08 BOR P e6T0SE | ALk e
2Y. 2NY. 7Y%
12 08 24.16 17.9 7
— A
20 12 29.16 23.9 }mzm
¥ 5
25 16 39.12 30.9 B‘LSU
32 20 46.15 37.9
40 24 55.02 46.9
50 32 64.21 55.9




F10

B hnEE#l

Information

£ &b i Jx

XINDU HYDRAULIC

3.7 FAOF B & EiHA=4=L Flange Coupling (ISO 6162-SAE J518)

Eh 5 b o WAk B FH ook v % 3k I
wp) | RELBNE| o | g | A | B % 515 b Ty b
Mpa HOSE FITTING | MATING ADAPTER
12 6.73 | 30.2 | 17.5 | 38.1
20 6.73 | 38.1 | 22.2 | 47.6
o 25 8 | 224 | 262 | 524 | HiFEL - f B S WL I AR T
*’TT{E - - . 87311. 87341. Connected With Port
4 32 8 | 50.8 | 30.2 | 58.7 | gragqu
£yl h
40 8 | 60.3 | 357 | 69.9
50 9.53 | 71.4 | 42.9 | 77.8
64 9.53 | 84.1 | 50.8 | 88.9
12 7.75 | 31.7 | 18.2 | 40.5
L 20 8.76 | 41.3 | 238 | 50.8 | smeprpmsk. ML 5 LA A
'%JU? 25 9.53 | 47.6 | 27.8 | 57.2 | 87611, 87641, Connected With Port —
7 32 10.20| 54 | 31.8 | 66,7 | 87691 87613% fesemol
40 12.57 | 63.5 | 36.6 | 79.4
50 12.57 | 79.4 | 44.4 | 96.8

4 BA#ELEXIEBI5, Japanese Connection
4.1 NHEIRE60° SEEZEIRIT (/M2 ) JIS Metric Thread 60° Cone Seal

WE AN [¥4g O B Sk R B 254 Fic FH 3 3 2 3k & 1) 2% 461 Pl b
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
6 M14X1.5
P M16X1.5 | ZHEBSUHER X BT PSR R B
Male:18611%% Female:2K9. BK%:
10 M18X1.5
12 M22X1.5
P BB SR R 51 R 9 3 -
16 M24X1.5 Female:28611. 28641, Male:1K. 1KH9-0OG. AK. E
20 M30X1.5 286914 AKKH-OG%%
25 M33X1.5
32 M36X1.5
40 M42X1.5




B hnEE#l

Information

£ &b i Jx

XINDU HYDRAULIC

4.2 TLEIRLV60" HEE

2448, ( JIS B8363 ) JIS GAS Thread 60 Cone Seal

BWE NN 24 R R 51 2 41 Fic Y 3o 0 Sk A% 9 2% ) SEEE
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
6 G1/4"X19
10 G3/8"X19
12 G1/2"X14 N R AT ok P AN R e i Sk
" Female:29611. 29641. Male:1S. 1SG9-OG. 18T, 5600 oo°
L G3/4"X14 | 29691% ASSG-0G%
25 G1"X11
32 G1.1/4"X11
40 G1.1/2"X11

4.3 FE55° SUEERGUEIIRIR

BSPT Thread Seal

WAE NN AR 5578 A Sk R 25 Pict P ao 9 2 3k 2R 1) 25 46 P&l K
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE

4 R1/8"X28

6 R1/4"X19

10 R3/8"X19 SR BT B 3k Fi FH Py M8 g0t i 42 3k \A

Male:13011-SP. Female:7T. 7T9-PK.

12 R1/2°X14 13012-SP% GT-PK 7% l W
20 R3/4"X14

25 R1"X11

32 R1.1/4"X11

40 R1.1/2"X11

50 R2"X11

5 HEESLEERIR British Connection
51260 HEZ s AESRZHIIN AR, 60" Cone Seal Or Bonded Seal

G K (32 WO 123k R 21 i FH 3o 3 2 3k & 91 26 1 P
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE

4 G1/8"X28 SRR B Sk B F60° 4k 1 2 4 1 0 B

6 G1/4"X19 Male:12611. 12612 (1X it Y% $% SkFor Female 60° Cone

10 G3/8"X19 i T60° HEM%E) . | Seal:2B. 2TB9-SP. 3B9. BB.

. 12611A% CB%:,

12 SHlERASE B FFF 4 4 B8 060 0 0 503

20 G3/4"X14 IR SUIAE Bk ¥ #2 3kFor Bonded Seal:5TB.

25 G1"X11 Female:22611. 22641. 7B. GB-PK%%:,

Yaren)
32 G1.1/amxqq | 22oot. 226124 R 1607k i 1) 41 48 43 U
42 3LFor Male 60° Cone Seal:
40 G1.1/2"X11 1B. 1BG. AB. ABBG-OG%:
50 G2"X11 JAL 4 52 Bonded Seal

F11



B hnEE#l

£ &b i Jx

F12

Information XINDU HYDRAULIC
. )
ESLT{EENHF Working Pressure
; o v~ | A ISR Z O o v | ANTHIANBEGOR | A HI SRS | 2 6 R S
iz auistmeon | 2 M E AEISMBLOR | o Il e ol
THREAD | I AIBAOT | sy | AT REOT | g gy T | B | R
vl R S BRI (ETY) (ETY)
Meén;_Male Metric O-Ring M%”;_Male Metric O-Ring Metric Male Metric Male
o 'ng Adjustable Stud s 'ng Adjustable Stud | Captive Seal | Captive Seal
-oeries End S-Series -Series End L-Series L-Series S-Series
M8X1 63 40 40 31.5 . -
M10X1 63 40 40 31.5 25 -
M12X1.5 63 40 40 31.5 25 63
M14X1.5 63 40 40 31.5 25 63
M16X1.5 63 40 31.5 25 25 63
M18X1.5 63 40 31.5 25 25 63
M20X1.5 - - - - - 63
M22X1.5 - - - - 16 40
M22X1.5 63 40 31.5 25 - -
M26X1.5 - - - - 16 -
M27X2 40 40 20 16 . 40
M30X2 40 40 20 16 - -
M33X2 - - - - 10 40
M33X2 40 31.5 20 16 - -
M42X2 25 25 20 16 . -
M42X2 - - - - 10 25
M48X2 25 20 20 16 10 25
M60X2 25 16 16 10 - -
JE JJ % iMpa




B hnEE#l 2oPiRE

Information XINDU HYDRAULIC

74° . - 60° - (60°
TREAD D nmsrmaaa | amsmeon | & msmeaeor THREAD HAR A BR800
M 2% BMetric Pl 2% £ Metric HE 55 B Metirc it 2
Male 74° Cone Male O-ring 60° Cone Seat JIS Metric Male
60° Cone
M10X1 35 - - M12X1.5 34.5
M10X1 85 - - M14X1.5 34.5
M12X1.25 - 63 - M16X1.5 34.5
M12X1.5 85 = - M18X1.5 34.5
M14X1.5 35 63 34.5 M20X1.5 34.5
M16X1.5 25 63 - M22X1.5 34.5
M18X1.5 25 63 34.5 M24X1.5 27.5
M22X1.5 20 63 34.5 M27X1.5 27.5
M24X1.5 20 - - M30X1.5 20.5
M27X1.5 20 40 = M33X1.5 20.5
M27X2 - - 27.5 M36X1.5 17
M30X2 20 o > M42X1.5 17
M30x1.5 - 40 . T Jy ¥ fiMpa
M33X2 16 = 20.5
M36X2 16 - -
M36X2 - 40 -
M39X2 12.5 - -
M39X2 - 25 -
M42X2 12.5 - 17
M42X2 - 25 -
M45X2 10 _ -
M45X2 ) 25 -
M52X2 _ 25 -
M60X2 ] 25 ]
M64X2 ] 25 ]
IR 2L IR 2L
THREAD YL AMES60° | H AT AR L] KB SMELGO BN Yo THREAD
Weim R | 60° HEMTWE | JERAWE | i AR B SR
BSP Male 60° JIS GAS Male BSP Male BSP Male O-Ring BSPT Male
Cone Seat 60° Cone O-Ring Adjustable Stud End
G1/8"X28 34.5 34.5 40 31.5 R1/8"X28 34.5
G1/4"X19 34.5 34.5 40 31.5 R1/4"X19 34.5
G3/8"X19 34.5 34.5 31.5 25 R3/8"X19 34.5
G1/2"X14 34.5 34.5 31.5 25 R1/2"X14 34.5
G3/4"X14 27.5 27.5 20 16 R3/4"X14 27.5
G1"X11 20.5 20.5 20 16 R1"X11 20.5
G1.1/4"X11 17 17 20 16 R1.1/4"X11 17
G1.1/2"X11 10.5 10.5 20 16 R1.1/2"X11 10.5
G2"X11 10.5 10.5 16 10 R2"X11 10.5

F13



B hnEE#l 2oPiRE

Information XINDU HYDRAULIC

el 16 e
THREAD
B4 \ s S 4 e
| i X I 2 4 A 4 N,
THREAD seishimer | oRNREON | s s | M EEOT Shi £
o [ i 5 ) ] O A 5 (5] o & Pl 2 ] U A NPT Male
HE 5 2 EARS Male O-Ring BRI | \etric Male
JIC 74° SAE Male . SAE Male . Z1/8"X27 34.5
c O-Ri Adjustable O-Rin O-Ring
one “~ing Stud End “~ING 1 Agjustable Stud Z1/4"X18 27.5
S-Series . L-Series .
S-Series End L-Series 73/8"X18 21
Z1/2"X14 21
5/16"X24 34.5 - - 31.5 31.5
Z3/4"X14 17
3/8"X24 34.5 63 40 31.5 31.5
Z1"X11.5 14
7/16"X20 34.5 63 40 31.5 31.5
Z1.1/14"X11.5 8
1/2"X20 34.5 63 40 31.5 31.5
Z1.1/2"X11.5 7
9/16"X18 34.5 63 40 31.5 25
3/4"X16 31 63 40 31.5 25
7/8"X14 24 63 40 25 20
1.1/16"X12 24 40 40 25 20
1.3/16"X12 21 40 40 20 16
1.5/16"X12 21 40 31.5 20 16
1.5/8"X12 17 25 25 16 12.5
1.7/8"X12 14 25 20 16 12.5
2.1/2"X12 10.5 - - 12.5 10
'IIIII//I/=
. 1ISO 6162
[ V2
152 s
THREAD 1ISO 6162 P o A e
S HIORFSAH i2 Flange Size | (LML | GUBESEE | GO0 PSEE | HESRE
SO B % & i 2 5 41 B 5 51 B 7 R 5 i 7 5 51
ORFS Male Mid-Strength High-Strength Mid-Strength High-Strength
; Bolt L-Series Bolt L-Series Bolt S-Series Bolt S-Series
O-Ring
9/16"X18 63 1/2” 35 35 35 40
11/16"X16 63 3/4” 35 35 35 40
13/16"X16 63 1”7 25 31.5 35 40
1"X14 40 1.1/4” 20 25 35 40
1.3/16"X12 40 1.1/2” 20 20 35 40
1.7/16"X12 40 2” 16 16 35 40
1.11/16"X12 25
2"X12 25

JE 1 HfiiMpa



B hnEE#l 2oPiRE

Information XINDU HYDRAULIC

MOBARRT Port

1 1SO 9974-1 A HIMESGH O R ABEMAF iR 1SO 9974-1 metric thread port and mating stud end

JTU gL g Ll

A TN ISO 9974-3 B AT 1SO 9974-2 E #Alkis O JBRl#k 0 WHEHE:
Type A ISO 9974-3 Type B 1SO 9974-2 Type E O-Ring Seal O-Ring Seal
d4
d3
90" < a2

L3
L2

J 7
Ol

d2
@ |-
FH TR Fovr 22 4 5 i # AR i

This dimension only applies when tap
drill cannot pass throughentire boss

ISO 9974-1 i Il Port

SHORT Port Dimensions mm

4 d3
THREAD Z/’%f‘g’ef. R ~Fnom N Ztol r::rt mLa1x. lei rrl;li W
d1 : :
M8X1 3 8 0,+0.2 13 1 8 10 0.1
M10X1 4.5 10 0,+0.2 1® 1 8 10 0.1
M12X1.5 12 0,+0.2 18 1.5 12 15 0.1
M14X1.5 14 0,+0.2 20 1.5 12 15 0.1
M16X1.5 9 16 0,+0.2 23 1.5 12 15 0.1
M18X1.5 11 18 0,+0.2 25 2 12 15 0.1
M20X1.5 10 20 0,+0.2 27 2 14 17 0.1
M22X1.5 14 22 0,+0.2 28 2.5 14 17 0.1
M26X1.5 18 26 0,+0.2 33 2.5 16 19 0.2
M27X2 16 27 0,+0.2 33 2.5 16 20 0.2
M33X2 23 33 0,+0.3 41 2.5 18 22 0.2
M42X2 30 42 0,+0.3 51 2.5 20 24 0.2
M48X2 36 48 0,+0.3 56 2.5 22 36 0.2

F15



HihnEE £ 2 1% JE

Information XINDU HYDRAULIC

2 1SO 6149-1 N EIBLHO K AEEAEE 1SO 6149-1 metric thread port and mating stud end

£l

—

ISO 6149-2 . 1SO 6149-3 i stud end

ot

a2 i i

d4(Jl Fgauging) RO2 For identific(:j%tion of port
RO.1 R0.2max
R0.4max d5 ~
> 5 / / ko1 73 %/
- al L AN A 2
‘; 3.2 -
z &
*
d3 é
&— L dar 957 ) 0.1]A
ax. o ot
TR AV L4 F i BRI
This dimension only applies when tap
drill cannot pass through entire boss
ISO6149-1 i1 Port
JHORY Port Dimensions mm
TH% éI?AD - %ggé d4 +%§1 +%E.;5 +%)1.4 L.2 L3 L.4 z . O Bl
41 min.” | min.2’ ref. 0 0 0 min. max. | min. *1 O-RING
M8X1 17 14 3 12.5 9.1 14 1.6 11.5 1 10 12 6.1X1.6
M10X1 20 16 4.5 14.5 1.1 16 1.6 11.5 1 10 12 8.1X1.6
M12X1.5 23 19 6 17.5 13.8 19 2.4 14 1.5 11.5 15 9.3X2.2
M14X1.5 25 21 7.5 19.5 15.8 21 2.4 14 1.5 11.5 15 11.3X2.2
M16X1.5 28 24 9 22.5 17.8 24 2.4 15.5 1.5 13 15 13.3X2.2
M18X1.5 30 26 11 24.5 19.8 26 2.4 17 2 14.5 15 15.3X2.2
M20X1.5 32 27 - 25.5 21.8 27 2.4 - 2 14.5 15 17.3X2.2
M22X1.5 34 29 14 27.5 23.8 29 2.4 18 2 15.5 15 19.3X2.2
M27X2 40 34 18 32.5 29.4 34 3.1 22 2 19 15 23.6X2.9
M33X2 49 43 23 41.5 35.4 43 3.1 22 2.5 19 15 29.6X2.9
M42X2 60 52 30 50.5 44 .4 52 3.1 22.5 25 19.5 15 38.6X2.9
M48X2 66 57 36 55.5 50.4 57 3.1 25 2.5 22 15 44.6X2.9
M60X2 76 67 44 65.5 62.4 67 3.1 27.5 2.5 24.5 15 56.6X2.9




B hnEE#l 2oPiRE

Information XINDU HYDRAULIC

3 DIN 3852z et asmO R BRI DIN 3852 BSP thread portand mating stud end

Do W T f =

DIN 3852 AZUAt%i;  DIN 3852 Bk DIN 3852 EZY ki O JE % & O % E
DIN 3852 Type A DIN 3852 Type B DIN 3852 Type E O-Ring Seal O-Ring Seal
d4
d3
90° — 39
- 3
|
© % % N
@~
DIN 3852 jHi I1 Port
SHO0RS Port Dimensions mm
2 4 .
THREAD d3 B. ;;M;ﬁ;"‘ ere max. i, . w
d1 Type B,E Others
G1/8"X28 9.8 0,+0.2 15 19 1 8 13 0.1
G1/4"X19 13.2 0,+0.2 19 25 1.5 12 18.5 0.1
G3/8"X19 16.7 0,+0.2 23 28 2 12 18.5 0.1
G1/2"X14 21 0,+0.2 27 34 2.5 14 22 0.1
G3/4"X14 26.5 0,+0.2 33 42 2.5 16 24 0.2
G1"X11 88,8 0,+0.3 40 47 2.5 18 27 0.2
G1.1/4"X11 42 0,+0.3 50 58 2.5 20 29 0.2
G1.1/2"X11 47.9 0,+0.3 56 65 2.5 22 31 0.2
G2"X11 59.7 0,+0.3 69 76 3 24 33 0.2

4 Bs5380 BB M R iBE Tl Bs5380 BSP thread port and mating stud end

P

rrt

BS 5380 ##ium BS5380 stud end

F17



B hnEE#l 2oPiRE

Information XINDU HYDRAULIC

d2 A

A —|J_ 012 | A d5

R0.4 max

I / RO12 32/
\
32 -

N
Ne
e s fToa|A
BS5380 il Port
sHEORST Port Dimensions mm

R d5 L1 T
(! EfAD n?l% mdasx. +O(')1 2 +%'4 mLa3x. r'r|1_|‘r11 Oc-)gi G
G1/8"X28 15 14 11.24 1.3 0.6 10.5 8.1X1.6
G1/4"X19 19 18 14.16 1.2 0.6 11.0 10.1X1.6
G3/8"X19 23 22 18.86 1.9 0.6 12.5 13.6X2.4
G1/2"X14 27 26 22.40 1.9 0.8 15.0 17.6X2.4
G5/8"X14 31 30 26.00 2.4 0.8 16.3 19.5X3.0
G3/4"X14 33 32 28.92 2.4 1.1 16.3 22.5X3.0

G1"X11 40 39 35.50 2.4 1.1 19.1 29.5X3.0
G1.1/4"X11 50 49 43.56 2.4 1.1 21.4 36.5X3.0
G1.1/2"X11 56 55 49.42 2.4 1.1 22.5 45.5X3.0

@21 69 68 61.42 2.4 1.1 25.7 54.5X3.0

5 JIS B 2351 ERE8CHO R BE M JIS B 2351 BSP thead port and mating stud end

ra

I
I
]
%
|
i
e

JIS B 2351 #:im JIS B 2351 stud end

(T



I & 2% E

Information XINDU HYDRAULIC

d2 A

$
//
o ¢ ?54(
JISB 2351 i Port
sHEOR S Port Dimensions mm
T R O B I T NN X
d1
G1/8"X28 18 11.6 2 15 1 10 7.8X1.9
G1/4"X19 24 15.6 2.5 18 1.5 12 10.8X2.4
G3/8"X19 28 18.6 2.5 18 2 12 13.8X2.4
G1/2"X14 34 22.6 2.5 24 2.5 16 17.8X2.4
G3/4"X14 45 29.8 3.5 25 2.5 17 22.1X3.5
G1"X11 51 35.8 3.5 30 2.5 21 28.7X3.5
G1.1/4"X11 62 44.8 3.5 30 2.5 21.4 37.7X3.5
G1.1/2"X11 68 50.8 3.5 30 2.5 21.4 43.7X3.5

6 1SO 11926-1ZEH255HO R AR 1SO 11926-1 SAE thread port and mating stud end

e

Tt

Vv

—

ISO 11926-2 . 1SO 11926-3 &R LA
ISO 11926-2 . ISO 11926-3 SAE thread stud end

d2
dd (il gauging) A
A L ‘\
/ A i 7 R0.4max d5
/ ] [Py R0.2
N < ; / ROA %/
S ] A, -
i 32 -
1 -
z &
et
o
d3 / v
B— d1 0.1]A
FAFAS S vp 2240k o7 10 e i

This dimension only applies when tap
drill cannot pass through entire boss

ISO 11926-1 S=HIHRSGHO 1SO 11926-1 SAE thread port

F19



F20

Bt hn =4 = 3 FE

Information XINDU HYDRAULIC

SR Port Dimensions mm

[EP d3 L1 L4 . -
THF;EAD n?.i ifé d4 J_rdo5.5 +%'4 nl;li mLa3x. min. +1° o(?g/erG
5/16"X24 17 2.5 1 9.15 1.9 12 1.6 10 12 6.07X1.63
3/8"X24 19 35 13 10.75 2.4 12 1.6 10 12 7.65X1.63
7/16"X20 21 4.5 15 12.45 2.4 14 1.6 1.5 12 8.92X1.83

1/2"X20 23 6 16 14.05 2.5 14 1.6 1.5 12 10.52X1.83
9/16"X18 25 75 18 15.70 2.5 15.5 2.4 12.7 15 11.89X1.98
3/4"X16 30 10 22 20.65 2.5 17.5 2.4 14.3 15 16.36X2.21
7/8"X14 34 12.5 26 24 33 20 2.4 16.7 15 19.18X2.46
1.1/16"X12| 41 16 32 29.2 3.3 23 2.4 19 15 23.47X2.95
1.3/16"'X12| 45 18 35 32.4 33 23 2.4 19 15 26.62X2.95
1.516"X12| 49 21 38 35.55 e 23 3.2 19 15 29.74X2.95
1.5/8"x12 | 58 27 48 43.55 3.3 23 3.2 19 15 37.46X3.00
1.7/8"x12 | 65 33 54 49.9 3.3 23 3.2 19 15 43.69X3.00
2.1/2'x12 | 88 45 70 65.75 3.3 23 3.2 19 15 59.36X3.00

7 $EEIRSSHO Taper Thread Port

HE & 12 20y O Taper Thread Port

SHORT Port Dimensions mm

24 THREAD E b1 min. b2 min.

R1/8"X28 9.5 7.5

R1/4"X19 13.5 11

R3/8"X19 14 1.5

N R1/2"X14 17.5 15
B?;%E{f:jd R3/4"X14 19 16.5
R1"X11 225 19.5

R1.1/4"X11 24.8 215

R1.1/2"X11 24.8 21.5

R2"X11 29.5 26

Z1/8"X27 10 7.8

Z1/4"X18 14 11.8

Z3/8"X18 14 11.8

A 4k % 08 4 Z1/2"X14 18 15.5
NPT Thread Z3/4"X14 18.5 16
Z1"X11.5 225 19.5

Z1.1/4"X11.5 24 20.5

Z1.1/2"X11.5 24 20.5

Z2"X11.5 25 215




B hnEE#l

Information

£ &b i Jx

XINDU HYDRAULIC

8 1S06162;A=/H ISO 6162 Flange Port

115

110¢
lod

b il 1 2 1 HL R . Ra3.2. Port Roughness Ra3.2
d Ak LA 5 B . Recommended Flange Washer Width

a A #HIEgoml D kRid . Metric Thread Port Mark.
c vk A A /NS5 % . Flange Washer Min Widh.

1ISO 6162-2 VL=l 1
ISO 6162-2 Flange Port

1ISO 6162-1 .
1ISO6162-1 .

ISO 6162-1 7224l 1 )~ 1SO 6162-1 Flange Port Dimensions (3.5MPa-35MPa)

%é:ﬁf g |12 e 'lz f 'i? 110 'r |1£2 M5 | 116 | 17 | 1 | 12
Size min. | max. | min. | g5 | 925 | 08 | ™M™ | 925 | 025 | MiN. | mMin. | min. +0.4| £0.8
-08 1/2” M8 14 549 | 53.1 | 38.1 | 19.05| 46 33 17.5 | 8.75 56 52 49 8 23
-12 3/4” M10 18 65.8 | 64.3 | 47.6 | 23.8 52 41 22.3 |11.15 68 61 55) 9 26
-16 17 M10 18 70.6 | 69.1 | 52.4 | 26.2 59 48 26.2 | 13.1 72 67 61 9 29
-20 (1.1/4” | M10 22 80.3 | 78.5 | 58.7 | 29.35| 73 54 30.2 | 15.1 82 78 75 10 37
-24 |1.1/27 | M12 22 945 | 93.0 | 69.9 | 34.95| 83 64 35.7 |17.85 96 90 85 12 41
-32 27 M12 22 |103.1 |100.1| 77.8 | 38.9 97 76 42.9 121.45 | 104 | 102 99 12 49
1ISO 6162-2 74224l 11 )~ 1SO 6162-1 Flange Port Dimensions (35MPa-40Mpa)
“ﬁ;f’gf 4 | 12 e Z f f 110 'r 'f M5 | 116 | 17 | 1 | 2
Size min. | max. | min. 025 | 025 08 min. 025 | 0.25 min. | min. min. | £0.4 | £0.8
08 | 1/27 | M8 | 16 | 57.2 | 55.6 | 40.5 | 20.25| 48 | 38 | 18.2 | 9.1 59 | 56 53 8 24
-12 3/4” M10 18 72.1 70.6 | 50.8 | 25.4 60 48 23.8 | 11.9 75 70 66 10 30
-16 17 M12 23 81.8 | 80.3 | 57.2 | 28.6 70 54 27.8 | 13.9 84 80 75 12 35
-20 |1.1/47 | M12 20 96.0 | 94.5 | 66.6 | 33.3 78 60 31.8 | 15.9 99 9 83 14 39
-24 |1.1/27 | M16 27 114.3 | 111.3 | 79.3 | 39.65| 95 70 36.5 |18.25 116 | 108 101 17 48
-32 2”7 M20 35 [134.9 |131.8| 96.8 | 48.4 | 114 86 445 |22.25 | 137 | 128 120 18 57




F22

HihnEE £ 2 1% JE

Information XINDU HYDRAULIC

BESLPIAR R SERECER  Fittings And Fittings Assembly Instructions

ORBFEmEHBEL O-ringface sealfittings

OB EmZ iEL#iA O-ring face seal fittings instructions

O OBBHNERLHWIUEMM, F—MN. BELE. OB, B8, BEAR, RESRAREBPNNEREEE, 16
ETR. BR N BELEK. OB . 128, WEAEM, EFWEINM0 , B R, FRABIMRNERSMN, JRIER
EHRE.

The fitting has two types.The first type consists of a body.an O-ring.a nut and the weld tube. The weld tube
isbrazed with the system steel tube.see Fig.1 The second type consists of a body.an O-ring.a nut and a sleeve.As
shown in Fig.2 the tube is flanged to 90° .When used as Fig.1 thequality of weld is very important.

O
O O-RING

~ 0K ,Fkﬁﬁ . SR /e

]

o
; |
\ B g ik

LK gy WELDTUBE  STEELTUBE Bekik gy STEELTUBE
BODY NUT BODY NUT
i 1 Fig.1 Kl 2 Fig.2

O OBYBBHERSNERTEERS, NEREEAINNOKE, HEELFNBHIER, EANNMILERE. BFER
OHBEH, RILFEANERESEEZOMBHMRNEN.

O-ring face seal fittings are suit for high pressure system.If the hardness of O-ring is N90. the sealing will
better.and be good for preveting leakage.

O OBYBEHBELNEZBLERY: AHIRK ( WMD1-D18 ) EHIORFSIRL ( IB51-B75 ) ,
The O-ring face seal fitting has two connected thread:metric thread(see D1-D18 ) and ORFS thread(see B51-B75 )

O OBBHENEMB=, NES. 4. 5, HPEEWERFOMBERENIEEFENRIET, HEZRE; AENOKEB
ASWERNBE, BISHNAASEEHNI— LR, BSSHRRNAEEEHNA—NR, MEAENSHERABIE.

As shown in Fig.3.Fig.4and Fig.5 the O-ring seal groove has three types.The advantage of type Fig.3 itis very
convenience for installation.when put the groove adown O-ring could be held in the groove and not drop;the O-ring
could not enter the hydraulic system when the pressure is negative.the type Fig.4 has only the later adavantage of
the type Fig.3,the type Fig.5 has no above adavantage.

[ 3 Fig.3 [l 4 Fig.4 K 5 Fig.5

O N AHIRLHON BEWHFRIBIEL ™M, NENEH., ZNTBWERBLH, APRIAETRNAXFIRE, WRR
5, —RIEBEHIBITE, WEHRORFSEMNOMBE, ANTEIMRABILHES, NETBIZHBEEH.



I & 2% E

Information XINDU HYDRAULIC

For metric thread O-ring groove JB standard is type Fig.5,but we suggest that the Fig.3 should be chosen and
make a anntation when order. If no annotation we produce as type Fig.5 general.for ORFS O-ring groove.we
produce as type Fig.3 only.

OBl EmZT HiEL#EiA O-ring face seal fittings instructions

0§§§ Assembly

CNBNERSH, EREMNEEERETRE (17 DA) , XEANILER, FXORSKY, ELBEEHEE, B
28’]%1%*’] CEEERTORERREREIRMALMO , BRTONEDIFID2Z[E, RLES6,
As shown in Fig.1,the tube end is cut squarely(W|th|n+/-1° )before assemblied deburrthe O.D. and I.D.of the tube
remove all oil and oxide, weld after put the nut.As shown in Fig.2, the tube is flanged to 90° with special equipment

after cut,diameter D should fall between diameter D1 and D2.see Fig.6. .
\IZ, .

D

|/
D1
D2

|5 6

2. WNRFBLRRMEOKB, NN LEMBOE

The fitting body should be installde O—rlng firstly.

3. @B, BEEIANERNLERELFAONE, BFITRRES, BREERFRABENRIRE; WETHBIRF, TREE
RFEBIFRI/431/28.

As shown in Fig.1 or Fig.2. place tube assembly against the fitting body so that the flat of the weld tube(or flanged
steel tube)comes in full contact with the O-ring. Tighten the nut onto the fitting body by hand,then tighten it to the
recommended torque with a torque wrench,if torque wrench are nor available,tighten 1/4to 1/2turn with general
wrench.

@ E 5§ % 4% Reassembly

BHTFRFYEEHEEAESRENEE, ERETEPOMBURSIEN, ALBERESLEN, WRBEOKBETHRF, NENFE
REHR.

Because the sealing surfaces are flat and perpendicular to the installtion force,the O-ring may be distorted during assembly.The
O-ring should be in spected at each disassembly and replaced when necessary.

it i R & Leakage reason

1.OMBREMNLMAOHBEA.

The O-ring is installed in the face seal groove improperly.

2.OBHEIRDIIRIF,

The O-ring is damaged.

3.EAEBHE. BEIBLEUNRNIEMEZNBHORE,

The sealing surface,the weld tube or the flange are not flat,or have another fault affecting sealing.

4. BRI ARF I/, FEEFOEB.

The flange is too large or too small that the O-ring can't be compressed.

5.OBMRAEHTILIFRE.

The O-ring material is not suit for working temperature.

6.OBEEARTE.

The O-ring hardness is not enough.

7 EEBRSNT

The connectde nutis loosen.

F23



I & 2% E

Information XINDU HYDRAULIC

R E#L Bite Type Tube Fittings

+ E = EiA Bite Type Tube Fittings Instructions
FEEBELB=NAM: BXAE. FE. B8, SFENBSEEWNELBARLARG, REES, FEfKRIH
ME5FLEBWES, ADBPIYMRATENE, LAEIBH. LE7

eSS TEAEME

. BODY \ CUTTING RING i STEEL TUBE
I N

TR T L

Cutting ring bite the tube

DIN 3861

K7 Fig.7

24° HHIWRIIRIZDIN386 1T &, FERANDFE.

BREBRELAANBEGREEHFLIE. BLEANIIFENSESUIL63Mpa, TENEIMEZRRNN42mm,

Bite type fitting consists of three parts:body,cutting ring and nut. when tightening nut.cutting ring is driven forward
on the tube then bites the tube with the edge of cutting ring.this is how sealing is achieves and results in internal
ridge inside the tube.see Fig.7.

The tube connection side of fitting is manufactured in accordance with standard:DIN 3861.

In general.body and nuts'surface is plated zinc.bite type fitting can be used in system with Max 63Mpa.the

connection tube O.D.is Max 42mm.

+EE LR ZE A Bite Type Tube Fittings Assembly Instructions
@ ¥ Assembly

1TRTEEKENTENE, ZRIKOER., ETHERSWAER, ABRAEAKRT0.5 . WREFTHFRF
T, UNEFTHBEESHPUNELRKERAEDT=(UBEKE.

Cut the tube at right angle and de-burr inside and outside of tube end. Minimum straight length of tube from the
starting point of tube bend to the tube end may be 3 times height of the nut.

2.IERBNFEEATENE L, TRBI/NFENDO, FAEERT,

Set a nut and cutting ring on the tube. Make sure the cutting ring and the nut are facing the fitting.

S HEMKRRELERBLMNFELRLEEBD, BEFBAELE, (EF-—ERBIRE) AFRRES,
Lubricate the pre-assembly fitting body threads and cutting ring. Insert tube end into fitting body until itis firmly
seated on bottom (fitting shoulder) and hand-tighten the nut.

4T RBBEIFEFEES, ITERAIRXTUBLITENRELBENXRLER (ENDK) .

Tihten nut until ferrule grips tube which is felt by a noticeable increase in torque (in crease in force).

F24



I & 2% E

Information XINDU HYDRAULIC

SEEENRE, BRERBEITFR28.

Tighten nut 1/2 of a turn after increase in force.

6. MR ELIARIIRT, HEFEDLNRABR, IRHNRETNFTEBFERBNTE. FETLUHERE, B
NEEH D HERS .

Disassembly the pre-assembly fitting body. Check penetration of cutting edge.A visible ring of material should fill
the space in front of the profile ring end face. Profile ring may turn on tube,but should not be capable of axial
displacement.

TRARE, BEXMZEPHELEBLFLEERD. EREGEZREEGHFEURRINITEBNNILE. BEB
I R12BLRETE,

Lubricate the fitting body to be subsequently installed.Tighten nut until a noticeable increase in force is

required.Tighten nut by 1/20f a turn beyond this point for final assembly.

@ =5 %% Reassembly

FIENFEZLEUUIRER, BRRIUIESHTRIFABS.

Fitting can be used many times. To ensure this parts must be clean and free of defects.
TIEFTBABLEEFEWRELMEAA#ET, BFITRES.

Insert the tube into fitting body until cutting ring seats firmly in the fitting and hard-tighten the nut.

2. BIRFITRES, EEITENEIRBE KR, BIiTrK1 /481 /28619,

Tighten the nut with a wrench by holding the fitting body with a backup wrench until a sharp rise in torque is felt.
Further tighten the nut 1/4 to 1/2 turn.

@71 Z&E Checkeing up the bite condition

UIFRTETHERLRESETFER: FERBNEFT LN ZBINEMOE. REAERNGEY, BRAITEREN
®a.

All bit type fitting must be disassembled prior to serivce to check up if small ridge inside the tube is completely
formed around front edge of cutting ring. Other wise tighten slightly more to have it . Cutting ring may rotate on the

tube that doesn’ t mean wrong installation. The cutting ring shall be refitted once the nut is retightened.

@it i /5 [F Leakage reason

1. 8% 2EK. Whenthe tubeis not fully bottomed.

2 1268885 %. When the nutis nottightened enough.

3. BFIKRIPIEFTAERE. When the tube is of scratched or oval.
4 EX K& . When the tube is extremely hard.

F25



F26

I & 2% E

Information XINDU HYDRAULIC

¥-OxX$EL Flared Tube Fittings

¥ O3 L#E iR Flared tube fittings instructions

FORBEARABNEMHEN, B=BMAM: BLE. WE. B8, RERKOT KARI7T . EHNTNEKST
FORREAEELANHEL, PRZEBH. EAWEEREABRVEBRINET KRS, FEITRESH, W
ERAZRBRD,

As shown is Fig.8,the fitting consists of three pieces:the body,sleeve and nut,the tube end is flared ata 37° angle
and held between the fitting nose and the sleeve with the nut,providing a metal to metal seal between the fitting
nose and the tube flare.the advantage of sleeve is reducing vibration and fatigue of tube,the steel tube will not turn

when tighten the nut.
HLAE FITTING 84 NUT 445 SLEEVE

/ 4% TUBE
AN ’

37°

Kl 8 Fig.8

FORNEZLNEZBRYIBERY: AHIRY ( WB1-B50 ) , EHJICIRL ( WD19-D32 )

The flared tube fitting has two connected thread:metric thread (see B1-B50 )and JIC thread(see D19-D32).
FOXEBLRENDE, FTRRE, T ZRATPHREEESESR. BTERZENZENERH, ALEREEEE
X,

Itis easy to assemble without weld, it is especially suited for low and medium pressure systems.As metal to metal

seal.it allows wide operting temperature range.

¥ O3Sk L2 Flared tube fittings assembly instructions

@ L3 Assembly

1 HAEZRERMNMSTSEEBTRE (£1° DA) , RIEANRER, BREY, FEHNELWE. BES8EETMIRSE
£y 0. BRYDN#ED1FID2Z[E, LE9.

Cut tube reasonably square(within+/-1° ),deburr the [.D.and O.D.of the tube,remove the dirt.set a nut and sleeve

on the tube,the tube is flared with special equipment,diameter D should fall between diameter D1 and D2,see Fig.9.

TR g

D1
D2

¥ 9 Fig.9
Y OREEAF¥HULHVWREB TV OFREALSIEN., ZRFNUERNE. yOMEASELFHEMEAD
I,
Over half of the leakage with flared fittings is caused by impoper flaring or installation.When assembled ,the axis of

the tube.the tube flare and the fitting nose should be concentric.



I & 2% E

Information XINDU HYDRAULIC

SHEFTTOESELKEBNAMELS, AFTRES, BREERFROBERINKRIRE; WETHBRF, O
AEBRFBIFL1ELE, —RANBIE, NHHB28.

Screw the nut onto the fitting body by hand and tighten it to the recomminded torque with a torque wrench.if torque
wrenches are not available. tighten 1 to 2 turns with general wrench. in general. the small fitting is tighten about 1

turn and the large fitting is tighten about 2 turns.

@ =5 L% Reassembly
BN OXNFELEUTUDINERE, BERIESHIHRAABS. TRV OXTHE.

Fitting can be used many times.to ensure this,parts must be clean and free of defects.no tube cracked.

@ittiF 5 & Leakage reason

1. RENRNE, WE. FTOBMASELREBHEAATL, BEBEFTRIIML.
When assembled,the axis of the tube,the tube flare and the fitting nose are not concentric,force the tube to the

station.

2 ITRNBERFTN,

The tighten force is too large or too small.

3. EFY OAFAH.

The tube flare is cracked.

4 BIAARFETT OLNBHEBLEENBHOAR. URSE,
The fitting body or the tube flare is collapsed.

5. EZBIMNTT,

The connectde nutis loosen.

6. TANHEIZRESFERERNLEEBHBRA, RRBHEN.

The sealing surface is damaged for longer torque or reassembly time after time.
TEFY ORKRIKRN, FESELARRBINUESEH.

The tube flare is too large or too small,so the seal between the fitting nose and the tube flare is not effective.

F27



F28

I & 2% E

Information XINDU HYDRAULIC

Y B ariEsL Taper Thread Fittings

T L= LA Taper Thread Fittings Intructions

QT IRLUESLBVER BB =5 =H NPT Bl 60 ° BEH#ESIRL (GB/T 12716 . ANSI/ASME B1.20.1); |
NPTF FZHH# SR (ANSIB1.20.4); =zl BSPT B 55 ° BT IRLK (GB/T7306 )

The connected thread has three types:NPT,NPTF and BSPT.

@ NPT | BSPT BLUEEN, NWARBAEEK, NPTF LAZENZERNBE, BERNEEERABEN. B
*T»H_JLJE M, WEHE. BER. RERK. HRBERS.

NPT . BSPT threads should be assembled with sealant.NPTF is metal to metal seal,but use sealant also.Sealants
are available in various forms such as teflon tape,paste and anaerobic glue etc.

OB TREMNEBTBHHTE. MEF, WRLEALY, IXBHREM TR, EEEEBDIE.

Teflon tape,paste etc.,if applied improperly,they will pollute the oil of the hydraulic system,even jam the system.

O\ ABIBENLEAMBNBHURRE, —K& 3/4 7 UTBHIEHUE,

The seal of the small thread is better than large.In general the seal of less than 3/4 ” are good.
OEEELAHMBNL, EESHRRER, BRATZBIA/TSETRIUELN, WRREFNG, BLEIWER ISO
6149 _ 1SO11926 Eoif@#EsLt,

The connect will compact when the taper thread for straight fitting,if for eblow or tee or cross fittings,the assemble angle
is difficult to contron,so suggest that the adjustable stud end fittings should be used,for example ISO6149,I1SO 11926etc.

SEEBLIES LI Taper Thread Fittings Intructions

@ %3 Assembly
1 REHOREREY, RIILTHEY. ERREMEY.
Inspect port and connection to ensure that threads on both are free of dirt,burrs and excessive nicks.
2 MR ENBEK., BES 1. 2 FRYEAREBZBEHE, URSEAFDR. NERFENAZMEHAE
( NEBIRE ) EINELLEEL 1.5 BF 2 B,
Apply sealant to male pipe threads. With any sealant,the first and second threads should be uncovered to avoid system
contamination.If Teflon tape is used it should be wrapped 1.1/2 to 2 turns in clockwise direction when viewed from the
pipe thread end.
SHAFIE, BRARFRE 1.58%F 38, —RINMBIRE 2.5 BXEG, ANMBIRE 2 BL6.
Firs tighten the fitting with hand,then tighten with a wrench 1.1/2 to 3 turns ..In general, the small fitting is tighten about
2.5 turn and the large fitting is tighten about 2 turns.

@ =5 &3t Reassembly
HERLUELITUEERRE, EERRNNAETBRHNETEHRE, FERNRELBERT2OEFNBHHZE,

The taper thread fitting can be reassembled.When reassembled,check if sealant has worn thin.

@ittt /5= & Leakage reason

1 8RERBHEPGBHEBEIRFE. There is no sealant used or sealant has worn thin.

2 BB IR, Threads are galled.

3 BUHNSEAIE, ELBAEHNBORRBDERELE., Fitting screws in too far into the port.
4 BEFEEHROFRE. Threads are severely nicked.

5 AR SFUIELAAE), Threads are loosen.



B hnEE#l

Information

£ &b i Jx

XINDU HYDRAULIC

B HSER IR Recommended Thread Torque

=LY Metric Thead

HEIRLY BSP Thread

#2 THREAD jﬁﬁgﬁ;g%
M12X1.5 10.20
M14X1.5 e
M16X1.5 2540
M18X1.5 T
M20X1.5 35.50
M22X1.5 T
M24X1.5 20-70
M26X1.5 60100
M30X2.0 80-120
M36X2.0 100-150
M42X2.0 150.220
M45X2.0 180-250
M52X2.0 200-300

ZE4JIC 847 JIC Thead

#4. THREAD '\f%f%ﬂégm;

7/16"X20 15-16
1/2"X20 19-21
9/16"X18 24-28
3/4"X14 YRR
7/8"X14 77.85
1.1/16"X12 107-119
1.3/16"X12 127-140
1.5/16"X12 147-154
1.5/8"X12 172-181
1.7/8"X12 215-226
2.1/2"X12 332-350

4 THREAD ﬁ?ﬁ)ﬁg%
G1/8"X28 11-12
G1/4"X19 25-28
G3/8"X19 41-48
G1/2"X14 72-82
G5/8"X14 96-110
G3/4"X14 124-137

G1"X11 151-165
G1.1/4"X11 192-206
G1.1/2"X11 261-275

G2"X11 343-357

ZEHIORFSIRL ORFS Thread

:
9/16"X18 14-16
11/16"X16 24-27
13/16"X16 43-47

1"X14 60-68
1.3/16"X12 90-95
1.7/16"X12 125-135
1.11/16"X12 170-190

2"X12 200-225




B hnEE#l

£ &b i Jx

F30

Information XINDU HYDRAULIC
B{IE#3xT Conversion Factor
a0 i fr B 4 fr B R
DENOMINATION UNIT CONVERSION UNIT FACTOR
JLsTin =K mm 25.4
K5 2K mm BEsfin 0.03937
LENGTH Rt K m 0.3048
% m PR At 3.28084
i S5 EN) in® S 5 JE K em? 6.4516
AREA S5 J K cm? S5 it in? 0.1550
&N 4 gal T+ 1 4.54609
o I N4 gal 0.219969
VOLUME %4 gal T} 1 3.78541
Th1 %4 gal 0.264172
T 45 K3 1
o B Ib T % kg 0.453592
MASS T kg i Ib 2.204622
J1 5 % 1.9 ) Ibf.in 42k N.m 0.112985
TORQUE /2% N.m % 4. 9%} Ibf.in 8.85075
fo5 J3195 <1 psi E bar 0.06895
£ bar 5 Jy/35 1 psi 14.5038
S psi J6 1 Mpa 0.006895
PRESOLRE J6 i Mpa B 13T psi 145.038
JEiE Mpa  bar 10
t bar JK I Mpa 0.1
1 Pa E bar 10°
[ bar i Pa 10°
UL o RUFD ft/s KIFE mis 0.3048
VELOCITY KIS mis B U fils 3.28084
HL N /4y gal/min. FH43 1/min 4.54609
R FH53 1/min ¥ 4:/4r gal/min. 0.219969
FLOWRATE £ 1 &/% galimin F+145 lmin 3.78541
TE53 1/min %145y gal/min 0.264172
L piE R F BEE® C 5/9*(* [G il J& ° F-32)
TEMPERATURE BT C BRI F BEICHLIE ° C*9/5+32




B hnEE#l

£ &b i Jx

Information XINDU HYDRAULIC

) T T i e yT 72 i

PART NO. PAGE PART NO. PAGE PART NO. PAGE PART NO. PAGE
1B c10 1DG4-0G A7 1JG B5 2D9 A28
1B-WD c11 1DG9-0G A8 1JG4-0G B6 2DFL E3
1B-2WD Cc12 1DH A9 1JG9-0G B7 2E9 D11
1B4 C13 1DH4-0G A10 1JH B8 2F B63
1B9 Cc14 1DH9-0G A1 1JL B9 2F4 B64
1BF C15 1DI A12 1JM B10 2F9 B64
1BF9 Cc16 1DI-B A13 1JM-WD B11 2FJ B65
1BFL Ed 1DJ A14 1JN B12 2GC A30
1BFL9 E1 1DM A15 1JN4 B13 2GD A30
1BFS E2 1DM-WD A16 1JN9 B14 2J B23
1BFS9 E2 1DN A17 1JN9-L B15 2J4 B24
1BG C17 1DN9 A18 1JNO-LL B15 2J9 B24
1BG-0G c18 1DO A19 1JO B16 2JC A31
1BG4-0G C19 1D09-0G A20 1J04-0G B17 2JD A31
1BG9-0G Cc19 1DT-SP A21 1J09-0G B18 2JF B25
1BH Cc20 1DT9-SP A22 1JT-SP B19 2K D45
1BH4-0G c21 1DW A23 1JT4-SP B20 2K9 D45
1BH9-0G Cc22 1DW9 A24 1JT9-SP B21 2M D35
1B-HS Cc23 1D-Y A25 1K D39 2MC-WD A32
1BJ C24 1E D1 1K9 D39 2MD-WD A32
1BJ4 Cc25 1E9 D2 1KG D40 2NB C44
1BJ9 C25 1EG D3 1KH D41 2NF B66
1BK C26 1EH D4 1KN D42 2NJ B25
1BL c27 1EH4-0G D5 1KN9 D43 2NU B89
1BM c28 1EH9-0G D6 1KT-SP D43 2NU4 B90
1BM-WD C29 1EL D7 1KT4-SP D44 2NU9 B91
1BN C30 1EN D8 1KT9-SP D44 20F B67
1BN9 C31 1EO D9 1M D34 20U B92
1BO C32 1ET-SP D10 1N B76 2P9 B95
1BT-SP C33 1F B51 1N4 B77 2Q9 D27
1BT4-SP C34 1F4 B52 1N9 B78 2S C6
1BT9-SP C35 1F9 B52 10 B22 2S4 C7
1C A1 1FFL E7 10-0G B22 259 Cc7
1C9 A3 1FFL9 E7 1Q D19 2TB-SP C45
1CB A4 1FFS E8 1QB D20 2TJ-SP B26
1CB-WD A5 1FFS9 E8 1QG D21 2WC A33
1CFL9 E5 1FLW E9 1QH9-0G D22 2WD A33
1CG A6 1FLW-PM E10 1QL D23 2WE D11
1CG4-0G A7 1FLW-IN E11 1QN D24 3B C46
1CG9-0G A8 1FSW E9 1QT-SP D25 3B9 Cc47
1CH A9 1FSW-PM E10 1QT9-SP D26 3C A34
1CH4-0G A10 1FSW-IN E11 1S C1 3D A34
1CH9-0G A11 1FG B53 1SB C1 3F B68
1ClI A12 1FG4-0G B54 1SG C2 BN B26
1CI-B A13 1FG9-0G B55 1ST-SP C3 3U B93
1Gd A14 1FH B56 1ST4-SP C4 4B C47
1CM A15 1FN B57 1ST9-SP C5 4B-WD Cc48
1CM-WD A16 1FN4 B58 1T-SP C65 4BN C48
1CN A17 1FN9 B59 1T4-SP C66 4BN-WD C49
1CN9 A18 1FO B60 1T9-SP C67 4C A35
1CO A19 1F04-0G B61 1TP-SP B94 4D A35
1C09-0G A20 1F09-0G B62 2B C37 4E D12
1CT-SO A21 1G C36 2B-WD C43 4F B66
1CT9-SO A22 1H D33 2B4 C38 4FL E18
1CW A23 1J B1 2B9 C38 4FL-M E19
1CW9 A24 1J4 B2 2BA C39 4FS E18
1CY A25 1J9 B2 2BC-WD A26 4FS-M E19
1D A1 1JB-WD B3 2BD-WD A26 4H D36
1D9 A3 1JF B4 2BF C40 4HN D36
1DB A4 1JFL E12 2BJ C41 4J B27
1DB-WD A5 1JFL4 E13 2BJ-WD C42 4K D45
1DFS E4 1JFL9 E14 2@ A27 4L D37
1DFS9 E6 1JFS E15 2C9 A28 4M D37
1DFL9 E5 1JFS4 E16 2CFL E3 4MN D38
1DG A6 1JFS9 E17 2D A29 4MN-WD D38




B hnEE#l

£ &b i Jx

Information XINDU HYDRAULIC
) T T i e yT 72 i
PART NO. PAGE PART NO. PAGE PART NO. PAGE PART NO. PAGE
4N B79 8C A40 EJ B46
4NN B79 8F B70 FL E20
40 B28 8J B38 FL-W E21
40N B28 9A C73 ES] E20
4P B95 9B C60 FS-W E21
4Q D28 9C A40 GB-PK C63
4S C8 9D A40 GN-PK B87
4T-SP C68 9E D15 GT-PK C72
5B C50 9F B71 KJNJ B47
5B-WD C54 9J B38 KN B88
5B9 C51 9J-CAP B38 NB200 B48
5BN C51 9K D46 NB200-F B74
5BT C52 9N-CAP B86 NB300 B49
5BT9 C53 9P B97 NB300-F B74
5CB A36 9Q D31 NB500 B49
5CM A37 9S C9 NB500-F B75
5DB A36 AB C61 NL A50
5DM A37 AC Ad1 NS A50
5GB C55 ACCG-0G A42 RL A50
5 B29 ACCH-0G A43 RS A50
5J-S B29/B32 ACCO-0G Ad4 XB C64
5JN B30 ACGC-0G A45 XC A51
5JN4 B31 ACHC-0G A46 XD A51
5JN9 B21 ACOC-0G A47 XE D18
5JT B33 AD Ad1 XF B75
5JT9 B33 ADDG-0G A42 XJ B50
5N B80 ADDH-0OG A43 ZB Co64
5N4 B81 ADDO-0G Ad4 ZN B88
5N9 B82 ADGD-0G A45 ZT C73
5NB C56 ADHD-0OG A46
5NO B83 ADOD-0OG A47
50 B34 AE D15
50N B84 AEHE-OG D16
5T-SP C69 AF B71
5T9-SP Cc68 AFOF-0OG B72
5TB-SP €514 AJ B39
6B C58 AJ6JJ B40
6C A38 AJJG-0G B41
6C9 A39 AJJO-0G B42
6D A38 AJNJ B43
6D9 A39 AK D46
6E D13 AN B87
6E9 D14 AQ D32
6F B69 AT-SP C72
6F4 B69 BB C62
6F9 B70 BC A48
6J B35 BD A48
6J4 B36 BE D17
6J9 B37 BF B73
6P B96 BJ B44
6P9 B96 BK D47
6Q D29 BP B97
6Q9 D30 BS C9
6S C8 CB C62
7B C59 cC A49
7B9-PK C60 CD A49
7N B85 CE D17
7N4-PK B85 CF B73
7N9-PK N86 CJ B45
7NU-S B93 CK D47
7NU9-S B94 CP B97
7T C70 ECS C9
7T4-PK Cc71 DB C63
7T9-PK C71 DJ B46
8B C60 DK D46




	前言
	公司简介
	目录
	过渡接头代号说明
	过渡接头选型表1
	过渡接头选型表2

	DIN卡套式管接头
	1C/1D等径
	1C/1D变径
	1C9/1D9
	1CB/1DB
	1CB-WD/1DB-WD
	1CG/1DG
	1CG4/1DG4
	1CG9/1DG9
	1CH/1DH
	1CH4/1DH4
	1CH9/1DH9
	1CI/1DI
	1CI-B/1DI-B
	1CJ/1DJ
	1CM/1DM
	1CM-WD/1DM-WD
	1CN/1DN
	1CN9/1DN9
	1CO/1DO
	1CO9-OG/1DO9-OG
	1CT-SP/1DT-SP
	1CT9-SP/1DT9-SP
	1CW/1DW
	1CW9/1DW9
	1C-Y/1D-Y
	2BC-WD/2BD-WD
	2C
	2C9/2D9
	2D
	2GC/2GD
	2JC/2JD
	2MC-WD/2MD-WD
	2WC/2WD
	3C/3D
	4C/4D
	5CB/5DB
	5CM/5DM
	6C/6D
	6C9/6D9
	8C/9C/9D
	AC/AD
	ACCG-OG/ADDG-OG
	ACCH-OG/ADDH-OG
	ACCO-OG/ADDO-OG
	ACGC-OG/ADGD-OG
	ACHC-OG/ADHD-OG
	ACOC-OG/ADOD-OG
	BC/BD
	CC/CD
	NL/NS/RL/RS
	XC/XD

	美制过渡接头
	1J
	1J4/1J9
	1JB-WD
	1JF
	1JG
	1JG4-OG
	1JG9-OG
	1JH
	1JL
	1JM
	1JM-WD
	1JN
	1JN4
	1JN9
	1JN9-L/1JN9-LL
	1JO
	1JO4-OG
	1JO9-OG
	1JT-SP
	1JT4-SP
	1JT9-SP
	1O/1O-OG
	2J
	2J4/2J9
	2JF/2NJ
	2TJ-SP/3J
	4J
	4O/4ON
	5J/5J-S
	5JN
	5JN4/5JN9
	5J-S
	5JT/5JT9
	5O
	6J
	6J4
	6J9
	8J/9J/9J-CAP
	AJ
	AJ6JJ
	AJJG-OG
	AJJO-OG
	AJNJ
	BJ
	CJ
	DJ/EJ
	KJNJ
	NB200
	NB300/NB500
	XJ
	1F
	1F4/1F9
	1FG
	1FG4-OG
	1FG9-OG
	1FH
	1FN
	1FN4
	1FN9
	1FO
	1FO4-OG
	1FO9-OG
	2F
	2F4/2F9
	2FJ
	2NF
	2OF
	3F/4F
	6F/6F4
	6F9/8F
	9F/AF
	AFOF-OG
	BF/CF
	NB200-F/NB300-F
	NB500-F/XF
	1N
	1N4
	1N9
	4N/4NN
	5N
	5N4
	5N9
	5NO
	5ON
	7N/7N4-PK
	7N9-PK/9N-CAP
	AN/GN-PK
	KN/ZN
	2NU
	2NU4
	2NU9
	2OU
	3U/7NU-S
	7NU9-S/1TP-SP
	2P9/4P
	6P/6P9
	9P/BP/CP

	英制过渡接头
	1S
	1SG
	1ST-SP
	1ST4-SP
	1ST9-SP
	2S
	2S4/2S9
	4S/6S
	9S/BS/CS
	1B
	1B-WD
	1B-2WD
	1B4
	1B9
	1BF
	1BF9
	1BG
	1BG-OG
	1BG4-OG/1BG9-OG
	1BH
	1BH4-OG
	1BH9-OG
	1B-HS
	1BJ
	1BJ4/1BJ9
	1BK
	1BL
	1BM
	1BM-WD
	1BN
	1BN9
	1BO
	1BT-SP
	1BT4-SP
	1BT9-SP
	1G
	2B
	2B4/2B9
	2BA
	2BF
	2BJ
	2BJ-WD
	2B-WD
	2NB
	2TB-SP
	3B
	3B9/4B
	4B-WD/4BN
	4BN-WD
	5B
	5B9/5BN
	5BT
	5BT9
	5B-WD
	5GB
	5NB
	5TB
	6B
	7B
	7B9-PK/8B/9B
	AB
	BB/CB
	DB/GB-PK
	XB/ZB
	1T-SP
	1T4-SP
	1T9-SP
	4T-SP/5T9-SP
	5T-SP
	7T
	7T4/7T9
	AT-SP/GT-SP
	ZT/9A

	公制过渡接头
	1E
	1E9
	1EG
	1EH
	1EH4-OG
	1EH9-OG
	1EL
	1EN
	1EO
	1ET-SP
	2E9/2WE
	4E
	6E
	6E9
	9E/AE
	AEHE-OG
	BE/CE
	XE
	1Q
	1QB
	1QG
	1QH9-OG
	1QL
	1QN
	1QT-SP
	1QT9-SP
	2Q9
	4Q
	6Q
	6Q9
	9Q
	AQ
	1H
	1M
	2M
	4H/4HN
	4L
	4MN/4MN-WD
	1K/1K9
	1KG
	1KH
	1KN
	1KN9/1KT-SP
	1KT4-SP/1KT9-SP
	2K/2K9/4K
	9K/AK/DK
	BK/CK

	法兰接头
	1BFL/1BFL9
	1BFS/1BFS9
	1CFL/1DFL
	1DFS
	1CFL9/1DFL9
	1DFS9
	1FFL/1FFL9
	1FFS/1FFS9
	1FLW/1FSW
	1FLW-PM/1FSW-PM
	1FLW-IN/1FSW-IN
	1JFL
	1JFL4
	1JFL9
	1JFS
	1JFS4
	1JFS9
	4FL/4FS
	4FL-M/4FS-M
	FL/FS
	FL-W/FS-W

	附加资料
	密封件1
	密封件2
	密封件3
	接头连接形式1
	接头连接形式2
	接头连接形式3
	接头连接形式4
	接头连接形式5
	接头连接形式6
	接头连接形式7
	接头连接形式8
	接头工作压力表1
	接头工作压力表2
	接头工作压力表3
	油口形势及尺寸 1
	油口形势及尺寸 2
	油口形势及尺寸 3
	油口形势及尺寸 4
	油口形势及尺寸 5
	油口形势及尺寸 6
	油口形势及尺寸 7
	接头概述及装配说明 1
	接头概述及装配说明 2
	接头概述及装配说明 4
	接头概述及装配说明 5
	接头概述及装配说明 6
	锥管螺纹接头
	螺纹扭矩建议表
	单位转换表
	页码表1
	页码表2


